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Q.No: 1 Word Agriculture is derived from which language?
2403806

ThiheR Weq fbg HToT § forar mar 82
Greek

picd

Japanise

CILiEic

Latin

AR

Chinese

CIEEI]

Correct Ans : C

Q.No: 2 Green revolution is especially related to
2403807

R w1 grea: Teifda @

Potato production

A
ST JTET
Wheat/Rice production
B
g/ = S 3
Arhar production
Cc
SRER I §
Sugarcane production
D

T I

Correct Ans : B

Q.No: 3 Father of green revolution in India is-
2403808

R 7 gRa HI & 6 §-
Dr. Norman Borlung
A
3. e dRar
Dr. R.S. Paroda
B
. IR, TH. W
Dr. M.S. Swaminathan
C

¥, w59, WA

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

MPPEB 2022

PAT Admin Panel

08-Dec-2021
Shift 1 v

Submit

1/65


https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/View_Challenge_Items.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/OBJReport_New.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/ViewCandResponse.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/ViewCandQNO.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/logout.aspx
https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

1/5/22, 3:24 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

D Dr. Vergese Kurien

3. e g

Correct Ans : C

Q.No: 4  Staple food crop of India is

2403813
URA P I T BET 8-
Soybean
A
e
Bajra
B
STSRT
Berseem
Cc
ELuit]
Rice
D
qhad

Correct Ans : D

Q.No: 5  Agronomy word is derived from which language
2403814

T Weg 5w T & forn T §
Greek

PIEd

Latin

dfes

Spanish

QA

Mandarin

e

Correct Ans : A

Q.No: 6 Soybean crop is mainly grown in which state?
2403815

e e g T Y 5 g & I St 37

Uttar Pradesh

A
IR U™
Madhya Pradesh
B
Y g
Rajasthan
Cc
ST
Tamil Nadu
D

e

Correct Ans : B
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Q.No: 7  Share of Agricultural sector in national economy in 2020-21
2403820

T 2020-21 AT srfora F S & FT AreH 7

25.4 Percent

A
25.4 UfoRa
19.9 Percent
B
19.9 Tfo=Ia
10.5 Percent
Cc
10.5 U@
28.2 Percent
D

28.2 ufasra

Correct Ans : B

Q.No: 8  Which of the following is a commercial crop in India?
2403821

1. Tobacco

2. Mustard

3. Jute

uRd & Fafoied # § $H-3 arauiie Bad 82
1. deigp
2. Wl

3.5
Only 1

Fad 1

Only 1 and 2

Faq 1 R 2

Only 3

Fad 3
All1, 2and 3

i1, 273

Correct Ans : D

Q.No: 9  Yellow revolution is related to

2403822
et iy et 8
Food Grain Production
A
W e 4
Pulse Production
B
Sae Swe 4
Oil Production
C
A e §
D Fertilizer Production
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IRF IS

Correct Ans : C

Q.No: 10 Food grain production of India in 2020-21 is

2403823
T 2020-21 H YRA BT T SAEH §
250.00 million tonnes
A
250.00 AR &1
308.65 million tonnes
B
308.65 fAfta &1
275.25 million tonnes
C
275.25 fafg e
350.00 million tonnes
D

350.00 fferds e

Correct Ans : B

Q.No: 11  How many elements are essential for plant growth?
2403954

et 3 9fg F U fpam dive a SMaRa B 82

15
A

15

18
B

18

17
C

17

22
D

22

Correct Ans : C

Q.No: 12 Who among the following presented the theory of essential mineral nutrients in plants?

2403955
frafifed & § feem diell & sirawae @l dive awl &1 s T feare
Arnon and stout
A
3 iR wrse
Liebig
B
R
Carl Linnaeus
C
o fifem
Aristotle
D
SRE

Correct Ans : A

Whirh ic nat a2 accantial niitriantce?
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VI 10 HIUL U LOot LU UL I LS

Q.No: 13
2403957
B T 3L Wb e T 82
Nitrogen
A
ARG
Calcium
B
Hicamm
Sulphur
C
B
Sodium
D
wifeaw

Correct Ans : D

Q.No: 14 Plants absorb nitrogen from the soil which is in the form?
2403958

T ot | o B SR 59 w9 # IR §?

Nitrates
A

g

Nitrogen oxides
B

RN SRS

Nitric acid
C

RS s

Free nitrogen gas
D

TR RS 1

Correct Ans : A

Q.No: 15 Which one of the following is a symbiotic nitrogen fixing bacteria?
2403959

fofafed & 3 SH-T1 eeid ToH e Siamy] 82

Algae
A
T
Azolla
B
e
Rhizobium
C
BT Cor
Azotobactor
D
TEeRER

Correct Ans : C

Q.No: 16 This is not included in organic farming
2403964

I Sfae @t & =i 78 2

A Bio-fertilizers
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-SSP

Chemical fertilizers
B

IS SRS

Green manures
C

iR

Compost and farmyard manure
D

PHURE T MR Bt I

Correct Ans : B

Q.No: 17 Which one of the following is not a bulky organic manure?

2403965
frafifed & $7 1il Frife T T8 e
Farmyard manure
A
MR @1 @S
Urban compost
B
el PR
Sludge
Cc
DRI
Mustard cake
D

T B E

Correct Ans : D

Q.No: 18 Which one of the following is a green manure crops?

2403966
Frafafed 7 3 oF-9 &8 @K 31 vud 87
Cotton
A
U™
Dhaincha
B
CEll
Sugarcane
C
=
Sunflower
D
bkl

Correct Ans : B

Q.No: 19  Which is not a component of integrated nutrient management?
2403972

=9 ¥ B gHE UIVe ad TR BT 390d T8 87

Herbicide
A
TS
B Bio fertilizers
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I IRF

Crop residue

U AR

Chemical fertilizers

AT IRS

Correct Ans : A

Q.No: 20 The essential plant nutrient for better rhizobial nitrogen fixation is

2403973
Yo ST Ao RS F R savaes dive d@ §
Calcium
A
Siemw
Phosphorus
B
BRGRY
Potassium
C
reRmEm
Sodium
D
afsaw

Correct Ans : B

Q.No: 21 Which one of the following states has largest area under canal irrigation?

2404005
fFrofafed & 3 5w o & ToR RiTE % ded 9o ofte &7 22
Rajasthan
A
SR
Haryana
B
i
Uttar Pradesh
[
ERidiciy
Bihar
D
f¥eR

Correct Ans : C

Q.No: 22 TIrrigation a project launched by the Prime Minister in June 2018 in Rajgarh district of Madhya Pradesh is

2404006
Ay % AeTg R A 5 2018 F g gR1 g e Riwrd ufkdiern @
Mohanpura Major Irrigation Project
A
TeTgRT e R uREemT
Punasa Lift Irrigation Project
B
T R s avderm
Rehti Medium Irrigation Project
Cc
et werw R aikdier
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D Ahraura Dam Medium Irrigation Project

IR §iY HeEw Riwr ufkdiorm

Correct Ans : A

Q.No: 23 Water supply through pipelines and tubewells to the farm is known as
2404007

Gl & urguarsHr R TAGU F Hream § U 1 omgff fhw T & S o 72

Flooding
A

Eicd

Irrigation
B

R

Mineralisation
C

RelEnicau

Drainage
D

S e

Correct Ans : B

Q.No: 24 The crops that need a lot of water are

2404010
5 wue & 9gd oifie ur Bt savawar ghit 7, 37
Rice and Maize
A
199 Td 7D
Wheat and Cotton
B
g v U
Rice and Wheat
C
e o g
Wheat and Chickpea
D

A wd =

Correct Ans : C

Q.No: 25 Which state is benefited by Indira Gandhi canal project?
2404011

T 7M1t TeR URESHT I 5 1o Y AT g 82

Maharashtra
A

HeRTg

Punjab
B

REIC)

Rajasthan
C

TR

Tamilnadu
D

afrerTg

Correct Ans : C
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Q.No: 26  Which of these is a positive effect owing to the drainage?
2404014

S T & BRU ST § HH T FHRIHAB THT §

Removal of salts

A
AN P G
Environmental damage
B
iRy afd
Leaching of plant nutrients
Cc
e dal &1 Fste
Damage the crop
D

B B T

Correct Ans : A

Q.No: 27 In India most irrigation schemes fall under which category of irrigation?
2404015

HRA H Siftrpter Rierg ufvdiony R o1 few Joft & ot §2

Canal irrigation

A

R R

River irrigation
B

) R

Lift irrigation
C

[REATE )

Tank irrigation
D

o R

Correct Ans : D

Q.No: 28 Which factors affecting water requirement of crops?
2404017

A. Solar radiation

B. Wind velocity

C. Atmospheric humidity

T A FH  FRS B oA T B IR FRA F?
A. IR fafzor

B. a1 &I TIfa

C. 91 HUSH 3Msar

Only A

Fad A

Only B

Fad B

Only Aand B

PaaA SR B
D AllA, Band C
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Tt A, B3R C

Correct Ans : D

Q.No: 29 Which is not a unit of water measurement?

2404018
TIH Y S 9Id A0 P 3BT TN 87
Cusec
A
Cumec
B
Parshall Flume
(o}
YR UegH
Acre inch
D
THs §

Correct Ans : C

Q.No: 30 Which of the following method is used for lifting water from deep open well?
2404020

TR A $ I I Io & o Ffarea & 3 fvg faf o1 Suant i s g2

Windlass
A
[EERIE
Swinging Basket
B
Eanikccail
Archimedes screw
C
s 4T
Doon
D
«

Correct Ans : A

Q.No: 31 National fruit of India is known as-
2404104

YR T PN B Byl 2-

Mango

Apple

¥

Far

Pomegranate

SR

Correct Ans : A
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Q.No: 32 The word “Horticulture” is derived from which language?

2404105
A A g e v & feram ma @2
English
A
il
Latin
B
e
Greek
C
Picd
Persian
D
RR7A

Correct Ans : B

Q.No: 33 Which fruit have maximum area in India?

2404106

URA B 59 odl &1 & Faifie §?

Banana
A

P

Guava
B

AEG

Apple
C

¥

Mango
D

3

Correct Ans : D

Q.No: 34  Maximum Vitamin C is provided by which fruit?

2404107

waffre fertm-w 3 aren wa §

Citrus
A

g

Mango
B

3

Guava
Cc

G

Aonla
D

e

Correct Ans : D

Q.No: 35 Indian Institute of Horticulture Research is located-
2404108

YR ST SrgEY TR R § -

A Lucknow
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TR
New Delhi

7 el

Bangaluru

qIgE

Gurugram

T

Correct Ans : C

Q.No: 36 Important factors in preparation of orchard layout is-

2404111
TR & Y # Teayy FRS §
Hedge
A
£
Wind breaks
B
g Aus
Paths
Cc
T

All of above

g T

Correct Ans : D

Q.No: 37  Which fruit planting system is most useful in hilly area?
2404115

TgIEt & H % A9u & HH Ul Faifie Iuanh ®

Contour system

A
FR TS
Triangular system
B
Pryemen Tk
Rectangular system
C
ISR TZfT
Hexagonal system
D

e ughy

Correct Ans : A

Q.No: 38 Training is most important process-

2404116
TUTE TP 1T SIS Ufpal §
Mango

A
m #

B Papaya
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gdier &

Apple
C

LEE|

Aonla
D

et &

Correct Ans : C

Q.No: 39 Optimum time for pruning in grape under north India-
2404118

IR URA B R B Ble-Bic T Iugad I 8-

September
A
RyawR
January
B
St
March
Cc
b
May
D
s

Correct Ans : B

Q.No: 40 Wind break plant is planted in which direction of orchard?

2404121

arg At G R & b fmn & T o ¥2

East - South
A

TRE-Gf&o

East - North
B

RE-FWR

North - East
C

SR

North - West
D

IWR-uEH

Correct Ans : D

Q.No: 41 Important winter season ornamental annual plant is
2404183

IRG BIAH THE RHTHR THIWT hem §
Calendula
A
Fargan
Phlox
B
i
Both Calendula and Phlox
C

ST Forgar quT we
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D Lilies

foreft

Correct Ans : C

Q.No: 42 Major objective of ornamental horticulture is-
2404186

TP I BT T I 2-
Entertainment
A
TEARSH
Decoration
B
GEICH
Religious and economics
C
Uit Ta onfifes v
All of the above
D

IR gt

Correct Ans : D

Q.No: 43 Kochia is mostly grown in which season?
2404187

Hifern sgard ¥U ¥ 59 Hg & S 72

Summer season
A

s %5g

Winter season
B

W B

Rainy season
Cc

CLE

All the season
D

i Bgalt A

Correct Ans : A

Q.No: 44 Botanical name of Ashok tree is-
2404209

NP & BT IFRUTAD T &-
Delonix regia
A
Seitfera Yfomn
Cassia fistula
B
R wiger
Polyalthia longifolia
C
Treftafea afvfieiemT
Thuja compacta
D

ekt

Correct Ans : C
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Q.No: 45 Kadamba tree is related to

2404210
Har B g8 GHEAT §
God Shiva
A
WEaH e &
God Shri Krishna
B
WA Sigwr §
God Vishnu
Cc
WA faw) §
God Ganesha
D

YAET TTOrRT

Correct Ans : B

Q.No: 46 Which shrubs produced fragrance flowers?
2404211

B 3 e 7 G A F e g2

Ratrani

RIGRE|

Kamini

Ea el
Both A and B

2l A GUT B

Ticoma

san

Correct Ans : C

Q.No: 47 Example of ornamental climber is-
2404213

RNUIHRY T aret TN T IETeRT 3~
Nerium odorum
A
A kA
Muraya exotica
B
TR ST
Crinum sp
Cc
PIEH TSIl
Antigonon leptopus
D

T Ao

Correct Ans : D

Q.No: 48 Main objectives of hedge plantation is-
2404216
A. Protection

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx
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B. Protection

C. Demarcation

SIS T P YSH IE2 &-
A. X&T F R

B. Fulae & fow

C. T fFuRu & g

only A

Fad A

Only B

Fad B

Only Aand C

FaAA 3R C

AllA,Band C

i A B3RC

Correct Ans : D

Q.No: 49  Optimum time for pruning in rose is-
2404251

A ¥ HeTs-gers B IUg T 8-
February

R

August

ST

October

g’
May

&

Correct Ans : C

Q.No: 50 Commercial method for propagation of canna is-

2404260
Feft ¥ TR B TaEe A 8-
Budding
A
Eacauc
Stem cutting
B
T B
Layering
C
I Ry
Rhizome
D
R

Correct Ans : D
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Q.No: 51 Following are the example of which of the following crops Rice, Wheat, Barley, Oats, Chickpea, Pea, Cowpea, Lentil, Green gram etc?
2405409

reet, g, S, W, PIgell =1, Hex, afad], TR, € =99 ofife Frafied & A by wge & Iy 82

Cross Pollinated Crops

A
R-WRIA B
Self-Pollinated Crops
B
@ W wad
Often Cross Pollinated Crops
C
g R- WIRG HHd
Sectional Pollinated Crops
D

SITHRTT TR e

Correct Ans : B

Q.No: 52 How many number of chromosome pairs are found in Chicken?

2405410
i & febe TURE WS UTY W €2
27
A
27
39
B
39
19
c
19
21
D
21

Correct Ans : B

Q.No: 53 Following are the method in different species of animals i.e speculum method, vaginal method and recto vaginal method.
2405411
SERY Y faftre ot & fafy FraferfEa § 99 i Qeggw fafdy, Iemsa fafy ok Y dstga fafdn
Cattle Management
A
Hah vee
Anthrax
B
e
Insemination
(9
YT
Foot Rot
D
Pe e

Correct Ans : C

Q.No: 54 Where is the headquarter of National Beauro of Plant Genetic Resources (NBPGR)?
2405412

PN Urey LRI FHIeT SR (NBPGR) &1 G Faf 82
A New Delhi
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% Rl

Kolkata

Piawdl

Jaipur

AR

Haryana

ghamon

Correct Ans : A

Q.No: 55 The concept of centres of origin was given by whom based on his studies of a vast collection of plants at the institute of plant industry?
2405413

ey JENT G H qrell & IS I B AU 3T b YR R IART $ Hal $1 SGURN g gRI <l 78 2
George C. Clerk

A
Sl &t Fb
Norman Borlaug
B
e SRarT
Leningrad N.I Vavilov
C
A . 3. e
Robert Bakewell
D

JeE Sad

Correct Ans : C

Q.No: 56 Band on flower morphology, self-incompatibility system is of how many types?

2405414
Bl Pl AT W s, W-3RA yoreh b webR # et 82
Three
A
Gl
Five
B
"
Six
C
EH
Two
D
El

Correct Ans : D

Q.No: 57 Close Breeding and Line Breeding are the type of which of the following given below?

2405416
et sife SR aea e Fufafed 3 § frw wor & &2
Remote breeding
A
ferde shfem
Out Breeding
B

33e ST
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(o} Inbreeding
SIS
Grading up
D
AT e

Correct Ans : C

Q.No: 58 Disbudding should be done for calf at the age of

2405417

IO BT fSuafeT 31 39 H 31 AT

10 to 12 days
A

10¥ 12

5 to 10 days
B

5910 e

15 to 20 days
C

153 20 f&7

2 to 5 days
D

295 A

Correct Ans : C

Q.No: 59 is the technique in which semen with living sperms is collected from the male and introduced into female reproductive tract at proper time with the hel,
2405418 of instruments.

I8 AP ¢ Ford Sifad eprusht o e B R J T a1 o & 9k Ul F Hee § S T W Hiet Yo Y H =T T o g

Intrauterine Insemination

A

Sfertuferdt mfem

Breeding
B

PELRE

Artificial Insemination
C

P THiYE

Cultural Insemination
D

Wiplae THUE

Correct Ans : C

Q.No: 60 From the features given below identify disease in cattle?
2405420
1. It is a nasty contagious,

2 Sexually transmitted disease in cattle, which you can protect against by vaccination.

H fgu T qeon I Hafke & A B ugEH B2
1. 98 TP R ThS &,
2. TR & 99 Taika T, R oy AH1aru gRI S99 HR THhd

Mastitis

fwrfew

B Vibriosis
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fafsaiRa

Black Quarter

C
AP P
Ringworm
D
e (= )

Correct Ans : B

Q.No: 61 is the part of veterinary medicine that deals with the quality of the environment where animals are due to live (adapt and maintain this environment) in
2405610 ,(equate state so that animal health is safeguarded.

TR S o1 ag R ¥ W TaigeRor @t Ui § efid § S8T SeR AT SawT H I6d § (39 dIiaRyl B SIS S 384 §) e Ux] @R Bt &7 8 T

Botany
A
e fagme
Epizootiology
B
REECRE
Animal Hygiene
C
g W=l
Animal Kingdom
D

Y AT

Correct Ans : C

Q.No: 62 The dam should be dried how many weeks before expected calving?

2405611

AR S (P I frd TwTe Ugd SH &) Y@ S A1few?

3-5 weeks
A

3-5 qule

2-4 weeks
B

2-4 G

6-8 weeks
C

6-8 YUl

4-6 weeks
D

4-6 9«lg

Correct Ans : C

Q.No: 63 The calves are kept in the calf pen for minimum of how man days after their birth?

2405612

IO I ST TH & o o 918 T 983 F 9IS H @M I 27

5 days
A

5faa

10 days
B

10 f&s

15 days
c

15 feT
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D 25 days

25 faq

Correct Ans : A

Q.No: 64 After how many days of pregnancy (in milk), Animals are selected for drying management?

2405614

TR ¥ e AT & a1 (qU ) URIeHT BT Y& 1 YeYE F AT g4 S 82

100 days
A

100 &

200 days
B

200 f&A

250 days
c

250 f&A

300 days
D

300 &1

Correct Ans : D

Q.No: 65 In double row system up to how many animals can be maintained in a single shed?

2405615

S ¥ Res 8 0§ Vs H e e & 7@ o Wahl 82

15 animals
A

15 SFaR] &Y

20 animals
B

20 SR B

50 animals
C

50 SFaR B

30 animals
D

30 SFa B

Correct Ans : C

Q.No: 66 Which of the following facts related to covered space of Sheds for Young Stocks is not true?

2405616
47 Wi & U Vs F g gU WH ¥ Yeifid Fafafea 3 ¥ &9 w1 9w 99 18 82
20-25 square feet per calf below the age of 3 months.
A
3 7R ¥ $9 39 ¥ R 20-25 7 He wldy s
25 -30 square feet per calf from the age of 3-6 months.
B
3-6 TEH 31 99 & i 25-30 T Be vl a1l
30-40 square feet per calf from the age of 7-9 months.
C
7-9 WM 31 39 & 1 30-40 T Be vl w31l
40-45 square feet for every calf above one year, should be made available.
D

& T4 ¥ FR & TS 588 & Y 40-45 T Be, Iuaey ST ST 13T

Correct Ans : C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 21/65



1/5/22, 3:24 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

Q.No: 67 Caretaker should Feed colostrums i.e. the first milk of the cow to just born calf for the first how many days?
2405618

FITR B PIARCH T M BT Tge g Rith VeT U 92 B e T a6 e =nfge?

3
A

3

6
B

6

5
C

5

10
D

10

Correct Ans : A

Q.No: 68 Immediately after the birth of calf, care taker should remove any mucous or phlegm from which of the following?

2405619
i@%jwéﬂiﬁ@ﬁ, TGHT B aTd B Faffed § § 5 A o™ a1 S $I gl o1 AIfgu?
ee
A
il @
Nose
B
R
Leg
C
Eakl
Hand
D
EUE

Correct Ans : B

Q.No: 69 Which breed of cattle is known by the name Bhadawari, Desan, Gujarati, Kathiawan, Sorthi, and Surati?
2405620

S, O, ORI, SIS, RS R JReft & 0 F 5 Txaq &b HARMAT Y ST e 82

Red Sindhi
A
e Rieht
Sahiwal
B
RIGEIS]
Amritmahal
C
R
Gir
D
fir

Correct Ans : D

Q.No: 70 From the symptom given below, identify the diseases that occur in cattle.
2405622
1. Left side of the abdomen is bloated

2. Uneasiness
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3. Stamping and peddling of hind legs

4. Difficulty in respiration.

2 faw e deron § ggelt § €19 ard A7 &1 ugaH Hifer|
1. Uc &1 i i3 Gen gan &

2. Ff

3. foed &RF 1 RfRm R vsfem

4, 99 B 3

Acetonemia

TS

Tympany

e GaT

Diarrhoea

15

Mastitis

AT AT (FIY)

Correct Ans : B

Q.No: 71 The organized dairy sector (both cooperatives and private) is presently handling how much percentage of total milk production in the country?
2405643

Tfed S8 & (TgpTRar 3R Foh ST adu 39 # Fd gU Iadred BT fhaaT Uf=Id TJHT 6T 82

10-12 percent

A
10-12 yfoRE
15-17 percent
B
15-17 ufa=id
20-22 percent
C
20-22 TfoRa
19-25 percent
D

19-25 Yfi=E

Correct Ans : A

Q.No: 72 Which of the following is not the Cleaning assessment methods of Milking Machines?
2405644

Fofaied & & S gy < areh IR 3t 9w gedie fafy e 82
Rinse/Swab method

A
Naiede @
Visual inspection
B
= Fftaor
Manual Cleaning
C
T A P g T
Bioluminescence method
D

R fafy
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Correct Ans : C

Q.No: 73 A centrifugal milk separator machine has conical discs that rotate in a bowl (drum) at a speed of revolutions per minute, depending on the model.
2405645
TS SRS ¢ fauTsis 72 A toreR 3% gl 8 ol Alsd & 1R W ufd fire Hifa B T TF Fer (FH) T g 8
1,000 to 1,500
A
1,000 ¥ 1,500
6,000 to 10,000
B
6,000 ¥ 10,000
4,000 to 5,000
C
4,000 ¥ 5,000
2,000 to 3,000
D

2,000 ¥ 3,000

Correct Ans : B

Q.No: 74 How many types of butter making processes are there?

2405646
g S 1wl e TR 3 gkt 72
Three
A
il
Four
B
IR
Five
Cc
LGl
Six
D
CH

Correct Ans : B

Q.No: 75 In the churning process, the cream is violently agitated for how many minutes to break down the fat globules, causing the fat to coagulate into butter grains, while tl
2405647 fat content of the remaining liquid (buttermilk) decreases?

e 3} ufear H, AAE &Y fha e & R st & I far wran € aifes a9 3 T B et o 9o, R 39, Ao & gHl H ST 81 9 €, Saie [ R (V1) W a9 Bl A |
g o 82

2 -5 min

2 -5 fiFe

12-15 min

12-15 fiFe
5-10 min

5-10 fiFe
15-20 min

15-20 e

Correct Ans : C

Q.No: 76 Pasteurization of butter is usually done at how much temperature?
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2405648

TR BT RIS AR W e qrodH W far sar 82

75-77°C
A

75-77°C

82-88°C
B

82-88°C

66- 68°C
C

66- 68°C

52-55°C
D

52-55°C

Correct Ans : B

Q.No: 77 Cream separation is a phenomenon by which the milk is separated in to cream and skim milk by which force?

2405649
P TYIIROT T VT e © o gR1 g 31 B iR TS M U B b 90 g e o S 32
Primary force
A
Ui s
Intramolecular force
B
IR
London dispersion force
C
W a7
Centrifugal force
D

3D T

Correct Ans : D

Q.No: 78 The daily cleaning routine of bucket milking machines and clusters consists of how many stages?

2405650
U T arelt HRA SR W1t B IR WHTS @1 et # b =R 81 82
Four
A
IR
Three
B
Gikl
Six
C
EH
Two
D
Q@

Correct Ans : B

Q.No: 79 At which temperature milk start fouling?
2405651

Y 9 A1 W BRI B @l 82
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A 30°C

30°C
50 °C

50 °C
60 °C

60 °C
80 °C

80 °C

Correct Ans : C

Q.No: 80 What is the best temperature to turn cream into butter?

2405653
P P TG & dgeq & U 999 ST agdH i e
23-25°C

A
23-25°C
18-20°C

B
18-20°C
10-12°C

c
10-12°C
13-15°C

D
13-15°C

Correct Ans : D

Q.No: 81 Who is the regulator for import and export of dairy products in India?
2405687

YR # 3T IaTel & S R Fafa & e Fame (aeR) B9 82

Delhi Development Authority

A
foeeht fepry witie<or
Department of Agriculture and Farmers Welfare
B
Py Tt AR fHaF Heamr fum
Agricultural and Processed Food Products Export Development Authority
C
P IR wRiepd @ Sere Pl e miieRe
Department of Agriculture Research and Education
D

PR sgEyE SR Rrer fyrr

Correct Ans : C

Q.No: 82 Karan Swiss is a cross breed cattle which was developed by mating between ?
2405688

I g U Hi s 7ash § B & o G TR fawRia fovar o
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A Local Cows and Brown Swiss

wFi T R A R

Sahiwal, Red Sindhi and Brown Swiss
B

wetara, ot Rie ok sre R

Sahiwal and Holstein Friesian
c

T IR Sewi e

Tharparkar and Holstein Friesian
D

YRURHR R BT Ry

Correct Ans : B

Q.No: 83 What are the horn characteristics of Murrah breed?

2405689
Rf T @t i1 Bt RARdwans ar €2
Flat, short, tightly spirally curving inwards
A
uTe, Biel, Feigd gHEAR ¥4 9 3fax 3 3R 1 ga
Flat and sickle shaped and form hook at the tip
B
gure SR Rkt F AHR BT MR RR W §F S99 arar
Small and coiled tightly
Cc
BleT 3R Aogd pefrd
Curl slightly outwards
D

AIST 9TeR Y SR el

Correct Ans : A

Q.No: 84 Which of the following is a Exotic Cattle Breed?

2405690
o & 3 o e ool oy T g2
Gir
A
iR
Tharparkar
B
YRURDBY
Jersey
C
St
Red Sindhi
D
e Rieht

Correct Ans : C

Q.No: 85 Which type of soap should don't use while washing a dairy cow?
2405691

SR T B U G B THR F G T ITANT g BT AMR?

Fragrant soap

it wrg

B Soap with antimicrobial activity
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ARy wfobaar & ar argH
Soap with herbal treatment
o
T SUER & Y FIEgT
Soap with detergent
D

fResle & Ty AIgT

Correct Ans : D

Q.No: 86 What is the main element extracted from skim milk?
2405692

T Xed gy ¥ FTen 9 aTar G ad 7 87

Protein
A

WA

Carbohydrate
B

Mineral
C

gl

Fat
D

L)

Correct Ans : D

Q.No: 87 When all water is removed from milk what is called-
2405693

e g A TR IR FTa fgam S § @ S 9 Ped 72

Whey
A

Rl

Powdered milk
B

USSR gY

Flavor milk
Cc

TR fired

Condensed milk
D

meT g4

Correct Ans : B

Q.No: 88 About how much percent of milk can vendors handle total production?
2405694

fathaT So I BT TTHT foba UfI=Id g JHTA Tebal &2

55-60%
A

55-60%

65-70%
B

65-70%
c 70-75%
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70-75%
75-80%

75-80%

Correct Ans : B

Q.No: 89 Which process is the important in dairy farm management?
2405696

398 o yde A P o ufgrar veagyf 82
Increase in yield and quality of milk
A
Y &1 IaER oK e & gfe
Increase in size of cattle
B
TR & eMeR d gfe
Increase in the number of cows
o
T B e A g
Increase in number of buffaloes
D

G 3T gom ¥ gf

Correct Ans : A

Q.No: 90 When does a calf receive colostrum?
2405698

TF IS8T HIAReH HF Ut el 82

1 day after born

A
¥ 1RAE
2 days after born
B
T F 2 RAwg
30 minutes after born
C
S ¥ 30 fiFe I8
12 hours after born
D

SHF 12 e g

Correct Ans : C

Q.No: 91 Cattle disease that is communicated to man is:
2406019

U] A7 S A Y e febar e § 98 &
Blackquater
A
ST gER
Anthrax
B
wiigt
Ranikhet
C
Lol
D Rinderpest foot
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e ge

Correct Ans : B

Q.No: 92 Foot and Mouth disease in cattle is caused by:
2406020

HafRwE & &R ok e #t SRt frwd Rk §

Bacteria
A

g

Fungus
B

Hdh

Viruses
C

Gl

Both Fungus and Bacteria
D

Pac SR Sary ST

Correct Ans : C

Q.No: 93 Coxsackievirus caused the disease in cattle that is:
2406021

PIRIAPT aRY HAREY F AT BT RO ST B ST B:

Ranikhet
A

IrEd

Anthrax
B

gt

Foot and Mouth
C

R IR

Black leg
D

Fra iR

Correct Ans : C

Q.No: 94 Coccidiosis is a:

2406022
FHiSTT A TF §:
Bacterial disease
A
Sffaroy 3T
Fungal disease
B
e T
Protozoal disease
C
Mérsitare
Viral disease
D

AR AT

Correct Ans : C

Niarrhnaa Fanicad hae
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Liuniniveu Luuosu wy .

Q.No: 95
2406023
T BT HRT 3
Bacteria
A
g
Protozoa
B
et
Virus
C
Gl
Fungus
D
Hdh

Correct Ans : A

Q.No: 96 Black quarter (Black-leg) is caused by:

2406024
P DI (0 A7) [FuP SR BT B
Bacteria
A
Sy
Virus
B
qRRY
Fungal
C
TS
Protozoa
D
ersiem

Correct Ans : A

Q.No: 97 Haemorrhagic septicaemia is caused by bacteria:

2406025
Tadt SPETET ST & HROFI o
Pasteurella haemolytica
A
& gAICHT
Clostridium chauvoei
B
sy g
Bacillus anthracis
Cc
Fhery R
Pasteurella multocida
D

qrEReT ARIST

Correct Ans : D

Q.No: 98 Septicaemia is caused by:
2406026

Afpfferar & HRT B B:

A Bacteria
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Sitarg

Fungal

R

Virus

CLEG ]

Protozoa

EICEIE

Correct Ans : A

Q.No: 99 Which disease need direct microscopic examination of tissues and fluids for diagnosis?
2406028

fam & o forg A1 & oot 9k R gardl F1 ye G g B AR gt 87

Black quarter

A

AP PR

Foot and mouth
B

R ok T

Anthrax
C

witel

Rabbis
D

Rein]

Correct Ans : C

Q.No: 100 Fever, Loss of appetite, suspended rumination, lameness in affected leg, swelling is hot & painful in early stages whereas cold and painless inter,
2406029 ocymbency (prostration) followed by death within 12-48 hrs. These all are the symptoms of

FER, 4@ T @I, $HBT gl AMARA, T R F e, or TR s & mi ofR <d1e St 3, el 33 9l & R $ex, AeT g (Iw) F 918 12-48 Hel & MR g &
ot €13 i F A& g

Anthrax

LOE]

Black quarter (black-leg)

AP BIER (AH-AT)

Foot and Mouth disease

R IR g 31 S

Rabies

e

Correct Ans : B

Q.No: 101 Which of the following is mechanised by ‘work forces’ in radio-activity?
2404152

fafifed & & o Meauffar & orf sai gr1 a=igd 32

Alpha-decay
A

S{epT-&1
B Beta-decay
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der-am

Gamma-decay

TH-&9

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

alpha-decay and Gamma-decay

SEPT-& AR M-

Correct Ans : B

Q.No: 102 Which type of decay is characterized by emission known as ‘positron emission’ ?

2404153

9 UPR F & B IS I’ & ¥ F THT 9 aT0 Sooi B RIS 82

Alpha-decay

S{hT-&1

Beta-decay

dier-&

Gamma-decay

TH-&9

Cluster-decay

FAET-&4Y

Correct Ans : B

Q.No: 103 Which of the following is true with respect to radioactive decay?

2404154

(a) It is a stochastic process.

(b) In radio-active decay unstable atomic nucleus gains energy by radiation.

(c) In radio-active decay unstable atomic nucleus loses energy by radiation.

(d) It takes places in a stable-atomic nucleus.

Fofefad & 3 o a1 el e & dey § 99 32

(a) T8 TH WIhied Ui 3

(b) YeAredf e & SRR TR TIfre, Ao gR1 FHuf U axar 81
(c) M e & SRR Wy Tiftres, fafror grRT SHoff @ e 21
(d) T8 Ue fRR-u=E] T F grar 31

Only (c)

¥ad (c)
Only (a)

F9d (a)
Both (a) and (c)

3l (a) 3R (c)

Both (a) and (d)

3l (a) 3R (d)

Correct Ans : C

Q.No: 104 Which of the following is true according to Bohr-Bury rules for distribution of electrons into different shells?

2404155
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faftr Bl & gaaelt & faR0r ¥ forw IR-s8 Fradl & orguR Pafifed & § 1 o 9w 22

First shell takes no electron

A

TR PR PN g T e

Electrons first occupy shell with lowest energy.
B

TR T BT e $H SHofl A S B A ¢

Size of small shells remains constant after n = 2.
Cc

n = 2 ¥ 91g DR BRI FT AHR RR W51 1

Second-shell can occupy n = 22 means 4 electron.
D

CERTSI n =22 o Febcll §,Acerd 4 Serag i

Correct Ans : B

Q.No: 105 Shell next to outer-most shell can have how many electrons ?
2404156

T 168 B B 9 G HIY F b AR & Fba 82

not more than 32

A

32 9 & et

not more than 18
B

18 ¥ 3% ¥

not more than 8
Cc

8 ¥ afte et

not more than 16
D

16 I i T

Correct Ans : B

Q.No: 106 What is the true related to nuclear-half-life?
2404157
A. Highly-radioactive substance are quickly spend.
B. Half-lives vary widely among radio-active substances.

C. Half-lives of various radio-active substance are in close-range to one-another.

TRET]-31ef- 3y | et T @ 32

A. 3t e verd st 7 g9 7

B. Y&z uarlf & i srdf-smg wmue wu I fr At 71
C. fafter Mferendf uenif @1 oref-3mg tH-gwR F Hh 71
Only (A)

Fad (A)
Only (B)

Fad (B)
Only (C)

%ad (C)
Both (A) and (B)

3T (A) 3R (B)

Correct Ans : A
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Q.No: 107 According to Bohr’s Model, electrons do not radiate energy as they orbit the nucleus, but exist in state of constant energy. What are these states known as ?
2404158

IR & HST b SR, AT AP B TRHHT BRI §U Fol b [AfHR0T Tl R €, Tewp FRAR ot Y SfaeT F Higg I8 T 39 SR P {5 A9 F 1 oIl 22

Excited state

A
Jafor srawi
Stationary state
B
fRR s
Radiating state
Cc
faaiof srawm
Excited state and Radiating state
D

AT 3 3R il s

Correct Ans : B

Q.No: 108 Splitting of spectral lines in magnetic is called , which splitting of spectral lines in electric field is called ?
2404159

Jepig § quimia el & fRyoH B Fg1 o1 3, fagga &= & aufereiia Yareit & faveH ot EEEINEH

Zeeman effect, stark effect.

A

WA THE, €I THE

Stark effect, Zeeman effect.
B

W THE, WM THE

Radiation splitting, field splitting.
C

fafepur faurer, & favrerI

Field splitting, radiation splitting.
D

& faurem, fafgor favrem
Correct Ans : A

Q.No: 109 What is true regarding hydrogen atom, according to Bohr’s model ?

2404160

IR F Hisw b IR TIESIS WA & Yy & 97 9 82

It consist single electron but its atomic spectrum consist of large number of lines.
A

THH T Taag B ¥ Aih 76 WAy Weed § 5w @ Y g €

Its atomic spectrum consist of very few lines.
B

TP TR WagH & 9gd HH Yy gt ¥

Its atomic spectrum consist of very no lines.
C

TP TRy WagH # Sgd B @ B &l

Electron in hydrogen does not jump from lower energy states to higher energy states when subjected high temperature.
D

T A & 3diF BN TR SIRSIoH H Saae 7 Sl SiawT | I FHoil ST 7 e e gl

Correct Ans : A

Q.No: 110 Two atom have 10 and 11 electrons respectively, how many energy shall will be present in both +N atoms?
2404161
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S TRAT B BA: 10 3R 11 A 8, I +N WA § fha-t SHuf dng gnfre

1, 2 respectively

A

1, 2 P

2, 3 respectively
B

2, 3 HHR:

3, 4 respectively
o

3, 4 PHR:

4, 2 respectively
D

4, 2 HHRE:

Correct Ans : B

Q.No: 111 Which of the following is not colloid?

2404188
o ¥ ¥ o1 Hrass T e
Paint
A
e
Cheese
B
TR
Mist
C
fire
Mixture of two gases
D

3 ¥t &1 vy

Correct Ans : D

Q.No: 112 Choose the correct statement.

2404189
TE PYA BT T4 PR
Lyophillic sols are known as reversible sol.
A
Rrdfefre B # Iepavii Sia & w0 § ST W 31
Lyophobic sols are known as reversible soln.
B
Rrwifye e @t Raffsw dfa & w0 & s o1 81
Mixture of two or more gases is homogeneous and these are classified as colloids.
Cc
fagor Al @ a1 < ¥ i A Wit § oK 5 Fioss $ wu A wifgd R o d1
Lyophillic sols are not stable.
D

feriiftp o el fRR 7 81 €1

Correct Ans : D

Q.No: 113 Which of the following needs stabilising agents for their preservation?
2404190

e # 3 5l o ufRemr & T wiE woicy 3 saxadsar gt 32

Lyophilic colloids

feriifelere Hiamgy
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B Lyophobic colloids

KRk e ARIERT]
Suspension
C
e
Homogeneous mixture.
D

e Ao

Correct Ans : B

Q.No: 114 What type colloid pumice stone is?

2404191
Fargs Wie ©H fHY SR &1 8T 82
Foam
A
B
Solid sol
B
3 |
Acrosol
C
LEalic
Sol
D
g

Correct Ans : B

Q.No: 115 Choose correct property related to Bredig’s Arc method.

2404192
e o fafy & weifda vt o g
It involves dispersion as well as condensation.
A
<H URRETu & Wry-Try e o i
Oxidation, reduction or hydrolysis are involved which lead to formation of molecules.
B
i, e ar g fae § ot srggelt & fmfor 9t oik @ 9§
Electrolyte called peptizing agent is used.
C
TP Tole e Seiagiase ST SUaRT 3T ST &1
Double-decomposition is used.
D

QIeX 3qHe ST SYENT b ST 81

Correct Ans : A

Q.No: 116 Choose correct statement.

2404193
A. Lyophillic particle from layer around lyophobic particles and are called protective colloids.
B. Lyophobic particles from layer around lyophic particles are called protective colloids.

C. Lyophillic particles are more stable than lyophobic particles, and thus used as protective colloids.

TG YA I

A. Rriiwifde Hoit & IR 3R WRa I Rl Fu, Reds Hraws Feand gl

B. feriifthes 0Tt & IR $IR R I R i 3 QReTHD B gl il 8|

C. feriftsfere @0 Rrdipifom Hol 31 gor & ifded RR 81 8, 3R 39 TPR WaTHP HIARs & w0 7 ST Y 91 &1
A Only (A)

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

37/65



1/5/22, 3:24 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

Fad (A)
Only (B)

Fad (B)
Only (C)

Fad (C)
Both Aand C

A 3R ¢ 2Hi

Correct Ans : D

Q.No: 117 Choose correct statement regarding ‘Gold number’.

2404194
Tiies AR’ F oy F GG HUF A
Smaller the ‘gold number’ of a protective colloid, the greater is its protective action.
A
5 TS PSS P "Tiies AaR’ R SIeT GR, IHST WS fobar Ia- gt s grt|
Smaller the ‘gold number’ of a protective colloid, smaller is its protective action.
B
TP WS HIAES BT "Tics FeR' Rre Ser S 3, SHT W fwar 3o & w9 2t 31
Gold number is not related to protective action of a protective colloid.
C
M AR T WS BIARS B WA a1 J Jeifa 7 71
Gold number is associated with size of colloidal particles.
D

Tite R BIAESd S P BRI Yt St 81

Correct Ans : A

Q.No: 118 What is movement of molecules of dispersion medium under influence of an electric-field, when colloidal particles are not allowed to move, called ?
2404195

fagga & F uva # aRauw A1erm F ST HI M, S DA HUX B A B BT ST TaI BI 8, FIT PEA © ?

Electrophoresis

A
YqgaPURIEeH
Electro-osmosis
B
ERCHEI IR
Brownian movement
C
e R
Flocculation
D

RNIE SR

Correct Ans : B

Q.No: 119 Solid colloids are considered as not chemically active portion of soil, because of which reason?
2404196

A. Chemical structure of materials involved.

B. Larger surface area.

C. Smaller surface area.

TS (3N Praresd B i) &1 IMEfe S0 F ihg 4T 7 1 o1 €, 59 R A2
A, XHE FeRTd B IS SRaE
B. 3 ¥aE &7 ¥
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C. B 9de &7 ¥
Only (A)
A
Fad (A)
Only (B)
B
Fad (B)
only (C)
c
Fad (C)
Both (A) and (B)
D

(A) 3R (B) gFI

Correct Ans : D

Q.No: 120 The carbon which has unique property called?

2404200
75 e foredt ife 07 84 €, Pead 82
Tehavalency
A
Jgaerdt
Pioneering
B
grafafar
Catenation
C
FeA
Organic chemistry
D

PIEMD TG

Correct Ans : C

Q.No: 121 What type of bond does the tetravalency of carbon form?

2404201
Pl P e b UHR BT s F1H 82
Covalent bond
A
TS Y
Hydrogen bond
B
CESEEEE
Ionic bond
Cc
e gy
Metallic bond
D

urg 94

Correct Ans : A

Q.No: 122 Which of the compound is the one that is most reactive towards electrophilic nitration?
2404202

P 1 RE TG BTIE LI F Ufd T S ufafearsia 32

Benzoic acid

doiee RS

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

39/65



1/5/22, 3:24 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx
B Nitrobenzene

TSI

Toluene
C

E& Gl

Benzene
D

el

Correct Ans : C

Q.No: 123 When two or more compounds possessing the same molecular formula this property is known as:
2404203

9 < A & I e A THE SR ard & A 39 07 B FEd 7

Aromaticity

A
RRRRE
Isomerism
B
qHGgadn
Metamerism
Cc
Terfss
Cleavage
D
wilaw

Correct Ans : B

Q.No: 124 Which species is not an electrophilic in nature.

2404205
I Wyl TPl # sAaiei® T8 5l
Cl
A
Cl
BH;z
B
BH;3
H;O
C
H:O
NO;
D
NO»

Correct Ans : C

Q.No: 125 Which of the following is a non-benzenoid compound?

2404236
Fraffed & 4 S T TH-seiise A g2
Aniline

A
L )

B Naphthalene
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ABUA
Azulene
C
Tropolone
D

Correct Ans : D

Q.No: 126 If x + 4, 6x - 2 and 9x — 4 are three consecutive terms of an arithmetic progression, then find x.

2404651
& x + 4, 6x - 2 3R 9x - 4 T FARR Joft & 7 BTG ug &, @ x 71 PRI
2
A
2
4
B
4
6
c
6
8
D
8

Correct Ans : A

Q.No: 127 In an AP the first term is 7 and the common difference is 2. Find the fifteenth term.
2404652

T AR Joft & Ugel Ug 7 R FHARG Ual & i SR 2 31 Usgdl Ug 1 B

35
A

35

33
B

33

37
C

37

29
D

29

Correct Ans : A

Q.No: 128 Which term of the arithmetic progression 2,6,10 ....is 106?

2404653
FrieR oft 2,6,10 ... BT P T UG 106 8?2
25
A
25
26
B
26
27
C
27
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D 28

28

Correct Ans : C

(224’\(‘10461522 Find the 10 term of the arithmetic progression whose 4% term 1s 7 and whose 17 term is 72.

TR ARt BT 106 TS d BT et =T Ug 7 8 quT 1747 Ue 72 81

32
A

32

37
B

37

42
C

42

47
D

47

Correct Ans : B

Q.No: 130

2404655 The 67 term of an arithmetic progression 1s 15 times the fourth term of the series. Find the 21%

term, if the 11% term is 23.

TH THIR A7t &7 6737 Ug, it & 9 U &7 15 A 81 219 U 10 S, A 1197 Ug 23 B

37
A

37

43
B

43

49
C

49

55
D

55

Correct Ans : B

Q.No: 131 If the sum to 37 terms of an arithmetic progression is 703, then find the middle term of the arithmetic progression.
2404656

I T TEIR Joft F 37 TSk &1 AT 703 B, O TR ARt BT T Ug J1d i

34
A

34

17
B

17

38
C

38
D 19
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19

Correct Ans : D

Q.No: 132 The sum of the first 30 terms of an arithmetic progression is 40. The sum of its first 60 terms is also

2404657 44 Find the sum of its 31* and 60% terms.
TF iR Joft F UBS 30 UGT BT INT 40 §1 THS UgA 60 UGT BT ATt 40 T1 $9F 319 SR 609 UGt T T 1T HifvTUI
o
A
o
600
B
600
40
C
40
1200
D
1200

Correct Ans : C

.No: 133 . .32 .77
(22404658 Find the sum up to 25 terms of the AP whose first term 1s " and 252 term i3 e

TR A7 3 25 UaT T @1 aRT I S fomsT Uger g %%aﬁ?zsﬁm?%

240
A

240

270
B

270

250
[

250

120
D

120

Correct Ans : C

Q.No: 134 Find the smallest of the three numbers in arithmetic progression, if the product of the first and the third numbers is 252 and the sum of the three numbers is 48.
2404659

TP JHR Aot F i et # I wed SIe) Te i PIvTE, Al ugeh iR R e &7 TS 252 8 3R diF) SReai o1 i 48 B

10
A

10

12
B

12

14
C

14

16
D

16

Correct Ans : C
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Q.No: 135 How many terms of the A.P. 2, 4, 6,.... must be taken so that the sum may be 156?

2404660
IR I 2, 4, 6,... P fFaa ug for ST =g aIfes 91 AT 156 & 1T 2
13
A
13
12
B
12
11
C
11
20
D
20

Correct Ans : B

Q.No: 136 Find the sum of all two-digit numbers which leave a remainder of 3 when divided by 7.

2404661

I Tt 3 sfpt Bt Femall BT AT F1d B B 7 F v o3 W Aved 3 T B

576
A

576

624
B

627

676
c

676

686
D

686

Correct Ans : C

Q.No: 137 What is the arithmetic mean of the arithmetic progression 3, 7, 11, 15, 19, 23, 27, 31?
2404662

WW& 7,11, 15,19, 23, 27, 31? &1 GHGR A1 1 gATT?

15
A

15

17
B

17

19
C

19

13
D

13

Correct Ans : B

Q.No: 138 The sum of the first 71 terms of an arithmetic progression is 0. Which of the following terms must be 0?
2404663
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TH FHRR J0t & Ugd 71 el &1 AW 0 71 Fmfafad § 9 o9 9 ue 0 g aifge

18%
A

18%

19%
B

19%

jgn
C

g

3T
D

37

Correct Ans : C

Q.No: 139 The sum of 3 numbers in AP is 18 and the product of the extreme terms is 20. Find the largest number.
2404664

TR 9ot & 3 TReafl &7 INT 18 § SR TR UGl BT [UABE 20 71 IS S G-I 1 Pion|

6
A

6

8
B

8

10
C

10

12
D

12

Correct Ans : C

Q.No: 140 The sum of five terms of an arithmetic progression is 70. The product of the extreme terms is 132. Find the largest term.
2404665

TH FHIGR ATt & UFF UGT BT AT 70 B| TRA UST BT OHHT 132 T IS 991 UG 1d PO |

20
A

20

18
B

18

22
C

22

24
D

24

Correct Ans : C

Q.No: 141 If between numbers 1 to 5, 8 A.M.’s are inserted, then sum of A.M.’s is:
2404666

I T 1 ¥ 5 F fi7, 8 THNR H1ed W O §, A GHIRR T1ed HT INT 3
A 12
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12

24

24
18

18

Correct Ans : C

Q.No: 142 1If al,a2,a3, .....,al5 are in A.P. and al+a8+al5 = 15, then a2+a3+a8+al3+al4 is equal to:

2404667

I a1, a2, a3,.....,al5 TARR J07 F § 3R a1+a8+al5 = 15, @ a2+a3+a8+al3+als T AF Q:

25
A

25

35
B

35

10
c

10

15
D

15

Correct Ans : A

Q.No: 143 Find the sum of the terms of the arithmetic progression whose first term, last term and common difference is 3,101 and 7 respectively.
2404668

T IR Joft & Ut HT AN F1T P Tt w2H U, ifad ug 3R UeaR HH: 3,101 3R 7 71

750
A

750

720
B

720

780
C

780

810
D

810

Correct Ans : C

Q.No: 144 The sixth term and the eleventh term of an arithmetic progression are 30 and 55 respectively. Find the twenty-first term of the series.
2404669

THh JHR A0 BT ST Ug 3R TRGa! U8 HH: 30 R 55 T A0ft &7 390 19at UG J1d BT

1
88—
3
A
1
88—
3
B 105
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105
110
C
110
2_
D
1
92—
2

Correct Ans : B
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Q.No: 145 The sum of n terms of two series in A P. are in the ratio of (70-17) : (4n + 16). Find the ratio of their

21 terms.

FoR 9ot 7 & gaansit & n UG BT AR (7n-17) : (4n + 16) F U H §1 I9% 213 UaT HT U 71d o |

2404670

3:
A

3:

4:
B

4:

5:
C

5:

4:
D

4:

Correct Ans : A

Q.No: 146

2404671 Ifthe ratio between the sum of n terms of two A P's 1s

1s:

2

5

(Zn+3)

(@nia) then the ratio between their 10th terms

afe; S TR A o T A S T g a2 3 I 103 et 3 o T g

&

40

61

40
61

41
61

41
61

41
60

41
60

20
41

20

41

Correct Ans : B

(3n+4)
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Q.No: 147  In a GP the first term 1s 4 and the common ratio is 2. What 1s the 6% tenm?
2404672

T TUR Aot F ugen ue 4 3R 91 3quTd 2 §1 T30 US A 82

32
A

32

256
B

256

128
C

128

64
D

64

Correct Ans : C

Q.No: 148 : - H = ; =9
2404673 Which term of the geometric progression 4, 42 .8 ... 15642 7

TORR S0t 4, 4028 . BB UUE 6442 32

8
A

8

9
B

9

10
[

10

12
D

12

Correct Ans : C

Q.No: 149 If 4th and 5th term of a G.P. are 2 and 8 respectively, then the product of the 1st 8 terms is:

2404684

g foreft TuireR Aot 7 AT SR UiwaT Ug R 2 3IR 8 ¥, o Ugd 8 Uel ol UK §:

16%
A

168

SS
B

SS

48
[

43

63
D

69

Correct Ans : C
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.No: 150 . . . 3 9 27
8404687 Find the sum of infimty of 1, 2 Te%ea

1.%,12_"_%3@%25@11%&%@

6’

[

2

Wl B »

W]

2

3

Correct Ans : B

Q.No: 151 Which law of Kepler is known as the law of areal velocity?
2405368

PR P 5 fFrom B sy a1 o1 fag $ed 82

First Rule
A

A fam

Second Rule
B

ficita fram

Third Rule
C

ira Fram

Fourth Rule
D

e P

Correct Ans : B

Q.No: 152 The value of escape velocity is how many times the value of orbital velocity?

2405369

AR 37 1 0 FelT I & A1 BT a1 A1 ghar g2

2
A
2
\."E
B
V2
3
C
3
D V3
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V3

Correct Ans : B

Q.No: 153 Which option is not correct regarding change in the value of gravitational acceleration "g"?

2405370

Tl @R "g" ¥ A F uRad # URadH & T H $H T b 9 e 82

The value of g decreases on going up or down from the surface of the earth.
A

gft 3t WaE SR A1 AR T W g T A g 3

The value of 'g' is maximum at the pole of the earth.
B

'g" &1 A HewH Jull & 4 (pole) W g 81

The value of 'g' is minimum at equator.
C

‘g’ Wﬁﬁwﬁwm (equator) ‘N'ﬁﬁ?ﬂ%l

The value of 'g' increases as the rotational speed of the earth increases.
D

gt Y Ui 7Y 967 W 'g" B AH 9¢ Il g

Correct Ans : D

Q.No: 154 On which of the following quantities does the time period of a simple pendulum depend?

2405371
W I P Madepra e 7 ¥ few IR W Rk w22
Length of the pendulum and mass of the object
A
Wi 3 qETE IR TG BT FHHA
Length of the pendulum and Gravitational acceleration
B
e 3 T IR ToT @R
Gravitational acceleration and mass of the object
Cc
THT RO AR T BT ST
Length of the pendulum, Gravitational acceleration and mass of the object
D

de P TS, oA @R R TG BT FoqHH

Correct Ans : B

Q.No: 155 The period of revolution of a satellite does not depend on which of the following?
2405372

IUUE HT uRHuSTE 8 H A g R R 78 o=ar 32
Orbital Velocity

A

Heflg A

Circumference of the orbit
B

Ha B IR

Height above earth level
C

gt 7 @ S

Mass of the satellite
D

JUUE Bl A

Correct Ans : D

Q.No: 156 Which of the following statement is not correct?
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2405373

5 8 3 T Hu TR TR 2

When the lift goes up, the apparent weight of the person is more than the actual weight.
A

w9 Ride SR Y 3R ot § o e &1 et UR arafde YR & e g ¥

When the lift goes down, the apparent weight of the person is less than the actual weight.
B

v e 1 3 3R it § o wafF 7 st HR IRl YR ¥ FH S 3

Kepler's third law is also called the law of time period.
Cc

PR & qia Figm i e o1 Faw o wea 2

Each planet revolves around the Sun in a circular direction.
D

TP e T & IR R TAPR s & gaw) A

Correct Ans : D

Q.No: 157 Which of the following statements regarding the viscosity of liquids is not correct?

2405376

g & B T S Sl B I § T € e 82

The viscosity of liquids decreases with increase in temperature.
A

A9 967 TR gal &) T ue S §

The viscosity of an ideal liquid is zero.
B

e TR P I I AR ¥

Viscosity of gases decreases with increase in temperature.
C

Y e R 4 P W 9 S 3

The unit of viscosity is the poise or pascal /second
D

QUTeTAT hT ShTS TATSH AT IEdhel A0S gldT &

Correct Ans : C

Q.No: 158 According to which of the following laws, the sum of the total energy per unit volume i.e. pressure, potential energy and kinetic energy remains constant at every pc
2405377 n the path of the liquid?

o B frg From & S8R @a & An & & g W Ul taie simaa 3t pot St sl o, fRufast et sik fat Suif &1 vt faa vgar 22

Bernoulli's Principle

A
e & Rigia
Pascal's Law
B
e & faw
Archimedes' Principle
Cc
fbreie & Rgia
Hooke's Law
D

7 & fFam

Correct Ans : A

Q.No: 159 Which of the following examples is based on "Bernoulli's principle"?
2405378

g & PBI |1 IaTerur “sHfel F Rigia” W aneid 81
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A Manometer

e

Venturimeter

Fgdiiex

Hydraulic brake

BRGNP 3B

Floating ship

STETST BT RAT

Correct Ans : B

Q.No: 160 “When an object is immersed wholly or partially in a liquid, a decrease in its weight is felt. “This apparent reduction in weight is equal to the weight of the fluid
2405379 (jsplaced by the object”. Whose theory is this?

ST P I [ 5@ B g arya i TU Y G Ot B, @ 39S YR H FH! P MU T 81 “UR F U8 MURR FH I FRT T M Fd F UR F SRR gt 871 T8 Riid s

Bernoulli's Principle

A
e & Rigia
Pascal's Law
B
e & fEm
Archimedes' Principle
C
fHHd & Rrgia
Hooke's Law
D

75 & fFm

Correct Ans : C

Q.No: 161 Which statement regarding relative density is not correct?

2405380
SMUfEF o7 & T I W FUT g1 T8 97
The ratio of the density of a substance and the density of water is called relative density.
A
fret verd & T 3R W & T ¥ U Bl M T Fed B
This is a dimensionless quantity.
B
7% & e I 31
Pure water has a relative density of 1 at 4 °C.
C
T o 1 4 Fo ARy W Mt v 1 S 1
This is a vector quantity.
D

Ig U IRewT AR B

Correct Ans : D

Q.No: 162 Hygrometer instrument is used to measure

2405381
TR SUGRU BT W o F e o 1
Specific gravity of milk
A
T 7 faftrg e
Crinbmnn bamcinm AF Hanidn
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SulIaLc LSHSIVI UL ITjuiud

B
%dl &1 Y8 o1 g
Relative Density of Liquids
Cc
%1 P MR T
Atmospheric Humidity
D

FHSHT sk

Correct Ans : D

Q.No: 163 Hydrometer instrument is used to measure

2405382
FIESITICR IYHRT T WA Ao & fopan S &1
Viscosity of liquids
A
%a1 3 TaEa
Surface tension of liquids
B
%dl &1 48 o1
Relative Density of Liquids
C
% 1 Smiféie
Atmospheric Humidity
D

qrgHedg Srdar

Correct Ans : C

Q.No: 164 Which statement is not correct regarding relative density?

2405383
Mifdre o & TR B N 91 BT Tl el 82
In all the calculations of relative density, the density of water is taken at 4 degrees only.
A
e o 1 Wt TS F o 1 ol 4 TSl Wt forn o 21
The density of water is maximum at 4 degrees.
B
4 & R @ 1 979 3fFHaw &l 31
The volume of water is minimum at 4 degrees.
C
4 &M R & P SR TaH &l 81
Density of water decreases when it goes below 4 degrees.
D

4 T A 9= oR R v & o e 81

Correct Ans : D

Q.No: 165 All members found in the kingdom Animalia are Organisms.
2406133
R o AT TR g e e SR
Multicellular
A
Unicellular
B
TFHIRET
C Bicellular
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Rt

Cellular

PIRBT

Correct Ans : A

Q.No: 166 Many countries are the good producer of honey in the world but the higher producer is .........

2406134
fay 7 < I T F D IAGH € AD I ITCP ..o ?
India
A
HRd
Mexico
B
EIESE]
China
C
==
Sri Lanka
D
Eiscal

Correct Ans : C

Q.No: 167 Which type of circulatory system is found in cockroach?

2406135
Fira & f5g UHR T URGER! o TR S 87
Closed circulatory system
A
Open circulatory system
B
T IRER
Both open and closed circulatory system
Cc
Neither open nor closed circulatory system
D

T g 3R 7 § dg uReRo dF

Correct Ans : B

Q.No: 168 What is the number of symmetries found in the animal kingdom?

2406136
g SR & g W arelt Tefify @ S o 72
One
A
e
Two
B
q
Three
c
Gk
Four
D
TR
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Correct Ans : C

Q.No: 169 The largest phylum in the animal kingdom is

2406137
i ST T qE FST 6 gl
Annelida

A
T
Arthropoda

B
et (AfRaTe)
Mollusca

C
Hrerept
Chordata

D
Hida

Correct Ans : B

Q.No: 170 The country which is capable to produce all the 5 types of commercial silk is

2406138
T 5 TPR & OIS I BT IETGT B § WeH I HH-90 2
China
A
ikl
India
B
HRAd
Pakistan
C
RucES i)
Nepal
D
T

Correct Ans : B

Q.No: 171 The insect body part which is not included under cellular part.

2406139
BT IR & ST N FIRST WA & S =i TaF B &
Legs
A
xR
Cuticle
B
oot (Fgfewa)
Antenna
C
o
Thorax
D
4Rew

Correct Ans : B

Q.No: 172 Pteropus/fruit bats are the member of phylum chordata and class ...........
2406140
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HRIU/1pe IT BIEaH Hlracl AR aif ..., F TEw 7

Reptilia
A
wigy
Aves
B
@
Mammalia
C
YR
Amphibia
D
Lo

Correct Ans : D

Q.No: 173 type of reproductive system is found in earthworm.
2406141
S Fu d YHR B - aF TR Sl 1
Female
A
HiaT
Heterogamous
B
[CLEica
Male
C
G

Hermaphrodite

Iyafertt

Correct Ans : D

Q.No: 174 Third Generation Term Pesticides refers to

2406142
¥S T o dfeursew I efifq Fear 31
Moulting hormones
A
IR BT
Anti moulting hormones
B
T AT g
Juvenile hormones
C
fPeR T
Anti juvenile hormones
D

fepie et gmift

Correct Ans : C

Q.No: 175 Nodal agency for issuing import permit of ICAR is

2406143
AR P ST e TR B & Y Arsat Tordt gl
NBPGR (New Delhi)

A
TeieheR (7% Rt

B
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NBAGR (Karnal)

TSR (FRT)

NBAII (Bangalore)
C

TEegans (FTER)

NBFGR (Lucknow)
D

THUHESSR (TETS)

Correct Ans : A

Q.No: 176 1In which class green gland are present?

2406144
9 v frw af & i oht &2
Arachnids
A
SRR
Crustaceans
B
PRRE
Diplopoda
Cc
fewirdrer
Chilopoda
D
frefidrsT

Correct Ans : B

Q.No: 177 Class insecta (hexapoda) belong to the subphylum.
2406145
i Fle (It IUT § Gefid 2
Trilobita
A
ECIUEEI
Chelicerata
B
TefreRTer
Crustacea
C
Eauii]
Uniramia
D
gt

Correct Ans : D

Q.No: 178 Who proposed the broad classification of Animal Kingdom?
2406146

U] TS & AT aTifen=ul o1 TdTa e faar?

Hymen
A
T
Aristotle
B
SRE
C Linnaeus
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fafer

Darwin

SEE]

Correct Ans : C

Q.No: 179 The respiratory organ found in Arachnida is
2406147

SRIST & UIT SR a1 4% 3T &
Book lungs
A
s g
Trachea
B
EISER)
Cuticle
C
Bt
Both Book lungs and Trachea
D

TP e SR Arae g

Correct Ans : A

Q.No: 180 Name the biggest insect?

2406148
T &S Bl BT AW FAT?
Giant Atlas Moth
A
famerem Teay wdm
Goliath beetle
B
it diea
Desert Locust
Cc
St fegh
Ladybugs
D
LSELE

Correct Ans : A

Q.No: 181 1India’s which state produce maximum lac

2406149
HRA BT P 1 I HfFTH TR HT IAET Bl 82
Jharkhand
A
IRES
Bihar
B
SR
Rajasthan
C
RIEISIE
Madhya Pradesh
D

e TR
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Correct Ans : A

Q.No: 182 Tukra disease in mulberry caused by

2406150

TRdd & g1 AT ad HRU BT 87

Mealy bug (Maconellicoccus hirsutus)
A

et &1 (APRRIBIRY Red)

Dermestid beetles (Dermestes cadeverinus)
B

sfRs dica (sHey FeakTa)

Uzi fly (Exorista sorbillans)
C

It T, (TR o)

Silk worm
D

=W g

Correct Ans : A

Q.No: 183 Name the state which produce raw silk in India

2406151
I T BT ATH TARY S R & He I8 T I Bl 3
Karnataka
A
FAlcd
Rajasthan
B
RIENIE]
Madhya Pradesh
C
A U
Tamil Nadu
D
aftrerg

Correct Ans : A

Q.No: 184 Name the lepidopteran predator of lac

2406152

T F ARSI et F1 A TR

Black enemy of lac (Holococera pulverea)
A

TG BI PIel G (SADRRT Jerafa)

White enemy of lac (Eublemma amabilis)
B

TR 1 GG G (e SrTfafer)

Green lacewing (Chrysoperla zastrowii sillemi)
C

P T (PreRar wrgrdl Ried)

Lady bird beetle (Cocena beetle septempunctata)
D

A 5 dicd (S steat ApAUDEren)

Correct Ans : A

Q.No: 185 Name the first noxious insect-
2406153
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g BIMGRS BIc $T A1 Farsa-

Termite

e

Locust

fet

Aphid

Mites

TR

Correct Ans : A

Q.No: 186 What is the scientific name of desert locust?

2406154
e o) o1 e W @ g2
Scistocera gregaria
A
R ke
Locusta migratoria
B
fegr mmgdifean
Locusta pardalina
C
fegr waferT (13 feg)
Nomadacris septemfasciata
D

Y AHBIRISHTET

Correct Ans : A

Q.No: 187 Who is the father of modern beekeeping in India?

2406155
YR § eyfis AYHaE UIeH BT S HH & ?
L.L. Langstroth
A
T T AT
A.S. Atwal
B
T.TH. 3fearelt
P. Viji
Cc
0. fafse
Reverend William Kirby
D

ats fafe faelf

Correct Ans : A

Q.No: 188 How much sugar is present in honey?

2406156
wrge # frat I+ gt 32
882

A
88%
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B 78%

78%

54%
C

54%

23%
D

23%

Correct Ans : B

Q.No: 189 Johnston’s organ is present on ?
2406157
ST BT ST R IS el 87
Scape
A
@y
Pedicel
B
¥Ha
Coxa
Cc
Hler
Trochanter
D
[HEL

Correct Ans : B

Q.No: 190 Lac insect is:
2406158

G PIE 7:

Laccifer lacca
A

AR TP

Bombyx mori
B

S AR

Antherea cernyi
C

fe

Laccifer Lacca
D

ARAER 5T

Correct Ans : A

Q.No: 191 What is the value of atmospheric pressure at sea level?

2408063
IS 1§ BT A THE 0 W [T 81 32
0980.00 millibar
A
0980.00 ficfieR
1000.00 millibar
B

1000.00 frefisR
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c 1013.25 millibar

1013.25 iR

1076.25 millibar

1076.25 fircfilaR

Correct Ans : C

Q.No: 192 What is the correct relation between the units of atmospheric pressure "bar" and "pascal"?

2408064
IGHSANT 9 F AEG TR R URGA” F T TE T §?
1 bar = 10% pascal
A
1 91 = 102 gl
1 bar = 10° pascal
B
1 g = 10° Uhel
1 bar = 10* pascal
C
1 91 = 10* ORhel
1 bar = 107 pascal
D

1 ¥R = 10° 9Rhed

Correct Ans : D

Q.No: 193 Pascal, the unit of atmospheric pressure, is equal to how many newtons per square meter?

2408065

JHSA <19 BT AEE  URGd fa- e Ui T Hiex F IR ghm 82

1 newton per square meter
A

1 =g v & iex

10° Newton per square meter
B

10° et wfa @t drex

10* Newton per square meter
Cc

10* =gt wfa et #ex

107 Newton per square meter
D

10° =gget ufd &t #Hex

Correct Ans : A

Q.No: 194 Which of the following quantities is measured by barometer?
2408066

Rifiex I g & I F A B A7 9@ 82
Atmospheric pressure
IgHSHY ae
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B Fluid Pressure

%4 q§

Pressure less than atmospheric pressure

TEHSH &9 ¥ HH qE

Density of Liquid

%d @1 ¥icd

Correct Ans : A

Q.No: 195 Ink pens start leaking in aircraft because.............

2408067

JgE ¥ WE a1 37 i B I B, A I

At higher altitudes the atmospheric pressure increases.
A

it FuE W argHedY e w¢ i gl

At higher altitude the atmospheric pressure decreases.
B

e FHar W agHSd e B g ST B

The acceleration due to gravity decreases at higher altitudes.
Cc

e FHaTE W [oediy @RI U STl B

The density of the ink decreases at higher altitudes.
D

3t HuE W W T ¥ U Sl 21

Correct Ans : B

Q.No: 196 Which of the following statements regarding atmospheric pressure is not correct?
2408068

s T & T i § F P 91 B 8 T 82

Barometer is used to measure atmospheric pressure.

A
FfieR BT W argHSHY g1 $Y Aa § e S 71
Barograph is used to record atmospheric pressure.
B
RIUE BT TANT agHSH e B Rais w1 | far o 21
The value of atmospheric pressure increases when you go higher than the earth level.
C
ot 9@ 9§ S SR W T R IRHSTHIY &6 BT A Fgdl 3
There is a possibility of storm or storm due to sudden decrease in air pressure at some place.
D

el ®H W ageE A saFE Bt o  oifelt a1 B oM F YRITGT et 71

Correct Ans : C

Q.No: 197 The flow of air is ............. ?
2408069

From low air pressure to high air pressure

A

44 arg <19 ¥ I g T B AR

From high air pressure to low air pressure
B

I 91 7§ ¥ 9 91g 79 Ft ek
C From low air density to high air density
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7 9g T ¥ S 9 T @Y SR

From high air density to low air density

I I 9@ § 9 9 9@ @7 SR

Correct Ans : B

Q.No: 198 Which one of the following options is not correct regarding the intensity of the electric field?

2408071

faqyd & #t figm & T & e & § 39 91 fiwer et 78 82

The force acting on a unit positive charge located at any point in the electric field is called the electric field intensity.
A

faqya & & frelt iy W R Toie o7 3w W Prfva 5 faqyd &7 3t digar Heam o

The electric field intensity of a hollow sphere is infinite.
B

oot wiedt Tt 3t faqga &F 3t fea o1 9 orFd B B

When a hollow sphere is charged, the entire charge remains on the surface of the sphere.
C

BrEa M B ARG FIA TR Tyl 199 M BT g W @Al 3

The hollow sphere acts as an electrostatic shield.
D

e i fRR figyd ufRe® Ft vify 3t e B Ha 3

Correct Ans : B

Q.No: 199 Which one of the following options is not correct regarding the capacitance of the capacitor?

2408072

Tenfea 3 uiikar & It e # § S 9 e 8 1 82

The capacitance of the capacitor increases by increasing the area of the capacitor plates.
A

TR el BT A d e TR YR 3T y1fkar 96 Wit § |

The capacitance of the capacitor decreases as the distance between the capacitor plates decreases.
B

Ty wiet & T BT g8 FH FA R GUIRA Bt o1kl 7 A IR0 T |

Capacitor The capacitance of a capacitor increases when a medium of high dielectric constant is placed between the plates of the capacitor.
C

e Guia 1 @t & fT oifie Widi® o1 Mo [@ W Iq@! 41kl 9 ot 8 |

Use of Capacitor
D

Gy 1w

Correct Ans : D

Q.No: 200 The capacitance of a capacitor does not depend on which of the following quantities?

2408073
Tt ot eiRar e & g i = R 78 awelt 22
On the area of the plates
A
W F & R
At the distance between the plates
B
QA F I A QR
On the material of the plates
C
@ & garf W
D On the medium between the plates
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wiel & §9 & A )

Correct Ans : C
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Q.No: 1 Choose statement for-

2406211
A+B= C+D
TP U Fu -
A+B= C+D
In equilibri Oc=Kc& QO —[C][D]
quilibrium, Qc = QOc=
[4][5]
A
: (€][2]
HqTTH, Oc= Ke & Oc =
[4][2]
In equilibri QOc=—-Kr & O —[C][D]
quilibrium, Q= Qe =
[4][2]
B
; [€][2]
TEH, Qc=—Ke & QOc =
[4][2]
In equilibrium, Qc = i & QOc= [A][B]
Ke [€l[2]
C
- Lo, 2]
FEETH, Oc=— & Qc =
Ke [€][7]
in equilibrium, Qc = _—l & QOc= [A][B]
Ke [€]l2]
D
- 1o, [A2]
FqETH, Oc=— & Qc =
Ke [€lln]
Correct Ans : A
Q.No: 2
2406216 In the manufacture of quick line by of CaCQO:, the gaseous CO; is allowed to
escape.
feFaeh eiget & fasfoT#, caco, & @, 3 co, F Ao TS 1
CaO, combination
A
Ca0, T4
CaOH, decomposition
B
CaOH, 3{UgcH
CaO, decomposition
(o}

CaO, 3quc
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D CaOH, combination

CaOH, TasH

Correct Ans : C

31Fer 3T & & T &, 9o B A/ N Vi (=N Vs

2406219 M2 mixture of acid and base, resultant is if N2V, (base) = N; V; (acid)

FFer AR &TR & fEsor &, afvona grarg Afg N, vy () >Ny Vi @3TFeT)

Q.No: 3
2406218
_ NV =NV,
Ktk
(&T)
_NK-NY
— h
acidic, [OH']
A
3wt [OH™ |
basic, [H'_:O':I
B
&R, [H,0"
acidic, [H_:O']
C
3wy, [ H,0 |
basic, [OH_:I
D
&R, [OH" |
Correct Ans : C
Q.No: 4
_ N =N
A
_ N -NF,
A
acidic, I:OH':I
A
3w, [OH |
basic, [H_:O_:I
B
&R, [H,0"
acidic, [H_:O']
C
3wy, [H,07 |
D
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basic, [OH':I

&R, [0H™]

Correct Ans : D

Q.No: 5 Choose correct options:

2406223 — - -
(i) Henry’s law (a) Co,(g) = Co, (in solutions)
(ii) Solubility (®) H:O(f] =2 .H:O(g]
(iii) vapour pressure (c) (sugar) solid = sugar (in solutions)
T fashed -
(0) g 7 fetarsy (a) Co,(g) = Co, (T )
(ii) EeTeT et ) 0= H,0(g)
(iii) AT g (c) (=t o dielt (T )
(i | (i) | Gid)
a b c
A
(D | @) | Gid
a b c
@ | Gi) | (i)
b c a
B
(@ | (D) | (i)
b c a
() | G [ Gid
c b a
C
@) | G [ Gid
c b a
@@ | Gi) | Gii)
b a c
D

@ | (i) | (i)

Correct Ans : A

Q.No: 6 In given equation
2406228

In given equation K, [A][B] =K, [(][D] , choice correct statement regarding K, and K, .
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GuaeaAsoT A K, [4][B]= K, [C][D] 9% G w0 & @I A K, 3K, .

At constant temperature, K, and K,. are constant.

A
R aEe W, K, 3K, TR E
At constant temperature, K, is constant, K is variable.
B
R AT W, K, TR g, K, IRadaefia g1
At constant temperature, K., is constant but K, is variable.
c
e A W, K, R & oifehet K, 9Radarsiier 81
At constant temperature both K, and K, varies.
D

TR dT9A WK, AT K, Feerar BT

Correct Ans : A

Sa0eas1 K, =K (P)" =

Choose correct statement regarding An
@n,—n,

i n, —n,

(iii) it can not be zero

(iv)itcanbe zero

K, =K (P)"=

Anzy Feer 7 TET U FT AT B
1) n,—n,

Gi) 1, =,

(iif) UG Y= +TET §1 Fehell

(iv) TE T & TFAT &

(i) and (iii)

(i) 3R (iii)
(i) and (iv)

(i) 3R (iv)
(ii) and (iii)

(i) 3R (iii)
(ii) and (iv)

(ii) 3R (iv)

Correct Ans : B

Q.No: 8
2406239
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Choose incorrect option:

In reaction, C'aC'o_t(s]‘——‘ C(;O(.v)+Co: (g)

P [C'aO{s]][C'o: (g]]
[CaCo.; (s'}]

(i) CaO(s)=1
(i) Co,(g)=1

(i) CaCo,(s)=1

et faehed gei-
gfafssar & CaCo,(s)= CaO(s)+Co,(g)

[CaO(s)][Co,(g)]
[('{JCH; (G]J

(i) CaO(s)=1

(i) Co,(g)=1

(i) CaCo,(s)=1

Only (i)
A

Fad (i)

Only (ii)
B

Fad (ii)

Only (iii)
c

Fad (iii)

Both (i) and (ii)
D

3T (i) SR (i)

Correct Ans : B

Q.No: 9 What is unit of rate of a chemical reaction?

2406268
Tt wffea @ R B IR T §?
Gram per mole
A
7 ufa i
Energy consumed per mole
B
R Hiet ot 3t @uaq
Molarity per second
C
Ufa ¥5S et

Volume of gar per unit time

W 3T Ty # A A

Correct Ans : C

Q.No: 10 Effect of temperature on rate constant of reaction is -
2406271
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it aiftifhar Bt @} Fradie W AIg &1 gvE § -

Increases
A
Tgar g
Decreases
B
Tedr ¥
Remains same
C
T M §
Firstly increases then decreases
D

UEa FgaT § R gedr ¥

Correct Ans : A

2":\:;221713 A first order reaction takes 40 min for 30% decomposition. Whatisty;?
o1 hife 1 ITARRAT 7 30% 319esT 7 40 Fole & GHT ST 1 ty,, FATE?
67.2 min
A
67.2 fiFe
50.1 min
B
50.1 fiFe
77.7 min
c
77.7 fiFe
87 min
D
87 fire

Correct Ans : C

Q.No: 12 Exact representation of arrehenius equation is -
2406285

3REFTY TR BT Ge R § -
K==Ae-Ea’KT
A
K==Ae-Ea/KT
t12==0.693'k
B
t12==0693/k
k==AFa/kT
o
k==AFa/kT
t =2.303Klog [A0A]
D

t =2.303Klog [A0A]

Correct Ans : A

Q.No: 13
2407253
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A radioactive element has decay constant 6.93x10*sec™ . Its life period in seconds is:

e fEareEt doa o1 a7 Fradie 6.93x107 sec” BT &1 WS 3 SHHT st el &

90
A

90

200
B

200

100
C

100

125
D

125

Correct Ans : C

Q.No: 14
2407260 yWhat is the disintegration rate of 30 mg of “S;-w isotope? (£, of . Sr™ =28 years)

30 ﬁﬁwmmsr“"wuﬁﬁﬁaﬁrﬁatﬂ qrFITR? (4, T 5 Sr70=28 )

5

1.57%10"
A

1.57x10"

1.9%10"
B

1.9%10"

2.5x10"
C

2.5%10"

2.9%10"
D

2.9x%10"

Correct Ans : A

Q.No: 15 Choose the correct statements:
2407261

140

(i) on' +oy 1™ =, xe'" +. Sr* +2 0’ isnota nuclear fission reaction

i
(ii) Tritium has a half-life of 12.5 yundergoing § -decay 1 of a sample of pure tritium will
remain undecayed after 25y 4

(iii) The ¢ [/ ¥ Undergoing @-decay is 4.5x10°y then 1.23x10" s is the activity of 1
2 of 02 going y ¥ g
0

sample of al 38

?I'Eﬂib‘ﬂ'—{iﬁ
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(i) o'+t o xe 4 SP +2 0" v ] fawee afafFar g

(i) fefezm v amensias 125 v €, o€ R & 7w & o/ L IR @M. 257 F
a1g SIRafda wam
ity £, & U™ TG Al T H 4.5x10° Y Far 1.23x10" s U™ &1 gy &

arfdfatea &

Only (i)
A

e (i)

Only (ii)
B

Fad (i)

Both (i) and (ii)
C

A (i) 3R (i)

Both (ii) and (iii)
D

3T (i) 3R (iii)

Correct Ans : D

Q.No: 16 Amit learnt a topic in his chemistry class and discovered two types of carbon atom. One is carbon-13 and other is carbon-14 atom. What are such atoms of same
2407401 element known as?

HfErd J T 37 @1 Hem & U vy W 3iwrgH 5 9k & UBR & Hle TRATY 31 WIS B Th Ble-13 3R GERT BEA-14 WY 1 TH & 9 F T WA H1 R Hgd 82

Isobars
A

RS

Isotopes
B

TS

Isotones
C

FAYGEID

Isobars and isotones
D

YIRS 3R TS

Correct Ans : B

Q.No: 17 Which of following is true as per Rutherford’s model of atom?
2407404

Fofied & ¥ $ T HUT ITXBIS & WA ATSd F S8R Id 82

atom consist of nucleus which contains neutrons and protons while electrons are embedded in it.

A

TRATY F A g @ o e oIk Wi 8 § el s s efafifed 8 7

atom consist of nucleus carrying positive charge in which mass of atom is concentrated and an extra-nuclear part carrying positive charge
B

TRy F R B § R T Siaw ST © R TREIY BT Sorm $ikd ST 8 SR YT ST 9Tl U SifaRad-URaTg g 81

atom consist of nucleus carrying positive charge in which mass of atom is concentrated and an extra-nuclear part carrying negative charge
C

W] & A S & R e S giar § R TRy &1 g $fad Sia1 ¥ SR et 13 aTa U Sifaied-ORuTg Wi ST 81

atom consist of nucleus carrying negative charge in which mass of atom is concentrated and an extra-nuclear part carrying positive charge
D

TRANY F HUNETH A TS TS BIA & R TRATY BT S| Hid BT & iR U ifaRad-u=am) 4 & 4Fres 3maw g 31

Correct Ans : C
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Q.No: 18 What are the total number of orbitals associated with n=1 and n=4?

2407417
n=1 3R n=4 I I3 3fffce (Herl) B pa e 71 22
4,2
A
4,2
8,2
B
8,2
1,16
c
1,16
2,16
D
2,16

Correct Ans : C

Q.No: 19 Choose correct statement with respect to orbital

2407423

fifec(Hed) F Ty H Tel FUF A

Orbit and orbitals are synonymous
A

Fa AR Hew wafgar

They have circular shape
B

T8 MABR 3R & B ¢

Characterised by set of three quantum numbers
C

32 O PicH v F e A @l §

Its possible to find exact location and velocity of an electron in an orbital.
D

@ siffea & saac @t s RURY 3R 37 &1 var T S B

Correct Ans : C

g""\:;;lzloo Depression of freezing point (ATf) forideal solutionis directly proportional to

3TeE TErerae & TorT R Hieh i 3aaHT (ATH) & FATTITAT 81aT -

Molality

Trererar

Molarity

TeRar

Molecular volume

3Nfoad A

Constant

fraa

Correct Ans : A

Q.No: 21 Choose the correct option in reference with factors responsible for all the colligative properties:
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2408115 1. Energy difference between solvent and solute
II. Difference in the entropy between the solvent and the solute

III. Difference the entropy between solvent in the solution and the pure solvent

Tt Fuififes o & T STReTR HRBT & T § e fwed &1 957 P
1. foemas oiR fada & g ot &1 o

11. faame iR fad & &9 et § SR

111, faaee & faame ok gs faaas & &ie gerd & ofR 3%

Only II
A

Fad 11

Both I and III
B

I 3R 111 Y

Only III
c

Fad 111

Both II and III
D

II 3R 111 SFf

Correct Ans : C

Q.No: 22 determines the physical state of the in which the solution exists.
2408119

39 ifde s 3 Fuiid w=ar & fraw oo dieg g1

Solute
A

o

Solvent
B

[EEICa

Both Solute and Solvent
C

fadr SR fyars 9

Solute concentration
D

foch wigan

Correct Ans : B

S 2 17ml of 3.6MH)SO, s mixed with 21ml of 4.6 M of H;S0s, what is the molarity of mixture?
3.6M H,50:% 17ml I H,S0,4 % 4.6 M & 21ml & Grer fEemar sirare, fEserfr@leraraars?
4.04 M
A
4.04 M
4.10 M
B
4.10 M
4.60 M
C
4.60 M
D 4.15M
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4.15M

Correct Ans : D

24'\:)%42248 The reduction potential at 25°C for Fe**Fe?* electrode if the concentration of Fe*? ion is five times that
of Fe? ion [EQ, +3p,+2 = 0.77 volt ]
Fel*Fel* 3TACIS O (01T 25°C TR DH! &A1 TG Fet2 TG @1 Higdl Fet?) A @1 Uid T &
Y +2p,+2 = 0.77 dleT]
0.7288 volt
A
0.7288 diee
0.9287 volt
B
0.9287 A
1.728 volt
C
1.728 9
2.752 volt
D
2.752 @

Correct Ans : A

(221.:\:)08:42259 The rate constant of a reaction is 1.5 X 107 s~!at 50°C and 4.5 x 107 s at 100°C. The Arrchenius

parameter A and &, is

U6 UfAfPAT BT TR RBR 8 1.5 x 107 s7150°C T 3R 4.5 x 107 s~ 100°C. W 3ReATH TR 4

HR e, &

542 % 101° 571,22 k] /mol
A

542 x 101° 571 22 Ky /AT

542 % 10° s71,20 kJ /mol
B

5.42 x 10° 571,20 ky/HIA

542 % 107 s71,18 k] /mol
C

542 x 107 571,18 ky/AIA

6.42 % 101° 571,27 kJ /mol
D

6.42 x 1010 571,27 Iy /AT

Correct Ans : A

Q.No: 26  The complex ion [Cu@NH3), 127 is —
2408797

TEHA AT [Ca(NH;) 1> &

Tetrahedral and paramagnetic

IPABIY T SITEDIT

B Tetrahedral and diamagnetic
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IIHADH qUT U

Square planar and paramagnetic
C

T guadg a1 SFIgEH

Square planar and diamagnetic
D

T g T ufagEeg

Correct Ans : C

Q.No: 27

2408801 vhich is correct in the case cf[Fe(C}Iﬁ)]“— complex—

I Diamagnetic
II. Octahedral
1rr 4%sp*-hybridisation

[Fe(CNg]* Tl & HesT H Tdr & -
1 wiagrada

=

I srathedr
IL 253 Fergor

Only II

Fad 11

Both (I) and (III)

(1) 3R (111) S
Both (I) and (II)

(1) 3R (11) 3
All (I), (II) and (III)

ot (1,) (I1) 3R (I1I)

Correct Ans : D

Q.No: 28 Complexes with CN— ligands are usually —
2408802

1. High spin complexes

II. Low spin complexes

oN- ferivs g ifie aeaae g & -

1. 3 IbUT APl

11. 49 =01 G
Only I
A
FaaI
Only II
B
Fad 11
Both (I) and (II)
C
(1) 3R (11) B
Neither (I) nor (II)
D

Ta (1) T (II)

Correct Ans : B

Q.No: 29
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2408805 Hexafluorocobaltate(III) ion is found to be high spin complex, the probable hybrid state of cobalt in it is -

RGN PIETeee (I11) M I THU1 WP d ¥U & IR Sl 31 ST Blalee BT I Hahvor § -

d2sp3
A

d2sp3

sp?
B

sp3

sp3d
C

sp3d

spid?
D

sp3d?

Correct Ans : D

Q.No: 30 Red phosphorus is less reactive than yellow phosphorus because-
2408940

T BRERY, UIa BRERY S HH Harid g 8-

Its colour is red

A
TP 1 A gl &
It is highly polymerized
B
TE I SETBIDd §
It is tetratomic
C
§ TP WY §
It is hard
D
TE R BT §

Correct Ans : B

Q.No: 31 In P,O,,. the number of oxygen atoms bonded to each phosphorus atom is —
2408941

P,0,o ¥ YT BIEHRE TRATV] I Sferd Hfoiiee IRt F1ae § -

2.5
A
2.5
3
B
3
a4
C
4
5
D
5

Correct Ans : C

Q.No: 32 Mixture used in Holme's signal is -
2408942
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B Rpra & few fysor &1 SugnT favar Sar 82
CaC, and CaCly

A
CaC, AR cacly
CaCly and CazP;
B
CaCl; 31 CasP;
CaCy and CazNp
C
CaC, 3R cazNy
CaCj and CazP;
D

CaC, 3 CazP,

Correct Ans : D

Q.No: 33 }]103 is -

2408943
N,03 & -
An acidic oxide, and the anyhydride of HNO,

A
Ueh 3l Hew155 3 HNO, T T-RI53I5s
An acidic oxide, and the anhydride of H,N,0,

B
T 31l 3iTemss AR H,N,0, FTU-EEaEs
An neutral oxide, and the anydride of HNO,

C
T gt Hiedrss 3N HNO, &7 U-gIs3Iss
A basic oxide, and the anhydride of HNO,

D

Tk &TRI 3{erTSS 3R HNO, &I U-6IS5155

Correct Ans : A

Q.No: 34 Which one of the following is the strongest oxidising agent?
2408968

Fofafad & ¥ ST yeean sfeiieRs 3 -

HCIO
A

HCIO

HCIO,
B

HCIO,

HC103
C

HC103

HCIO4
D

HCIO4
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Correct Ans : A

Q.No: 35 Among the properties (2) reducing (b) oxidising (c) complexing, the set of properties shown by CN- ion
2409042 \vards metal species is —

TUTEET (a) ATATEE (D) ATFHTLE (C) HFet ST ohl T F I [OTGHT &I G, [ CN- #9220
HTg TTES & ATd S#aTSar g, A8 8 -

c a
A

c a

b, c
B

b, c

a, b
C

a, b

a, b, c
D

a, b, c

Correct Ans : A

Q.No: 36 The coordination number of a central metal atom in a complex is determined by
2409043

TS TPpal § S g IRAIY] BT IuwedeH dem Rk gl € -

The number of ligands around a metal ion bonded by sigma and pi-bonds both

A
UTg A & TRY SR Rwr SR uré-sielf & s st 3t v @
The number of ligands around a metal ion bonded by pi-bonds
B
U1g AT S TRT AR UE-dy gRI < Rifoet 3t Tem §
The number of ligands around a metal ion bonded by coordinate bonds
C
YTg A & TRT R ITEASS §Y gRI S RAvet @ wem d
The number of only anionic ligands bonded to the metal ion
D

Fad BUTHS RRIVST B T § S 41 310 § a8 &

Correct Ans : C

Q.No: 37 Which one of the following complexes in an outer orbitals complex?
2409044

il Jpol § § I TR Fa TP § ?

[Co(NH,);F*
A

[Co(NH,),}*

[Ma(CN),J-
B

[Mn(CN), -

[Fe(CN),J*-
C

[Fe(CN),J*-
D
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[Ni(NH,),

[Ni(NH,),

Correct Ans : D

Q.No: 38 The "spin-only" magnetic moment [in units of Bohr magneton] of Ni** in aqueous solution would be (At.

2409052 No. Ni =28) -

Ni2- T et (9 Tererae § “Fraer ST TFashi = A9l [61< FUeT % g e H] 747 51T

(7.%. Ni = 28)

0

1.73

1.73

2.84

2.84

4.90

4.90

Correct Ans : C

Q.No: 39 Which of the following reactions is an example of hydrogenolysis:
2409134

Frafifea & § S sifiifhar grRgoH-eHe BT ey &:

CoHg—0-CoHg —BLH280 |, ¢ H OH

CoHg—0-CoHe —BLHE0 | ¢ H OH

CHaCOOCoHs —samm CoMsOH

Lz

CHACOOC,Hs —amr CoHsOH

CH,COOH 4%, C,H-0H

CH,COOH—t&H , ¢ H-OH

CH,CHO—2%, C,H-OH

CH,CHO 2%, C,H-OH

Correct Ans : B

Q.No: 40 The compounds A, B and C in the reaction sequence :
2409135 () CHaCHO

CHiCH,OH 1B, p M2, g (HC C are given by the set -

T (i) CHaCHO
CHyCH,OH M8, A Mo, g _OM" ¢

#ATR® A, B @< ¢ Mot § & B aqgr g RE e &

A CH3CHBr, CH3CHoMgBr, (CHa)2C-OH
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CH3CH,Br, CH;CH,MgBr, (CH)2C-OH

CH4CH;Br, (CHaCH,)sMg, {CH3),CHCH,OH

B
CH3CH,Br, (CHyCHo)sMg, (CH3),CHCH,0H
CHaCHZBr, CH3CH,MgBr, CHiCH(OH)CH,CH,
C
CHaCH3Br, CHaCHoMgBr, CHyCH(OH)CH,CH
CH5CHBr,, CHCH{MgBir}),, CH;CH{OH)CH,
D

CH,CHBr, CH4CH{MgBr),. CH;CH(OH)CH;

Correct Ans : C

Q.No: 41 The reaction

2409140 OH
(SO ha + 00y —raZo . (S5coDia

is called :

EIEIERI

OH
- 120°C =
{O>—0 Na* + COp —rmogmares @S‘COO Na
ERRIC R EIEG RS

Elbs persulphate oxidation

Tesy IRAehe ST

Kolbe reaction

Bles afHfar

Reimer-Tiemann reaction

IFR-ETH Sififgar

Lederer-Manasse reaction

VSR-AF Hffepar

Correct Ans : B

Q.No: 42 Spdium phenate on heating with CO», under presssure gives mainly :
2409141

g e #5137 == 72 CO, & 97 T %37 & T Ie01= FT 94T 2

o-hydroxybenzaldehyde

A
o- m@'ﬂﬁéﬁ[ﬂ%ﬁg@
o—hydroxybenzyl alcohol
B
o~ TR Yepigia
o—hydroxybenzoic aicd
C
o- TRGIFIITH 3
o—hydroxyphenol
D

JRI
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Correct Ans : C

Q.No: 43 Which one of the following aldehyde will not form an aldol when treated with dilute NaOH :

2409181
1 & § F1 UREES 9 NaOH & Iy f3pam R TR Tt &
CH,CHO
A
CH,CHO
CH,CH,CHO
B
CH,CH,CHO
(CH,),CCHO
c
(CH,),CCHO
CgH.CH,CHO
D
C¢H.CH,CHO

Correct Ans : C

Q.No: 44 = pp organic liquid which reduces tollen’s reagent gives one semicarbazone derivative in which
2409183 - . L
36.47% Nitrogen is present. The liquid would be:

U FHlE-Ed A e AfFERAT B NI Har b | U ATl egcuee &ar g | o
36.47% HATSCISIT & &d g

CH,CHO

CH,CHO

CH,CH,CHO

CH,CH,CHO
CH3—EH ~CHO
H3
CH3—EH ~CHO
H.

CH,CH,CH,CHO

CH,CH,CH,CHO

Correct Ans : B

Q.No: 45 Formaldoxime on hydrolysis gives product, which on further reaction with baryta water gives-
2409190

PIICSIRIEH & W 3T8e § U IS Bl SRisel ot I fobar W F9T-

A Paraldehyde
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-tferss

Metaldehyde

B
Aer-uicEERS
Trioxane

C
[EECRE]
Formose

D
Lo

Correct Ans : D

Q.No: 46 A mixture of the simplest members of alkanone and alkanal families is formed on ozonolysis of which of the following compounds
2409205

Fafited ¥ @ fog aifies & 3ieiFl-31u8ed IR e quT Tedbaiel URGR & GReaH G&| BT %ol o=l §

Propyne
A

ST

Isobutylene
B

a-Butylene
C

Ci- Gqc\ \E(" Gl

3-Pentaone
D

3-U=A1

Correct Ans : B

Q:No: 47 \Which compound does not react with Bry -
2409274

FITET AT Br, & HTF ST 0AT Al 29T

Propene
A
ElLiE]
Phenyl amine
B
S e
Phenol
C
LI
Chloroform
D
FIRIBIH

Correct Ans : D

24%(;24785 Oxalic acid + Urea %) Cyclic compound Number of sp? hybridised carbon in the cyclic compound

are:

fad

. POC . . .
AT o e + AICAT — e AT AT H sp? HHIT Frae T FeAr &
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1

Correct Ans : C

Q.No: 49 This compound does not respond to carbylamine reaction:

2409277
a5 A Prfeier T aiftrfopan 33 & srmd & - ..., i il
Isopropylamine
A
STEHYS Y
-Diethylamine
B
STafe Y
t-Butylamine
C
T spfe of
Sec-Butylamine
D

fadas sgfea Tl

Correct Ans : B

Q.No: 50 Aniline is manufactured by :
2409295

APl B ohreifies Frfor % R 7 &
CgHeNO,, Fe, Hy0, HCI

A
CgHeNO,, Fe, Hy0, HCI
CgH5Cl, NH3, Cu,0

B
CgH5Cl, NH3, Cu,0
C5HNO,, Zn, NaOH

C
CsHsNO,, Zn, NaOH
CgHENO,, SnCly, HCl

D

CEHSNOQ: SnClz, HCI
Correct Ans : A

Q.No: 51 per cent of the total workforce in the country is still engaged in agricultural and allied sector activities. (Census 2011)
2405840

A B 5 FRIA BT ufard onft oft R SR Taeg &= @1 fafafer & @ gonm §1 (SFTOFT 2011)

A 45.6
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45.6
57

57

54.6

54.6

56.6

56.6

Correct Ans : C

Q.No: 52 What is the growth rate of agriculture sector at constant price during 2020-2021 (first advance estimates)?
2405841

2020-2021 (V4T HFE 3FHM) & ERH RR Ted R Y &7 3 s R 71 82

4 percent
A

4 yfo=a

3.1 percent
B

3.1y

3.8 percent
C

3.8 ufar

3.4 percent
D

3.4 vfaR

Correct Ans : D

Q.No: 53 In the year 2019-20 (as per fourth advance estimates), total food grain production in the country is estimated at record million tonnes. (Economic survey
2405842 2020-21)

¥ 2019-20 F (Y 3R TAM B ER) I H o W Ided RS fafere 1 81 &1 orgae 81 (3nffe wderor 2020-21)

296.65
A

296.65

300.5
B

300.5

294.65
C

294.65

292.65
D

292.65

Correct Ans : A

Q.No: 54 In the Union Budget for 2018-19 had announced that MSPs would be kept at the level of times of the cost of production.
2405846

2018-19 & HEN Foic H Giwon H1 2Rt fb MSPs BT SACA AFA & T & &R WR @M S|

2
A
2
B 1.5
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1.5
2.5
C
2.5
3
D
3

Correct Ans : B

Q.No: 55 What is the average sum insured per hectare under PMFBY?

2405847
PMFBY & T8d Ufd Racar Sfiaa dmr I & 32
40,000
A
40,000
30,000
B
30,000
20,000
o
20,000
15,000
D
15,000

Correct Ans : A

Q.No: 56 The head office of Indian Council of Agricultural Research (ICAR) is located at

2405848
YRAT HY srgHe™ uRve (ICAR) FTHE@d A fR@ I
Chennai
A
EEH
New Delhi
B
7§ et
Mumbai
C
f:eed
Hyderabad
D
AL

Correct Ans : B

Q.No: 57 Scheme “Operation greens” is related to which of the following crops?

2405849
o TR W Fafafed & @ 5 vaa & ¥afia 32
Tomato, Onion and Garlic
A
TR, W 3R TG
Spinach, fenugreek and coriander
B
T, Bt SR ufar
(o} Tomato, Onion and Potato

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 22/141



1/5/22, 3:25 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx
TR, @I AR 31,

Fenugreek, Coriander and Garlic

e, yfar o e

Correct Ans : C

Q.No: 58 Which is the most used source of irrigation in India?
2405853

URd # R &1 Ia 3ifr IuanT fobar I aran O B a1 82

Canals
A

T

Tank
B

g

Tube well
C

qagd

Wells
D

I

Correct Ans : C

Q.No: 59 is the nodal agency for grant of permission for genetically modified crops in India.
2405864

URT # SHIARE U § TG Baal & T srafd Uer o3 ardl Frsd tod g1

GEIC
A
EEEE
IGEC
B
LT
NGEAC
C
LEEIEtE
GEAC
D
Shg

Correct Ans : D

Q.No: 60 What is the following is a biofertilizer?
2405868

S Iae Fafafed # § @ 32

Glyphosate

AR

Urea

afear

Azolla

LEic]

paspali

YraTet
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Correct Ans : C

Q.No: 61 Name the most important widely used bulky organic manure-
2405903

T AEAYUl SIS U § ITNT BT G aredt U s @1g BT A §ad

FYM, Compost and Green manure

A
THARTH (FYM), e @ 3R 0 @
Poultry manure
B
PaPc Wiq
Concentrated organic manure
C
iz e @’
NPK
D
Tdis (NPK)

Correct Ans : A

Q.No: 62 Name the first manufactured fertilizer in India-

2405904
uRd # Ffifa wem IR 1 AW FamU-
DAP

A
DAP (Siuth)
SSP

B
SsP (gaTad)
NPK

C
NPK (TTdid)
TSP

D
TSP (e

Correct Ans : B

.No: 63 . . . .
2405905 How much Organic Matter % present inside the soil-

B & W fFae % FEfs got #ieg 8-

6%
A

6%

25%
B

25%

43%
C

43%
D 10%
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10%

Correct Ans : A

Q.No: 64  Which one of the following fertilizers has zero equivalent acidity-
2405913

Frafied § § by Siie & T Iagey Sl 8-

Calcium nitrate

A
Pferrm TrEee
Anhydrous Ammonia
B
fofer sifvam
Urea
Cc
g
DAP
D
Syt

Correct Ans : A

Q.No: 65 What is an average fertilizer use efficiency of nitrogenous fertilizer?
2405914

TEEISga Sa Bl 3 IdD SUUNT &l T 82

20%
A

20%

30%
B

30%

40%
C

40%

50%
D

50%

Correct Ans : D

Q.No: 66 Most outstanding green manure crop are-
2405915

T IPT T WE HH §-

Sunhemp
A

RiCrta]

Marigold
B

s

Mugwort
C

BUGI
D Rosemary
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R

Correct Ans : A

Q.No: 67 Among the given option which is in Situ green manuring crop?

2405921

e M et 7 ¥ B I Ui 58 Oe B 82

Pongamia
A
grmeran
Neem
B
Rzl
Mahua
c
Hgel
Sunhemp
D
RiCre)

Correct Ans : D

Q.No: 68 Calcium cyanamide contains nitrogen?
2405928

Fferr FrsTES & ATEEoH BT 87
16

16
21

21
22

22
33

33

Correct Ans : B

Q.No: 69 Biofertilizer Azolla is used because it possesses?
2405930

TEABIEAZOR Tsia &1 JanT fahar ST § a4ife s99 gt 82

Humus in large quantities

A
91 e H g
Rhizobium
B
RETICoE
Mycorrhiza
C
HIEPRIES
Cyanobacteria
D

wrgtsERar

Correct Ans : D

Q.No: 70
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2405931 . , L
(NH,)280, fertilizer has equivalent acidity.

(NH,),S0, 383 # FAQEA JFerdl gl &l
93

93
128

128
110

110
80

80

Correct Ans : C

Q.No: 71 Numbers of Agro- Climatic zones in Madhya Pradesh are:

2405949

T TR B PY-Serarg & B T 7

5
A

5

8
B

8

11
c

11

9
D

9

Correct Ans : C

Q.No: 72 In which layer of atmosphere Ozone is present?

2405950
IS IRgAvST Bt by wa § ANg 87
Lithosphere
A
wgHSd
Thermosphere
B
dYHTST
Troposphere
C
&
Stratosphere
D
[HAY Hed

Correct Ans : D

Q.No: 73 Average annual rainfall of East Madhya Pradesh is?
2405953
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gdf Hen wow @) oirgd arftfes awf 32

1111 mm

1111 fipft

1232 mm

1232 fiyft
1338 mm

1338 fift
1100 mm

1100 firf

Correct Ans : C

Q.No: 74 How many Agro - climatic zones are in India?

2405954
HRa § fobem HiR-sieary & 82
15
A
15
13
B
13
14
c
14
16
D
16

Correct Ans : A

Q.No: 75 Unit of Absolute humidity is

2405956
g s Bt g R
g/m’
A
g/m’
g/em?
B
g/em?
g/m
o
g/m
glem
D
glem

Correct Ans : A

Q.No: 76 Altimeter is used for
2405957
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ST T ITAM fes forg foam oer ©
Measure wind speed
A
T B 7 B A S R
Measure wind velocity
B
a1 1 37 A & R
Measure the height
Cc
g mr ¥ g
Measure wind direction
D

a1 &1 faxm A ¥ forg

Correct Ans : C

Q.No: 77 How many Agro - climatic zones are listed in India by Planning Commission of India?
2405958

YRA & TISHT TN gRT YR | fba $i-STearg &= & YeEies far man 82

14
A

14

15
B

15

12
C

12

13
D

13

Correct Ans : B

Q.No: 78 Coldest layer of atmosphere is

2405960

JRATST B Yoy S8 IR 3-

Mesosphere
A

AHHUSA

Troposphere
B

&

Ionosphere
C

TS

Stratosphere
D

AT HEd

Correct Ans : A

Q.No: 79 Who was the first person to attempt the classification of climate based on vegetation?
2405961

FTM & YR W Taarg & BT BT T B aTel T TG DI U1?

A Koppen

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 29/141



1/5/22, 3:25 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

B

Troll
B

a

De Candolle
C

S HE

Thornthwaite
D

yrde

Correct Ans : C

Q.No: 80 Who divided the world climate into 5groups, based on weather elements?
2405962

fay 3 Saag B AT F ddl YR W 5 Tgl & e s faare

De Candolle

A
SOkl
Koppen
B
HIoT
Troll
C
aa
Jethro Tull
D
it g

Correct Ans : B

Q.No: 81 Exposure of layers to hours of artificial or natural light maximizes the egg production
2406290
Rl B HEAT T Upfaes yeprr e T WId P G F 32 & IJaie Bl HfHaT FR a1 8
8
A
8
10
B
10
12
C
12
14
D
14

Correct Ans : D

Q.No: 82 Bonneman, a French physician, in hatched chicks by heating a hatching oven with circulated hot water
2406291
T, T Wil Rifeas 3, 7 of=nferd T Ut & W1y U S I aTet Siia B TH PHRp ol i o o
1768
A
1768
1777
B
1777
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C 1780

1780
1787

1787

Correct Ans : B

Q.No: 83 Artificial hatching was practiced some years ago in Egypt and China
2406292
Sty I Uge i ok F F B Tu F 33 7 (3R B fafyr o1 IumT e
1,500
A
1,500
2,500
B
2,500
3000
C
3000
4000
D
4000

Correct Ans : D

Q.No: 84 Englishman named hatched chicks by passing hot air through the egg storage room
2406293

A W A gEl B 99 & o oS & HSRUr Fe A T gar uiika fasar ami

John Miller
A

i R

John Champion
B

it e

John Leggard
C

ST S

John William
D

it fafrH

Correct Ans : B

Q.No: 85 Brilliant Light exposure of eggs produced by watt bulb flashed for 15 seconds effectively stimulates winter egg production

2406294
IAfed S F 15 JFSF U a1c & 9o & a0 YbRI & TG 9iadl F 33 & I Ht YUt w7 F I et 21
500
A
500
1000
B
1000
1250
c
1250
D 1500
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1500

Correct Ans : D

Q.No: 86 The most convenient folding unit to house poultry is the one made for hens
2406295

S g e s aTelt S (PR gfe) it urer & g Wl glaures 3T §

25
A

25

30
B

30

35
C

35

40
D

40

Correct Ans : A

Q.No: 87 It takes about 2.5 hours time for feed to reach to cloaca from mouth in a laying hen, and hours in a non - laying hen
2406296
IR (IER) B! U 312 A arelt Tl & g § 31 db Uga i THT 2.5 6 ST I AT 3, 3R 313 7 & arelt arelt iff & 3iid do ugam o e
5
A
5
7
B
7
8
C
8
10
D
10

Correct Ans : D

Q.No: 88 The New Hampshire poultry breed was developed from single comb Rhode Island Red and Red Stock during the year

2406299

Uit B =g IR T BT A L., F Rt aia TS 3mzcis 18 oIk ¥s wie & RaRrd e mar 1

1920
A

1920

1930
B

1930

1940
o

1940

1950
D

1950

Correct Ans : B
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Q.No: 89 There are about number of breeds of cattle in India Besides hybrids
2406303
YRA B I & Srarar TaRw B T T
14
A
14
20
B
20
26
C
26
32
D
32

Correct Ans : C

Q.No: 90 There are about number of breeds of buffaloes in India Besides non-descript
2406304
rafia & ararar HRa # FGt BT T T B
4
A
4
6
B
6
10
C
10
12
D
12

Correct Ans : B

Q.No: 91 is a breed of cattle
2406305
TRk #t U T 7
Bhadawari
A
yradt
Tharparkar
B
YRYRH
Kashmiri
C
Cauini]
Landrace
D
agE

Correct Ans : B

Q.No: 92 is a breed of buffalo
2406306
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_ NPT
Berkshire
A
THER
Beetal
B
dieat
Jaffrabadi
(o
STERTETEY
Sindhi
D
Rt

Correct Ans : C

Q.No: 93 On higher elevations and in humid areas the cattle found are:
2406307

3ifire HaE W MR 3 &1 H UTY S et Haw g

Large and well-descript

A

T3 IR ort e @ aftfa

Large and non-descript
B

T3 3R smaffa

Small and well descript
C

B R sl ae @ aftfa

Small and non-descript
D

B 3R srafdfa

Correct Ans : D

Q.No: 94 Jersey calves suffering from have broad skull, large eye sockets, short and broad nasal bones and forehead broader than normal
2406308

F fifa off & st 3 WU A, ofEt F Tive a9, TF 3 e DA IR A SR A W ¥ oifE et B §

Aguatha
A
ST
Umblical hernia
B
sifeifea gffar
Bulldog Head
C
ST ¥
Cerebral hernia
D

Wwa g

Correct Ans : C

Q.No: 95 Dystokia, among the domesticated species is mostly found to occur in

2406309
T ST §, SaReifear SareraR o Ui St §
Dogs

A
kel
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B Cats

fafeat
Monkeys
C
TR
Dairy cattle
D
ST4 Hagh

Correct Ans : D

Q.No: 96 The udder usually increases about in size between milking, depending upon the quality of udder and the amount of milk secreted.
2406310
4T Y UM 3R HIAd U P A F YR TR Y Gg S S SMAAR TR YT BT ATBR TTHT ECAEIGI
1/4
A
1/4
1/3
B
1/3
1/2
C
1/2
2/3
D
2/3

Correct Ans : B

Q.No: 97 % of animals contracting bang’s disease become either temporarily or permanently sterile.
2406311
g 3 @ uRd % SFGR 7l SRR T § 3ryar Rl &9 § §7 81 9
10-15
A
10-15
15-20
B
15-20
15-23
C
15-23
25-30
D
25-30

Correct Ans : D

Q.No: 98 It is estimated that volume of blood flows through the mammary gland for each volume of milk synthesized
2406315
SITAM T T § 5 URafd gy @ ude g & e w6 Ui & Anew @ vad 3t AT yaTfed Bt §
300
A
300
400
B
400
(o 500
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500
600

600

Correct Ans : C

Q.No: 99 According to the P.F.A. norms, the buffalo whole milk for most of the States should contain

2406332

P.TF.0. TG F SR, MRH I & N9 S R gy H 1 1T

A minimum of 2.5% Fat and 6.5% S.N.F.
A

GidH 2.5% 991 3R 6.5% TH.UA.UB.

A minimum of 3.5% Fat and 7.5% S.N.F.
B

A 3.5% T 3R 7.5% TH.G.UG.

A minimum of 4.5% Fat and 8.5% S.N.F.
C

GIdH 4.5% I41 3R 8.5% TH.UA.UB.

A minimum of 6% Fat and 9% S.N.F.
D

AT 6% T 3R 9% TH.TH.TS.

Correct Ans : D

Q.No: 100 According to the P.F.A. rules, the Standardized milk should contain

2406333

0.7, % PRl & SFER, TMEIHd gy § 8 918y

A minimum of 2.5% Fat and 6.5% S.N.F.
A

A 2.5% T 3R 6.5% TH.T.UF.

A minimum of 4.5% Fat and 8.5% S.N.F.
B

GAdH 4.5% a1 3R 8.5% TH.T.U%.

A minimum of 5.5% Fat and 8.5% S.N.F.
Cc

GIdH 5.5% 941 3R 8.5% TH.E.UB.

A minimum of 6.5% Fat and 9% S.N.F.
D

AT 6.5% T 3R 9% TH.TH.TP.

Correct Ans : B

Q.No: 101 Which of the following vegetables is perennial

2406391
Foffed ¥ § $19 & gooft aRearRf 32
Cauliflower
A
Ferind
Asparagus
B
BiG cil
Indian bean
C
HRAE o
D garlic
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qeYT

Correct Ans : B

Q.No: 102 Based on methods of culture, vegetables are classified into
2406394

TR F RWB! B YR W oot 1 e Tgt & arffepd far wmar 32

7 groups
A

7 TgE

10 groups
B

10 Iggl &

13 groups
C

13 gggl &

15 groups
D

15 9gg &

Correct Ans : C

Q.No: 103 Based on the season of growth, the vegetables can be classified into

2406395

I & AR F SMYR W, A T ... o aiffra foran S T 71

5 groups
A

5 el

2 groups
B

2 et

3 groups
c

3 Wl

7 groups
D

7 Wt

Correct Ans : C

Q.No: 104 Which of the following is a major disease of onion in India
2406396

URd B Frafafad & 3 B9 91 @t &1 7gE AT 82

White rot
A

e Gy

Smut
B

W

Leaf Blight
C

i wge

Purple blotch
D

WU &A=

Correct Ans : D

Q.No: 105
https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 37/141



1/5/22, 3:25 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

2406397 Which of the following crops has maximum production in the world

oy & Frafafea & @ frg waa &1 9 4% Iare giar 8?2

Cauliflower
A

Ferireh

tomato
B

THIXR

chilly
C

o

potato
D

SIS

Correct Ans : D

Q.No: 106 The seed rate of tomato for sowing 1 hectare area

2406398
Th BRW & F 91 & o eArer Bt fi X 1 82
100 - 200 g
A
100 - 200 T
400 - 500 g
B
400 - 500 7
800 - 1000g
o
800 - 1000 7
1200 - 1500 g
D

1200 - 1500 IH

Correct Ans : B

Q.No: 107 Which among the following is the trap crop for tomato fruit borer

2406399
Frafifed # 4 o1 @ vud TR & % # 3 3 a1l BISl P (o1g ST B3 87
mustard
A
=t
tobacco
B
darE
marigold
C
et
garlic
D
qegT

Correct Ans : B

Q.No: 108 Which of the following elements causes cavity spot in carrot
2406400

Frofeied & | B 91 d TR & 6T RIF (Hadt Wie) BT SR &1 82
A
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Sulphur

s
Ca

Correct Ans : C

Q.No: 109 Potato tubers contain vitamin Ain _____amount
2406401
T F g B ferfim g o H g B
201U
A
20 3EY,
301U
B
30 3y
40 IU
C
40 3TEY,
50 IV
D
50 31¥Yg,

Correct Ans : C

Q.No: 110 ‘Little leaf’ disease in brinjal is caused by
2406402

T # B T (fifed ofiw)' A fhad HR g 32

Mycoplasma

A
AIFPH IS
Fungus
B
DdD
Bacteria
C
i
Virus
D
aRRY

Correct Ans : A

Q.No: 111 Tomato fruit type is known as
2406406

TR & B & YbR Bl [pg T & ST SI1aT 82

berry
A

Eiil
B Pod
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Ll
capsule
C
e
pepo
D
o

Correct Ans : A

Q.No: 112 Critical night temperature for fruit setting in tomato is
2406409

TAIR § A §79 F T shifaes 31 &1 anowe §

5eC
A

50 3.

e C
B

100 9.

130 ¢C
c

1309,

200C
D

2003,

Correct Ans : C

Q.No: 113 Odour of onion is due to

2406410
o 1 7Y T § frud HROT e 32
Allyl propyl di-sulphide
A
TS MUTEE STE-TehIES
Allyl di-sulphide
B
SRS SIR-HPIRS
Diallyl di-sulphide
Cc
SR SR-UePES
Propyl di-sulphide
D

NS SE-TePhRs

Correct Ans : A

Q.No: 114 Precursor of ethylene is
2406491

TR T 3igd §
SAM

A
SAM
Tryptophan

B
ot

C Methionine
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R Eic]

Auxin

it

Correct Ans : C

Q.No: 115 Alternate bearing is major problem in

2406492
Ui e A fpad gt B
Bael
A
EGl
Guava
B
3HE
Litchi
C
ikl
Mango
D
3|

Correct Ans : D

Q.No: 116 National Horticulture Board is situated at

2406494
T STE SIS Pl R 7
Lucknow
A
g1
Delhi
B
Tt
Punjab
Cc
Eic)
Gurugram
D
TeaH

Correct Ans : D

Q.No: 117 Which of the following is an example of sexual propagation in fruit plants
2406495

T & Wl F A FTRI-UoH BT IR0l Fufiad # ¥ B g

Air layering
A
T sie
propagation through Seeds
B
dist gr1 d9-9i%
budding
Cc
g
D grafting
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HaH SYFT

Correct Ans : B

Q.No: 118 Most of the fruit crops are cultivated under which planting system

2406496
YT Hell Bt et Bt Wl g Ao yoneht F Sierta B ol §
contour system
A
A= womet
hexagonal system
B
YEHIONG ot
rectangular system
C
JTIAPTR oMt
Square system
D

i yomeht

Correct Ans : D

Q.No: 119 Propagation through the seeds is most common in

2406497

il 3 wTeH A FRURI-To Te W e §

Mango
A

SH

Papaya
B

Tdfar

Guava
C

3HET

Litchi
D

o

Correct Ans : B

Q.No: 120 The share of horticulture in agricultural GDP in india is

2406498
HRA & Y Yo I IAE § SFIEHT HT WA fba §
30%
A
30%
40%
B
40%
45%
C
45%
50%
D
50%

Correct Ans : A

Q.No: 121 “Protective food” include
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2406501

TReft MR’ & Wit ¥

Fruits & vegetable

A
W IR et
cereals
B
ST
Pulses
C
ES)
Millets
D
HeT 3

Correct Ans : A

Q.No: 122 The study of fruit science comes under

2406502
Wl ORI 1 reme fopeds Sfela Sl &
Floriculture
A
LEINGIGN
Citriculture
B
Ridiepe
Pomology
(o
LIS
Olericulture
D

MeideR

Correct Ans : C

Q.No: 123 Which country has the highest production of fruits and vegetables
2406504

ol 3R Tt 1 atfes e fd 32 & g 82

China
A

Ciu]

India
B

YRd

USA
C

e

Brazil
D

EIEICH

Correct Ans : A

Q.No: 124 Which type of planting system followed in Hilly areas
2406508

TETSt AT F R YR BT A0 TUITe) SO ST 3

A Square system
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i omeft

hexagonal system

B
eIV Yot
contour system
C
g YoMt
rectangular system
D

SRAIHR JOMeRt

Correct Ans : C

Q.No: 125 Removal of unwanted branches from the plant is called

2406511

0§ sraifesd RSN B e 7T HEard @

Training
A

&

Bending
B

ECZ|

pruning
C

L

mulching
D

TedRAT

Correct Ans : C

Q.No: 126 Yellow colour of papaya is due to

2406518
utiia 1 dier 1 e HRO Eell &
Anthocynin
A
Tt
Caricaxanthin
B
FRGRT
quercetin
C
AR
Xanthophyll
D
St

Correct Ans : B

Q.No: 127 Air layering is most common method of propagation in
2406538

T T RO S-S BT I W T §

Guava
A
SHEQ
Bael
B
Ei|

1itrhi

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 44/141



1/5/22, 3:25 PM

C

[T

Aonla

3ffael

Correct Ans : C

Q.No: 128 The part of plant on which grafting is done is called

2406539

T $1 g8 HIT R W Hem e o 8, 71 Foa &

Scion

PaH

Root stock

Stem

Root

e

Correct Ans : B

Q.No: 129 Bending is practice in guava to encourage

2406540

1 TiHIRd B3 & Y 3ree & s B fbar 1 §

Better sprouting

TR PR

Better ripening

e BT

Better fruiting

R FY A B @

Better fruit quality

RS RIGE

Correct Ans : C

Q.No: 130 Removal of terminal portion of shoot leaving basal portion of plant is known as

2406543

D
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T & MU U BT BISHR WRIE P S U B §HT 1 Hgard &

Heading back

W dw

Thinning out

T aee

skirting

Wi

Dehorning
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fEei

Correct Ans : A

Q.No: 131 Which of the following is not the advantage of Transplanted crops?
2406791
Fofofad # ¥ SH-a1 A waar & v e 82

Shoot fly, which attacks direct sown crops during the first 3 weeks and which is difficult to control, can be effectively and economically
controlled in the nursery itself.

A
TE TS, S T8 3 BT & SR el 9 TS el W e St @ iR R Fafd & gited €, 70 @ v &l enffe wu & Fafia fhar s g 21
Main field duration is reduced by 12 days.
B
o7 87 31 ol 12 R ¥ w9 & okt B
Seedlings which show chlorotic and downy mildew symptoms can be eliminated, thereby incidence of downy mildew in the main field can be
minimised.
C
3 Ol 7 R IR ST Bid F wam Rwré 33 ¥, S T R o Tebell B, R 7T | A So fiesy @Y Teeh &) w fbar of 9odr 81
Seed rate can also be reduced by 2.5 kg/ha.
D

e R o ot 2.5 I/ IRW B far o1 war g1

Correct Ans : B

Q.No: 132 Which of the following is the first growth stage of Sorghum given below?
2406792

Frofofed & 9 o o 9 fear T SR &1 vgar faer =0 82

Maturity
A

aRgear

Seedling
B

SR

Ripening
Cc

LCll

Flowering
D

R

Correct Ans : B

Q.No: 133 Which is one of the oldest fruits known to mankind and is also known as “Apple of Paradise” & “Tree of Wisdom”?
2406793

T WA & T J10 Ta8 A Bal § § $H 907 R 30 "W BT 99" R S BT 38" F &9 F of S e 27

Grapes
A

SR

Mango
B

SH

Apple
C

it

Banana
D

e
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Correct Ans : D

Q.No: 134 Which of the following is the post-harvest disease of Tomato?

2406795
Frofifed § § -9 careR 3 Hek F 18 BT I 3?2
Gray Mould
A
P
Anthracnose
B
LOC
Crown Rot
C
IR U
Alternaria Rot
D

SR e

Correct Ans : A

Q.No: 135 Which of the following are cultivated species viz- Gossypium arboreum, G.herbaceum, G.hirsutum and G.barbadense ?

2406796
Foffed & § F19-0 vod ot Gt Ft oRh § 99- ke s, oft.gdaw, ft.Rvgew R . aReSw?
Millets
A
SToRT
Maize
B
HIDT
Pulses
C
ard
Cotton
D
PUH

Correct Ans : D

Q.No: 136 The following varieties belong to which of the following crops?

2406797
JS 93-05, JS 95-60, JS 97-52, 1S 20-29, JS 20-34, ]S 20-60.
A & i Rt FufifEd § S SH-9 wad @ 2
JS 93-05, 1S 95-60, JS 97-52, JS 20-29, 1S 20-34, ]S 20-60.
Rice
A
qmad
Sesame
B
fow
Soybean
C
e
Niger
D
AR

Correct Ans : C
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Q.No: 137 with long handles are suitable for weeding in row crops in rain fed and garden lands.
2406800

o Eee arer aut Rifd iR Sa oty & ufe waal 3 FRiE & R Suge 8

Junior hoe
A

SR g

Engine operated weeder
B

ECEREIRGCISH

Dry land weeders
C

T offr PRI

Cono weeder for paddy
D

4 & g S dis?

Correct Ans : C

Q.No: 138 1In the financial year 2020, the yield of rice across India was estimated to be approximately how many thousand kilograms per hectare?
2406802

fafta o 2020 ®, W URA & TGA BT IuS T e §OR fHaum Ul RIS HT STHI TR T AU1?

2
A
2
3.1
B
3.1
4
C
4
2.7
D
2.7

Correct Ans : D

Q.No: 139 What is the tag colour of Certified seed?

2406807
ymIfTd S ST T T R BN 32
Yellow
A
diem
White
B
g
Azar blue
(o
ISR e
Green
D
5

Correct Ans : C

Q.No: 140 Linseed is purely a cool season crop.
2406809
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S AIgs =0 ¥ 63 Ay areft P HId gl
Kharif
Rering
Rabi

Zaid

Monsoon

AT

Correct Ans : B

Q.No: 141 What does Mixed Cropping stands for?

2406853
At waa &1 @ e 72
Mixed Cropping is in which paddy is grown in sequence on the same field, with the succeeding crop planted after the harvest of the preceding
crop.
A
i3 e 9 & Ford o ® St €4 & e w0 & I o 3, e oneht wara e wua 31 e & I @R Wit 8l
Mixed Cropping stands for where seeds of pulses singly or in mixtures were broadcasted in standing paddy field 21 days.
B
fafya e o1 orf R et 21 R & T wS oW & @ § 1l & i o an fvsyor  vnfd g e A
Growing of two or more varieties of paddy simultaneously and intermingled without row arrangements.
C
U B A1 Y R T B U Wy I SR o i e & s #
Mixed Cropping is a system of cultivation in which a paddy is grown over a large area of land often for several years.
D

Ry paa Gt 1 T Yol § R o B 7F anf 9 Y T 99 &F W I 9 7

Correct Ans : C

Q.No: 142 In which type of cropping system two or more crops are grown either in succession or sequence or association for entire or part period of their life cycles on the
2406854  same field?

59 YR B wud yomeh # &1 a1 & I it wud U € W H 39 Siia 9% B IS a1 i $afl % ¢ a1 o STRIUSR A1 59 A1 ¥ H S el 82

Mixed Cropping

A
[GIECREK]
Multi Cropping
B
A Bt
Augmenting crop
C
Y el
Parallel Cropping
D

MR Bad

Correct Ans : B

Q.No: 143 Which tree is known as “poor mans tree”?
2406865

g U5 # "TRiT 3MeH BT U el ST 32

A Bamboo Tree
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TG P US

High Fertility of Soils

B

ot &t = IR

Late onset and early cessation of rains
C

WA LE o SR A ot et e

Inadequate and uneven distribution of rainfall
D

uf 7 Sruaf SR SR faeRor

Correct Ans : A

Q.No: 144 Which of the following is not the example of Millets?

2406866
FrofifEd & § H SToRT 1 IR T8 §2
Maize
A
HIBT
Ragi
B
f
Rice
(o
qhad
Sorghum
D
AR

Correct Ans : C

Q.No: 145 Cajanus cajan is the scientific name of which of the following given below?
2406867

Fofafea § 3 feaewr e ™ Horg Ho 82

Cotton
A
PUN
Rice
B
|
Pigeon Pea
C
PYR AKX
Castor
D
R

Correct Ans : C

Q.No: 146 Which of the following is not an example of the rabi crops?

2406868
FofRad ¥ § $19 30 BUd BT ISER T 37
wheat

A
i

B castor
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3RSt

gram
C

™

barley
D

S

Correct Ans : B

Q.No: 147 What is a constituent of protoplasm?

2406874
TS P U °ee &1 82
Soil

A
fagt
Sunlight

B
T PI A
Water

C
qrt
Rainfall

D
aui

Correct Ans : C

Q.No: 148 Which of the following is the scientific name of Sun flower?
2406875

Frafied & @ o o 9 $ B &1 aue W 82

Helianthus annuus

A
IR T
Mangifera indica
B
At 3
Zingiber officinale Rosc.
C
Azadirachta indica A. Juss
D

SfefeTeT 3% T. 9

Correct Ans : A

Q.No: 149 1In India, dry land cultivation is largely confined to areas with annual rainfall of less than how many centimeters?
2406901

YR H, T YA F At 7 I R et Yhiex I o aifife af ard 85 qap &) v 32

100 cm
A

100 3t

200 cm
B

200 &

75 cm
c

75 &
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D 150 cm

150 Jft

Correct Ans : C

Q.No: 150 From the characteristics given below identify the name of crop.

2406902
1. It is a food as well as fodder crop grown under semi-arid climatic conditions and over inferior soils.
2. This crop occupies only about 3.6 per cent of total cropped area.
3. It is sown all over India except Punjab and eastern and north-eastern regions
H2 & i et § wua & A9 B ugEH R
1. U8 TP T 3R IR B Hd ¢ ot -3 wararg uRfRufea & ik =t firdt & I el 21
2. I8 WA $A Baal & B THTHT 3.6 Uiawd & 8Relt 31
3. T8 UoTd 3R gdf ok IR-gdf &5 &Y Blgdr W YR & & oI &
Jowar
A
AR
Pulses
B
ot
Wheat
C
b
Maize
D
HIDRT

Correct Ans : D

Q.No: 151

2404785 cosl®.cos2®.co83” .. cosl79% =7
cosl®.cos2°.cos3® ... cos179° =7
1
A
1
0
B
0
V3
2
C
V3
2
1
2
D

2

Correct Ans : B

Q.No: 152

. sin(90— 8} cosB+cos(90-8)sind
2404786  Find the value of

cor( ) con - D)
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sin{90— 8)cos@+cos(90—8)sind
cos(z?g) cos(g)—sin(%g) sin(g)

tan 6 +sec O

CARERIGE 2

A
tan O +sec O
sec O
B
sec O
cos B —sin @
C
cos B —sin B
1
D
1

Correct Ans : B

Q.No: 153 The value of cos1050° is?
2404787

c0s1050° &1 O19 &1 27

V3
2
A
A3
2
1
2
B
3
2
Cc
V3
2
1
2
D
1
2

Correct Ans : C

Q.No: 154 .
2404788 Calculate the value of cos 660°.

T J1d &% cos 660°.

1
A

1

0
B

0
Cc
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1
2

B | e

Correct Ans : C

24'\(‘)(27185: If tanA =§ and tanB = El, then find the value of sin(A+B)

T tanA =2 3R tanB =2, T sin(A+B) F1 A 77 Ffod

2
43
A
2
Vi
1
\."E
B
1
VZ
1
2
C
43
2
D
V3
2

Correct Ans :

Q.No: 156

2404794 U sin2x = cos(3x—45%), then x equals to

Tfd sin2x = cos(3x—457), A xRS

27°
A

27°

40°
B

40°

35°
C

35°
D 45°
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45°

Correct Ans : A

Q.No: 157 Find the numerical value of (3sin30° .cot45° + 2cosec?45° — cot230° + cos¥30° tan60%).

2404795
(35in30° .cot43° + 2cosec™43° — cot?30° + cos?30° .tan60°) T FGHHSE W AT &3 |
25
2
A
25
g
27
2
B
27
g
29
g
C
29
g
31
2
D
21

Correct Ans : C

Q.No: 158 If (tanA + cotA)itanA — cotA) = 2 where A lies between (0 =A = n/2. Find the value of
2404796 .. I -
(sin?A + 3cosectA)2secA.

TG (tanA + cotA)(tanA — cotA) =2 © Wal A, 0 = A = n/2 & HA H §l (sin2A +
3cosec?A)2secA W1 HIF 10 &1

39
32

39
32

19
3z

19
32

29
32

29
32

Correct Ans : C

2;,%3;8105: Which of the following statement is true for cos 8 < sin §?
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FfaRad | U S $Y cos 0 < sin 8 & o I g7

E<9<E
4 —2

E{Q{E
4 —2

__“<9<E
2 2

0<p<Z
4

Correct Ans : A

ﬂﬁﬁ?Hﬂgegl%mknwmmoﬂmﬂﬂmmmbnw%mmymm?

afe 0 < 0 < 180, @l FLfREd § T ST HaWPH ©9 J I g7

0<cosB<1
A

O0<cosbB<1

—1<cosB<0
B

-1<cosB<0

-1<sinf<1
C

-1<sinf<1

-1<cosb<1
D

—1<cosB<1

Correct Ans : D

Q.No: 161 The number of distinct lines that can be formed by joining 20 points on a plane is of which no three points are collinear is:
2404847

T @ TR 20 figsht &1 fram § 57 arelt fafte Yamedt 3t Tem 1a Sifv, fimd @ 1E of i fig T 72 81

190
A

190
B 380
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380

360
C

360

120
D

120

Correct Ans : A

Q.No: 162 How many four-letter words can be formed by using the letters of the word PREVIOUS?
2404848

PREVIOUS T[e& 3 3R} BT SUIRT I fdhe TR 31&RT dTet Xeg ST o Habdl 82

560
A

560

260
B

260

420
C

420

1680
D

1680

Correct Ans : D

Q.No: 163 A man has 12 blazers, 10 shirts and 5 ties. Find the number of different possible combinations in which he can wear the blazers, shirts and ties?
2404850

T ATCH! & TN 12 oR, 10 W 3R 5 <8 20 | faftrs Wi et ) TReam 31d S e a8 <ok, TE 3R <8 UeH 9abdl 3

27
A

27

300
B

300

240
C

240

600
D

600

Correct Ans : D

Q.No: 164 Find the number of passwords of length 5 that can be formed using all the vowels of the alphabets?

2404851
HeRl & Tt TR BT ST PR T S §b A1 5 31&R] S UGS HI H@ I BT |
120

A
120
5

B
5

c 3125
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3125
25

25

Correct Ans : C

Q.No: 165 Using all the letters of the word MOBILE, how many words can be formed, which of begin with M and end with E?

2404853
MOBILE W% & Tt 31eRT BT SUaNT Heb foba Xeq §TY T Iabal &, ST M VW R 81 ¢ 3R E R JAE gid 87
6
A
6
24
B
24
120
c
120
84
D
84

Correct Ans : B

Q.No: 166 If the number diagonals of a regular ‘n’ sided polygon is 77, then the value of ‘n’ is:

2404854
I T Frafd 'n' Yo a1 SgY Hlawuif 3t Wewm 77 8, @ 'n' &AM 8:
10
A
10
14
B
14
15
c
15
18
D
18

Correct Ans : B

Q.No: 167 .
2404856 |If 2x"Pa = "1P,, then n is equal to:

qfe 2x7p, = 1p, Tl n BT M o

4
A

4

5
B

5

6
C

6
D 7
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7

Correct Ans : D

Q.No: 168 In how many ways five sweet can be chosen from an unlimited number of Rasgulla, peda and Rasmalai sweets?
2404857

ITEN, UST SIR TqHarE 31 i TeErsht # I fhan alie ¥ 5 freteal g o uad §2

81
A

81

243
B

243

21
C

21

31
D

31

Correct Ans : B

Q.No: 169 Examine the following equations to check which of them is a quadratic equation?
2404870

Frafefed gefieon o1 aftenr FIRT iR St BT 6 579 I B fgama gdieo 82

(x+1)' =3=5x+2

A
(x+1)* —3=5x+2
X +1=10x-2
B
X +1=10x-2
(x+D)(x=2)=x"+5
C
(x+1)(x—2)=x"+5
X +x+1=10
D

X' +x?+1=10

Correct Ans : A

Q.No: 170 Examine the following equations to check which of them is not a quadratic equation?
2404871

Frafid Tfie<ul o whev B ST PR S 378 § S fgara e 72 82

X +4=5x—6
A

X +4=5x—6

(x+2(x-3)=6
B

(x+2)(x-3)=6
(o}
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x(x+3)=x" —5x+10

x(x+3)=x"—5x+10

x(x+1)(x+2)=x +2x +15

x(x+1)(x+2)=x +2x" +15

Correct Ans : C

.No: 171 . . 2 . .
3404872 If one root of the quadratic equation X~ —4x —12= 0 is x= 6 , then what is another root?

afE fEad FHER0 x* —4x—12=0 PIUD A x= 6 &, A GO I 1 52

x=3
A

x=3

x=-2
B

x=-2

x=-T7
C

x=-T7

x=0
D

x=0

Correct Ans : B

.No: 172 . . . 2
2404875 What is the sum of roots of the quadratic equation ¥~ +3x—-10=0

T5ad gHiauIx” +3x 10 = 0 & Hell BT T T 82

3
A

3

0
B

0

-3
Cc

-3

2
D

2

Correct Ans : C

24’\(‘)2817763 Which of the following conditions will satisfy if the tworoots of the quadratic equation

ax® +bx+ c=0,(a #0) are the same?

i f59d TG ax” +bx+c=0,(a = 0) & &l 40 TAH 5l dl HafaRad H 4 ®H-H Rufq dge
g

A
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b* —dac=0

b* —dac=0

b’ —dac=1

b —4ac=1

b* —4acz0

b*—dacz0

b* —4ac<0

b*—4ac<0

Correct Ans : A

24'\(‘)‘:‘817774 If the two roots of a quadratic equation be like x = 3,x =—4 _ then what is the quadratic equation?

afg fEHd GHiE0 & &1 A x =3,x = —4 B, df fguTd YHiEH 0 &1 82

X —4x+12=0

A
2
X —4x+12=0
xT+x+12=0
B
x“+x+12=0
x"—x+12=0
C
2
xT—x+12=0
x“+x-12=0
D

xP+x-12=0

Correct Ans : D

Q.No: 175 The sum of two numbers is 10 and the product of those numbers is 24. What are the two numbers?
2404881

& TS BT NT 10 B TR 3 GBS BT UG 24 Tl < IRATE 3T 82

7,3
A
7,3
3,8
B
3,8
12,-2
C
12,-2
6,4
D
6,4
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Correct Ans : D

Q.No: 176 .n'_
2404882 What is the value of the expression~/30+ +/30+ 30+ ... 7

D +/30+ 4/30++30+__ BIHAA H8?

19
A

19

15
B

15

6
Cc

6

10
D

10

Correct Ans : C

.No: 177 . . . 2 .
340(21883 What is the value of k if the two roots of the equation 5x° —26x—k = 0 are reciprocal to each other?

k &1 0 T1ERT 316 YHid0] 5x° —26x—k=0 & &l JoI U GOR & b 87

5
A

5

0
B

0

-5
Cc

-5

1
D

1

Correct Ans : C

Q.No: 178 T
2404887 W

hat are the two solutions of the equationX**2, 2 _6x=2 .9

x+3 x+3 x:—9=

-\Eﬂ:ﬁwm x+2+ 2 _6x+2=0$agﬂa€”%?

x+3 x+3 x*-9

-2,7
A

-2,7

-2,-7
B

-2,-7

2,-7
c

2,-7
D 2,7
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2,7

Correct Ans : A

.No: 179 .. 1 '
2404890 Value of: ;]ogz 256 — 2log, 16- 2log, 6 + 8log, 2

ilogg 256 — 2log, 16- 2log, 6 + 8log, 2 T A &-

log, 3
A

log, 3

—log,; 9
B

—log, 9

log .3:
C

log, .3:

1
D

Correct Ans : B

Q.No: 180 gp]ve the following and choose the correct option
2404891

2
If, P= . q=2” and =27 then find log,(ps q°r)

ferafaf@a & o &1 3R Wer fawed I -
af, P = L, g=2¥ M =277 A, logy(piePr) WA B

—§x+2y -z
A
—§x+2y —z
gx—Zy +z
B
gx—Zy +z
gx—Zy -z
c
gx—Zy -z
3
—5x+2y +z
D
3
—5x+2y +z

Correct Ans : A

Q.No: 181
2404892
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Find value of x of the following equation

ngZIDgg 243 _ 1

TAFATaEd FHAHT & x & A9 AT S

§x22logz 243 _ 1

-

tm
A
1
Ly
1
t/s
B
1
t /5
1
* 56
(o]
1
t 567
1
t 5%
D
1
* /5%

Correct Ans : C

Q.No: 182 . VI oz
2404893 Solve the equation: (?)2" =1

wefimor A A (D21 = 1

3

1
+=
V2
A
1
+—=
V2
1
+=
Va3
B
1
+=
V3
1
+—
V5
C
1
+—
V5
1
D

1

Correct Ans : A
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Q.No: 183 Eyalyate 15° using the binomial theorem.
2404895

Zfade FHT BT IUERT Hh 15° & I B

TEUE UHY &1 SUART BIP 155 B IUAT B |

759275
A

759275

758375
B

758375

769375
C

769375

759375
D

759375

Correct Ans : D

Q.No: 184

2404896 Find the number of termsin (1 + 2x +x7 ]ﬁ

(1+ 2x +2%) & wei & s i ffew

102
A

102

201
B

201

101
Cc

101

203
D

203

Correct Ans : C

Q.No: 185

2404898 In the expansion of (1 — x)?"~1, the coefficient of x* is denoted by a,, then the value of a1+

an.r equals

(1—-x)1 % TR #, x* % AUIF ' a GANT (AT [HAT A §, @ ac1+ ams

T AT WX &

1
A

1

2
B

2

3
C

3
D 0
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0

Correct Ans : D

Q.No: 186 1—t6 2
2404907 Find the coefficient of t* in the expansion of (:) is:

(%)S?ﬁwﬁtﬂ EARIEREICEI R

15
A

15

20
B

20

12
C

12

6
D

6

Correct Ans : A

Q.No: 187 Is three point A(6, -1), B(1, 3) and C(x, 8) are such that AB = BC, then X = ................
2405082

g & g A6, -1), B(1, 3) R C(x, 8) STUPR B fF AB = BC, T X = .ovvvvveeee.

-3,5
A

-3,5

3,-5
B

3,-5

-3,-5
c

-3,-5

3,5
D

3,5

Correct Ans : A

Q.No: 188 The distance of the point (b cosf, b sin) from origin is -

2405084
ﬁ@ (b cos. b sinf) aﬁqﬂﬁﬁaﬁﬁﬁ%
bsin @
A
bsin B
b cosb
B
b cos8
2b
C
2b
D b
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b

Correct Ans : D

Q.No: 189 If a point P is equidistant from the point (2, 0) and (0, 2), then co-ordinates of P will be :
2405085

s fag P, fgalt (2, 0) T (0, 2) T THH g W B 9 P & =i g1

(2, 2)
A

(2, 2)

(1, 2)
B

(1, 2)

(2,1)
C

(2,1)

(1, 4)
D

(1, 4)

Correct Ans : A

Q.No: 190 The equation of the locus of a point whose distance from (a, 0) is equal to its distance from y-axis is :
2405087

39 forg & farg v &1 wHiaRor @@ § ot fag (a, 0) ¥ g8, S99 y-9ia A 8 & oo &

yi-2ax+al=0

A
yi-2ax +al=0
v+ 2ax -a2=0
B
yi+2ax -al=10
vi-2ax-az=0
C
2-2ax-at=0
vi+2ax +at=0
D

vi+2ax +al=0

Correct Ans : A

Q.No: 191 If the point P is equidistant from the points A(1, 3), B(-3, 5) and C(5, -1) then PA =
2405088

Tfe; famg P fgait A(1, 3), B(-3, 5) 3R C(5, -1) ¥ TAFM I R T T PA =

25
A

25

W10
B

5 \."'E

5 \."'g
Cc

55
D 5
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5

Correct Ans : B

Q.No: 192 The points (-a, -b), (a, b), (aZ, ab) are -
2405090

fawg (o b).(a b). (2l ab) §:

Vertices of an equilateral triangle

A

TS GHaTg BAye & i

Vertices of a right angled triangle
B

o S Ay & W

Vertices of an isosceles triangle
C

T gHfgeTg BAue & il

Collinear
D

T

Correct Ans : D

Q.No: 193 In what ratio, xy-plane divides the line joining the points (2, 4, 5) and (-4, 3, -2).
2405153

fgaft (2, 4, 5) 3R (-4, 3, -2) P AR arelt @it B, xy-T e o & v F=ar &

1:3
A

1:3

SES
B

SES

3:4
C

3.4

5 B 7
D

D B &

Correct Ans : D

Q.No: 194 Ppoint (-2, 4, 7), (3, -6, -8) and (1, -2, -2) are :
2405154

g (-2,4,7), (3,6, -8) T (L, -2, -2) ¥ :

Collinear
A

TR

Vertices of an equilateral triangle
B

T qHaTg By & i

Vertices of a right angled triangle
C

TF B Byt & =i

Vertices of an isosceles triangle
D

T gHfgarg Aye &

Correct Ans : A
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.No: 195 11 . . . . .
2405155 f[E’E’n) are the direction cosines of a line then value of n is -

e (3,3.m) T Y@ i ReFpioart ¥, a9 o A= &

A
2
3
23
6
B
23
6
VI3
6
C
VI3
6
2
23
D
23

Correct Ans : C

Q.No: 196 The number of straight lines that are equally inclined to the three dimensional co-ordinate axes is :
2405156

0 Bifafa e sl @ T0H S R gt W Yael $1 den s

2
A

2

4
B

4

6
C

6

8
D

8

Correct Ans : B

Q.No: 197 The distance of the point (4, 3, 5) from y-axis is
2405157

g (4,3, 5) P y-3 A7 :
V15

\."'E

\."'ﬁ

\."'i

C \."ﬁ
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\."'H

5

Correct Ans : C

Q.No: 198 The direction ratios of the line x -y +z-5=0=x-3y - 6 are :
2405158

R x-y+2z-5=0=x-3y-6REAUas:

2,-4,1
A
2,-4,1
3,1,-2
B
3,1,-2
3 1 -2
V121312
C
3 1 -2
V121312
2 -4 1
VAL VAT AT
D

(]
|
N

!
!
Al

[
=
i
=
=
i
.
=
un

Correct Ans : B

Q.No: 199 : v & : in2 2 in2s inld =
2405160 If aline makes angles «, B, v, & with for diagonals of a cube, then sin?a,+sin?p, + sinZy, + sin2d
afe o Y@, vF 949 & IR el & T o, p, v, 8 FIT AT 87 A4 sinla, +sin2P, + sinly, + sin2d =
4
3
A
4
3
a4
B
a
8
3
C
8
3
7
3
D
3

Correct Ans : C

Q.No: 200 The equation of the plane through the intersection point of the planes x + y + z = 1 and 2x + 3y - z + 4 = 0, and parallel to x-axis is :
2405165

X-318 & GHAIR AT GHAA X +y +z = 1 AR 2x + 3y - z + 4 = 0 F Uwde fag F ToRA IT0 THAS BT GHIHRT &
QRv=-74+6=0N
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A

-_— = - — -

3y-z+6=0

y-3z+6=0

y-3z+6=0

3y-2z2+6=0

3y-22+6=0

y+3z+6=0

y+3z+6=0

Correct Ans : B

Q.No: 201
2405168

. . . x+1
The equation of the plane containing the line -

fawg (0, 7.-7) @am X@r

X+y+z=1

x+y+z=1

xX+y+z=2

xX+y+z=2

XxX+y+z=0

X+y+z=0

x+7y-7z=4

xX+7y-7z=4

Correct Ans : C

Q.No: 202
2405174
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The equation of theline passing through the point (1, 2, -4) and perpendicular to the two lines
x—2 y+19 _ =z-10

2 -156

faeg (1.2, 4) & Trer o Y@t =2
T@T &7 FHEOT gHT ¢

x—1 y-2 z+4

x+1

-3
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¥y-3
2

x—15 _ y-29
3

2

= % and the point (0, 7. -7) s -

%”m‘rr@#rmﬁmawaﬁmm%:

- x—15 y-—29 —
ug = =

71141
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x-1 y-2 Z+d

1 0 -1

Correct Ans : A

Q.No: 203 The perimeter of triangle with sides 31 + 4j + 5k, 41 — 3] — 5k and 71 + jis

2405183

31+ 4j + sk, 41— 3) — sk AT 71+ § =3t arer Peger 7 oRfAfG § -

\.’E
A

V50

V150
B

\.*ﬁ

V200
C

\."'m

\."m
D

\."m

Correct Ans : D

Q.No: 204 If one side of a square represented by the vector 31 + 4j + 5k, then the area of square s
2405184

Al ush It v g1 Al 31+ 4j + Sk, GART AR B B AT T T &G & -

50
A

50

25
B

25

13
C

13

12
D

12

Correct Ans : A

24'\:)05128055 If ?= 21+ 5jand ? =27 — 7. then unit vector along ? + 3 will be

A 7=21+53R P =20 5.9 7+ a9 SHE AW g
i+]
vz
A
vz
1+7
B
1+7
C
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V2(i+71)

V2(i+71)

-
_||
oy

}
1l

-y
|
—

,
ral

Correct Ans : A

(22-’\:)03 28066 The points having position vectors 21 + 3j + 4k, 31 + 4j + 2k and 4i + 2j + 3kare
4051

faeg Totordh Rourclh afger 21+ 35 + 4k 31+ 4§ + 2k 3R 1+ 2§ + 3k &

Vertices of a right angled triangle

A

T TSI Ay & =i

Vertices of an equilateral triangle
B

TP GHETg By & i

Vertices of an isosceles triangle
C

T THigSTg By & 2

Collinear
D

TRy

Correct Ans : B

Q.No: 207 The yalue of K for which the vector a =1—j and b= —2i+ Kj are collinear, is :

2405187
K& a7 foad g g a=i-j3ik b= i+ xjaaydm
1
A
1
2
1
3
B
1
3
2
(o}
2
3
D
3

Correct Ans : C

Q.No: 208 If 3 triangle ABC. if 2AC = 3CB. then 204 + 308 =
2405188

U TABIABC & I 2AC = 3CB. A 20A+ 30B=

A —

oc
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Correct Ans : C

QNO: 209 (= a4 (2 o (2 D) D
20518 G-DI+H GDI+E-R)E

EDi+ EDi+(E.Rk

a
A

a

23
B

23

0
C

5]

-a
D

Correct Ans : A

Q.No: 210 The angle between the vectors (21 + 6] + 3k) and (121 — 4f + 3k) is :
2405190

afeer (2i+ 6§+ 3k) 3R (121 — 45 + 3k) & & o1 § -

A
i
cos™1 (—)
10
9
cos™t [—)
91
B
9
cos™t (—)
91
9
cos™1 (—)
11
C
9
cos™! (—)
11
D _141
cos™! (—)
-]
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Correct Ans : B

Q.No: 211 A unit vector which is perpendicular to 1+ 2j — 2k and —1 + 2j + 2kis

2405194

Correct Ans

Q.No: 212
2405198

Correct Ans :

Q.No: 213
2409482
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afeer 14 27 — 2k 3R 1+ 2+ 2k & wrgad o Ofer €

~(2i-B
WV

=(2i-0
Vo

L(—2i+D)
\.':I

L(-2i+1)
\.'J

1 PR .
E(Zi+j+k)

1 A A
=0i+7+5)
A3
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— (2148
Vo

1 ~
l—,T(Zi-Fl’{j
Vo

:D

|(@ xB).¢| = I3l [b] [2lif:
|(Gxb).¢| =13l o] Bl T -
ib=b.t=0
ib=b.t=0
b.c=¢t.i=0
be=%t.3=0
t.a=3b=0
¢i=3ib=0
ib=b.t=¢.3=0
Zb=b.t=¢.3=0

D

If f(x) = E then f[f(cos26)] =

o f(x) = =, flf(cos26)] =

tan 26
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tan 26

sec 28

sec 26

cos 28

cos 26

cot 28

cot 28

Correct Ans : C

Q.No: 214
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1

2400483 1ff(x) = cos (logx), then f(x) f(v) — 2 [f (%) + f(x}’)] =

T £(x) = cos (logx), T £ £) =3 [ (5) + £ Cow)| =

-1

Correct Ans : D

Q.No: 215
2409484

Domain of the function f(x) = sin'}(1 + 3x +2x2)is

f(x) = sinl(1 + 3x + 2x2)&T Wi d & :

(_00: UD)

(—00, wj

(_11 1)

(—oo, —%) U(z, o)

(—oo, —%) U(z, o)

Correct Ans : C
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Q.No: 216 . 1 7.
2409485 The domain of sin [1033 (5)] is

sin~t [log; (‘31)] FT Ued & :

[1,9]
A

[1,9]

[-1, 9]
B

[-1, 9]

[-9,1]
C

[-9,1]

[-9,-1]
D

[-9,-1]

Correct Ans : A

Q.No: 217 The range of f(x) = cos x - sin x is :
2409486

f(x) = Cos X - sin X PTIRE R :

[-1,1)
A
[-1,1)
('11 '1)
B
('11 '1)
[—V2.42]
(o}
[—V22]
T
[-33]
D
T
[-33]

Correct Ans : C

2400487 IE(x)= i,then £ (x) =

R £ = @@ (9=

1+x
x
A
1+x
x
1
1+x
B
1
1+x
C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 771141



1/5/22, 3:25 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx
1+x
(1-x)

Correct Ans : D

Q.No: 219 lim a2%—x®
2409488 If ——== —1then
X —+axt-—a

lim a*-x*
—_— =1
x — ax"-a® as
a=1
A
a=1
a=0
B
a=0
a=e
C
a=e
1
a=-=
e
D
1
a=-
e

Correct Ans : A

QNo: 220 1. o
3400480 ™ [1+—)

p4

. nx
lim [1+_) _
X — 00 x
e
A
e
1
e
B
1
(=
2e
C
2e
o2
D
N
o2

Correct Ans : D

Q.No: 221 dx

2409720 [———— =?
tanx + cotx
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J'L=?

tanx + cotx

Cos 22X
—_— C
2 +
A
CO5 22X
—_— C
2 +
sin2x
—TC
2 +
B
sinZx
— T C
2 +
sin2x
——+c
2 +
C
sin2x
——+4c
2 +
cos2x
——+c
2 +
D
cosZx
- C
, +
Correct Ans : D
Q.No: 222 dx
2409721 JEAVE-2 —

ILZ

\."E +4/x-2

%[XWZ— x—22]+c

A
%[)(3!2_ x—2*?]+c
%[lerz— [X—Z)”z] +c
B
é[xm— x—2Y] +c
§[X3f’2+ (x—2)*?]+c
c
g[x3f2+ (x—2)¥?]+c
;[xl’rz-i— x—2Y] +c
D

%[X1f2+ x—2Y] +c

Correct Ans : A

Q.No: 223 dx

2409723 —_—=
J- sin x + cosx
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J- dx _

sin x + cosx

10gtan(§+%): o

A
logtan(§+%)= c
élogtan G+§) =c
B
élogtan G+§) =c
log tan G —g) =c
C
logtan G —%) =c
Sigan(3-3) =
D

Hogtan (5-3) = ¢

Correct Ans : B

Q.No: 224 1— tanx
2409724

1+ tanx

J-l—!:r:mx
1+ tanx

log sec (%— x) +c

A
log sec (%—x)+ c
logcos (Z—x) +¢

B
1ogcos(§—x) +c
logsin (X —x) +¢

c
log sin (%—x) +c
logsin (Z+x) +¢

D

log sin (%+ x) +c

Correct Ans : D

Q.No: 225 dx
2409726

14+e?
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dx
j1+82=

log(1+e*)

log(1 4+ e*)

—log(1+e™)

—log(1+e™)

log(1+e™™)

log(1+e™)

—log(1—e™™)

—log(1—e™™)

Correct Ans : B

Q.No: 226 Ix?
2409727 | ——dx =
x5 +1
3x?
f —dx =
X" +1

tan " (x%®) +c

A
tan 1(x%*) +c
log (x®*+1) +c
B
log (x® +1) +c
Jtan ' (x*) +c
o
Ftan 1 (x*) +¢
log(x*+1)+c
D

log(x*+1)+¢c

Correct Ans : A

Q.No: 227 cosyx
2400728 | —= dx =
J

[ ax =

2cosxX+c
A

Z2cosyx+c
B
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2sinyx+c

2sinyx+c

sinyx+ ¢

sinyx+ ¢

cosyx + ¢

cosyx+ ¢

Correct Ans : C

Q.No: 228 /2 sin3/2 x
2409751 —— dx =
J; cos¥2 x + sin3/2 x
J‘“ﬂ sin?/2 x 4
cos3/2x +sind3/2x
o
A
o
m
B
m
m
2
C
m
2
m
1
D
m
4

Correct Ans : D

Q.No: 229 n/2
2409752 j logsinx dx =
0

2
j logsinx dx =
0

T log2

28
A

T log2

2 %8

oo

mlog>
B

oo

mlog>
c oL

mlog>
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. 1
mlog;

—log2

T log2
2 %8

Correct Ans : A

Q.No: 230 4
2409753 j log(1+tan@) de =
o

4
j log(1+tan6)de =
0

Tlog2
18

—log?2

11] 1
1 %832

'n] 1
7983

T log?2
g 8

—log2

'n] 1
89572

'n] 1
8 %572

Correct Ans : C

Q.No: 231 . . dy dy
2409782  The order and degree of the deferential equation G. e 7x=0uare

&mﬁﬂmﬁwwj%—4j—if—?.\-=oﬁﬂﬁ(mwwﬁ(@ﬁnﬁ:

1)5
2

A
1
L3
2,1

B
2,1
1,1

C
1,1
1,2

D
1,2

Correct Ans : D
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Q.No: 232 A coin is tossed and a dice is rolled. The probability that the coin shows the head and dice shows 6 is :
2409783

e 9P B ISTA 9T 8, TUT U U Pl Jgbrl Wil € g R 4 (38) 3R TR W 6 U B B MRAibT & -
1

8

Correct Ans : B

Q.No: 233 The probability that an ordinary year has 53 Sunday is :

2409784
T g ¥ & 53 AR 8 ) mRiear ©
2
7
A
2
7
1
7
B
1
7
3
7
c
3
7
0
D
0

Correct Ans : B

Q.No: 234 Two dice are tossed, the probability that the total score is a prime number is :
2409785

& UT BT IBTEH W, $F AN F T TSI G&AT B BT WIidehe

1
6
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[

| =

L] =

Correct Ans : B

Q.No: 235 The probability that a leap year have a 53 Sunday is :

2409787
e 3ifay # 53 IIAR B Bl wiieer &
4
53
A
4
53
4
49
B
4
49
c
1
7
2
7
D
2
7

Correct Ans : D

Q.No: 236 1In a single throw of two dice, the probability of getting sum more than 7 is :
2409788

2 U Y THETY IBTE W AT 7 S o B giisar §

7
36
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7
12

Correct Ans : C

Q.No: 237 Two dice are tossed, the probability of getting a sum 9 is :
2409789

S UTE Y ISTeH W N 9 3 B Ui ©

7
18

O] = WO =

1
6

Correct Ans : C

Q.No: 238 A and B toss a coin alternatively, the first to show a head being the winner. If A starts the game, the chance of his winning is :
2409790

AT B T - IR A U RyaepT IoTad €, Ted MY (8S) U B ara faor g : afe A WA IE Al 7, A Ia9P 91 81 3 wiipar § ¢

12
A

5

12

1

2
B

1

2

1

3
Cc

1

3
D
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W |

2
3

Correct Ans : D

Q.No: 239 Two cards are drawn one by one at random from a pack of 52 cards the probability that both of them are king is :
2409791

52 T @1 T TS A W & U TRfRIE U I FE 9 §: 37 1 & Sax0g 89 Bl Wi

2
13

Gl

169

169

221

1
221

30
221

30
221

Correct Ans : C

24'1‘;82;‘3 HY(x— %)% =365y —7)% = 25 and ¥(x — X)(y — ) = 20 then Karl pearsons’ coefficient of
correlation 1s :
I Tx—%)2 =36, Ty —7)? = 25 HR T(x— %)y —5) = 20 O BHlc] TIHA & Ggaeaey
i & -
0.33
A
0.33
0.66
B
0.66
0.2
C
0.2
0.5
D
0.5

Correct Ans : B

Q.No: 241 In the variance of two variables x and y are respectively 9 and 16 and their co-variance is 8, then coefficient of correlation is:
2409803

T &1 =R x TUT y & TIROT HHA: 9 TUT 16 8, 7R 7T YGURRY 8 § 76 Jgqwael 0N ¢
A 2

9
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2?|\.n LIS
|

r3l

““|
< |
3]

““|
< |
3]

Wil ra

Wil

Correct Ans : D

Q.No: 242 ) ) oty an\® .
2409805  The order and degree of the differential equatmnm + (E) +x"* = 0are:

dZy | (dy)'? : .
aael T —y+(—y) +x4 = o IfE vd T § -

dx? dx

2,3
A

2,3

2,6
B

2,6

2,4
C

2,4

3,3
D

3,3

Correct Ans : A

Q.No: 243 ) . . d%y dy ) . ) .
2409806  The differential equauonﬁ +X; + siny + x° = 0 15 of the following type:

d= d .
mmﬁud—iﬂmsz:oﬁmﬁﬁaﬁﬁﬁmwﬁ%:

Linear
A
e
Homogeneous
B
a9
Order two, Degree two
C
Fife @, o
D Degree one, order two
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U1 TP, Pife af

Correct Ans : D

Q.No: 244 3/2
2409807 ] ] ] 1+(g) _
The order and degree of the differential equation g = 2 are respectively:
di
H_(%)z 32
Haehdl HIEAT g = 7, &1 FIE AT T HAM: oo B
=
2,2
A
2
2,3
B
2,3
2,1
C
2,1
1,2
D
1,2

Correct Ans : A

Q.No: 245 The order of differential equation of all parabolas having directrix parallel to x-axis is

2409808
x-3{&f & TR FRIar R ard Tt Raadl & sada THRSU 3 B
1
A
1
2
B
2
3
c
3
a4
D
a4

Correct Ans : C

Q.No: 246 y = 4 sin 3x is a solution of which differential equation:
2409809

y = 4 sin 3x, {9 sawa THIH &1 & &:

dy
—+8y=0
dx Y

A
dy
—+8y=0
dx Y
dy
——8y=0
dx ¥

B
dy
——8y=0
dx 4

c
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d?y

F+9y= 1]
d?y
m"'gy: li]
d’y
=0
D
d’y
az =0

Correct Ans : C

Q.No: 247 The differential equation of the family of curves y = a cos (x + b) is :

2409823

FHPAy = a cos (X + b) MTHA THIRT § :

d?y

a V=0
A

d?y _

a Y

d?y

azty="0
B

d?y

azty="0

d?y

F‘l’ 2y=0
C

d?y

m"‘ Zy =0

dZ
KEJF ay =0

D

dZ

EE;-’_ ay=10

Correct Ans : B

Q.No: 248 Which of the following differential equation is represented by family of carves v =% (A cos + B sin x)

feFafafa & & &l 1 el THIGIOT, dehdhel v = ¢* (A cos + B sin x) GaRI =&6idd iar &:

2409824
dzy_zdy
axz Tax Y
A
dzy_zdy
axz” “ax Y
dfy _dy
o2t >
a7
B
dy  _dy
—2=221_2
a Tax Y
C d2y_d}"
dx?  dx
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d’y dy

dx?  dx

dy ¥
a2y
dx? a0

D

dy _ _dy
—to2 74y
dx? ax )

Correct Ans : B

Q.No: 249 The differential equation of all straight lines passing through origin is :
2409825

@ g ¥ ToRA Telt gt WRet X@eit B sawd THieR §

_ Y
y= xdx

A
_ [ %
y= xdx
dy
— =y 4+
dx yox
B
dy
—=v+
dx yrx
dy_v
de x
(o}
dy_vy
de x
dy_
(1)(_}r %
D
dy_
dx yox

Correct Ans : C

Q.No: 250 ] _ 42 dw 2 ~ dvy
2409827 The degree of differential equation dx}; +3 (d—ir) =x"log (é) 1s

2
Hawe mﬂvﬂwj?u(g) = log(:%)ﬁﬁf oI
3
A
3
2
B
2
1
C
1
Not defined
D
afefor Y 3

Correct Ans : D

Q.No: 251 If mass of a body is M on the earth surface, then the mass of the same body on the moon surface is-
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2405429

gfe; fpeft axg b1 GoamH gl R M R, ST GoHHM HgHT W gl

M
6
A
M
6
Zero
B
M
Cc
M
M
2
D
M
2

Correct Ans : C

Q:No: 252 The mass ofthe moon is 7.34 = 102 kg and the radius is 174 = 10°m. The value of gravity will be-
2405440

AT & EeAATA 7.34 x 102 T 3R Bisar 174 x 108 #. 81 I&cdia @e & AW gren-

1.45N/kg
A

1.45N/kg

1.55N/kg
B

1.55N/kg

1.75N/kg
C

1.75N/kg

1.62N/kg
D

1.62N/kg

Correct Ans : D

Q.No: 253 If m the mass of earth and R its radius, the ratio of the gravitational acceleration and the gravitational constant is-
2405441

g gt 1 SoHE m @ BIsT R B, @ 59 Tedd @R 3R Reaisyur Fgdie &1 Siurd §0-
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m

R2

mR?

mR?

|8

m
R

Correct Ans : B

Q.No: 254 A particle falls towards earth from infinity. Its velocity on reaching the earth would be-
2405442

TH B 3T Y gl Y R RA1 31 gt d Uge W 3THT I B-
Infinity

4 2gR

4 2gR

2,/gR

2,/gR

Zero

RSl

Correct Ans : B

Q.No: 255 The mass number of iron nucleus is 56, the nuclear density is-
2405445

SR (TIR) & I BT ST I 56 8, TDT T 8-

229x% 10" kgm™

A
229 % 10 kgm™?
229x10¥kgm?
B
229 % 10¥kgm?
229x10¥kgm?
C
229 % 10¥kgm™?
229x 10 kgm?
D

229 %10 kgm?

Correct Ans : B
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Q.No: 256 When a horse pulls a wagon, the force that causes the horse to move forward is the force.

2405452

S T 3179 T TS Bl Widdl ¢ ol 98 o fore! aoig J 319 3 ol o8-

The ground exerts on it
A

Rt Y W ORI}

It exerts on the ground
B

37 Rl W SR a1 ®

The wagon exerts on it
C

M 39 W &R & 3

It exerts on the wagon
D

98 S W SR A B

Correct Ans : A

Q.No: 257 The motion of a rocket is based on the principle of conservation of-

2405453
Ape i R W aiefa 3 a8, Riia wRe0R-
Mass
A
SHM BT
Kinetic energy
B
Tt et &1
Linear momentum
C
gt T B
Angular momentum
D

I o BT

Correct Ans : C

2;1'\:)‘)._;:425578 The dimensional formula of physical quantity is M* L® T¢. Then that physical quantity is:-

siifae Ofer farger T gaetor M2 Lb Tc §» a5 sifds afer §-

Surface tensionifa=1,b=1,c=-2

A
@ e, dda=1,b=1c=-2
Forceifa=1,b=1,c=2
B
sAdfda=1,b=1¢c=2
Angular frequency ifa=0,b=0,c=-1
C
Foig sEffaka=0,b=0,c=-1
Spring constantifa=1,b=-1,c=-2
D

Rnfgaida=1,b=-1,c=-2

Correct Ans : C

Q.No: 259 On rotating a point charge having a charge q around a charge Q is a circle of radius of radius r. The word done will be-
2405465
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e fig S q BT AN Q F IRI 3R T r Biean & g & gAmn g o foar man St ghm-

g x2nr

g x2nr

gx2nQ
r

gx2nQ
r

Zero

RS
Q2

2gyr

Q2

2e4r

Correct Ans : C

Q.No: 260 If the linear isotropic dielectric is placed in an electric field of strength E, then the potential P is-
2405466

I Wl g WIdgyd & WfH E & fagga & & a1 o, f fava p 3-

Directly proportional to E

A
E & QR gl 8
Independent of E
B
E ¥ a1 ¥
Directly proportional to +E
C
VE & WHAEYE grar §
Inversely proportional to E
D

E & SSHHIIN! Sl 3

Correct Ans : A

Q.No: 261 Two parallel metal plots having charges +Q and -Q face each other at a certain distance between them. If the plats are now dipped in kerosene oil tank, the
2405467 glectric field between the plates will.

Sl GHIGR UTg B W, o IR AT +Q 7 -Q B, Uh gWX & I FfEd gt R B 9 @t B FIRM At Bt <ol F g e W, @ We & o fagga &= gnm-

Becomes zero

A
4 @ S
Increases
B
§¢ R
Decrease
C
B g SR
Remain same
D

ufkafefa @
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Correct Ans : C

Q.No: 262 The manifestation of bound structure in solids is due to-

2405472
BT H sy W 1 st 1 HRu R-
Heisenberg uncertainty principle
A
Frzoe o1 sifRfar Risia
Pauli’s exclusion principle
B
TS T TR R
Bohr’s correspondence principle
C
IR 1 G Rigid
Boltzmann law
D

Sreesri fram

Correct Ans : B

Q.No: 263 The term inertia was first used by-

2405488
e’ Teq Bl UGN God Ugdl fopar U1
Newton
A
Gl
Galileo
B
QG
Aristotle
C
Rred
Kepler
D
FER

Correct Ans : B

Q.No: 264 When two surfaces are coated with a lubricant then they-

2405489
9 @ g W FAIHAE $ WRd T < 9 o 98-
Stick to each other
A
@ R @ Rive o ¥
Slide upon each other
B
T T W WIS X
Roll upon each other
C
T R RAT AT §
Can’t say anything
D

O Bl gl o gl

Correct Ans : B

Q.No: 265 An object start sliding on a frictionless inclined plane and from same height another object start falling freely-
2405498
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T I T A T TA W TS R I T AR I S I g I @ w0 9 R ¥ R-

Both will reach with same speed

A
I T T & R T
Both will reach with same acceleration
B
Y T @R & A v
Both will reach in same time
C
T TP M U § 9 R A dga
Can’t say anything
D

O Bl gl o gl

Correct Ans : A

Q.No: 266

2405500 A\ sphere of radius R has a uniform distribution of electric charge in its volume. At a distancex

from its center, for x <R, the electric field is directly proportional to-

wF R & IS F aas 7 fAegd A F UHEEAS AR 8, S0 Feg o
x gl W (x<R ¥ for0) fagga & AR &-

1

xZ

A
1
X
1
X
B
1
X
X
c
X
x2
D
x2

Correct Ans : C

Q.No: 267 The distance of a geostationary satellite from the center of the earth (Radius R = 6400 km) is nearest to-
2405519

gt ¥ Fg T YRR I 31 g8 1 ol o @ 5w 7@ & T 3- (3= R = 6400 f)

5R
A

5R

7R
B

7R

10R
C

10R
D 18R
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18R

Correct Ans : B

Q.No: 268  Three resistances of 4Q each are connected as shown in figure If the point D divides the

2405539 | gistance into two equal halves, the resistance between point A and D will be-
A
452 40
B D C

T gfaer e & uds 4 30\ & §. O 7 B 3eEr o Rl o § ol
fdg D 9foRler &1 & suex #/mi A &, df fdg A 3R D & = ufa gem-
A

1292

129
60

60
30

30

10

1
30

Correct Ans : C

Q.No: 269 The potential difference between A and B in the following figure is-
2405540

A I —W——— ————

60 4V
- B
2A 12V 99 50

Frfafed fom 3, A 8k B & fi9 favars 3-

A I —W——— ————

60 4V
- B
2A 12V 99 50

24V

24V
14V

14V

32V

32V
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48 Vv

48 Vv

Correct Ans : D

Q.No: 270 The equivalent resistance between point a and b of network shown in figure is given by-
2405544

ot & foam T SFUR figait a 3R b & s YA UMY B-

3
iR
4
A
3
iR
4
4
ir
3
B
4
tr
3
R
4
C
2r
4
4
iR
D
4
iR
=]

Correct Ans : B

Q.No: 271 The effective resistance between point A and B is-
2405547

ot % e SFER g A 9iR B & &gyt uReRly 3-
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100

10Q
A

10Q

209
B

2022

402
C

402

25Q
D

25Q

Correct Ans : A

Q.No: 272 Mud houses are cooler in summer and warmer in winter because-
2405551

gt & o7 R R 63 o wfdt # T B €, e

Mud is a good conductor of heat

A

fordt S it e ot @

Mud is a super conductor of heat
B

g} S B gR TS B B

Mud is a bad conductor of heat
Cc

firgt o 2t e Bl ©

Can’t say
D

$B Bel el ol Febll

Correct Ans : C

Q.No: 273 In which of the following process connection does not take place primarily?
2405553

Frforea fafrdl & & frg fafy & wag= mufie w9 3 78 g1 8-

Sea and land breeze

A
R SR Y ag
Trade wind
B
sfis
Boiling of water
C
TR T ST
Warming of glass of bulb due to filament
D

el % PRI, Ied & Prd B T G
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Correct Ans : D

.No: 274 . . . . . .. .
2405555 The temperature of a radiating body increase by 30%. Then the increase in the amount of radiation is-

ue fafehor fos &7 a1 30% & 9¢ ST § o 3G fafeor i Anr A afe §-

185%
A

185%

285%
B

285%

325%
C

325%

130%
D

130%

Correct Ans : A

Q.No: 275 Two spheres of the same material have radii 1 m and 4 m and temperatures 4000 k and 2000 k respectively. The energy radiated per second by the first sphere
2405556 5.

U AeRad & < i, RFet Brsang suen: 1 . 94 . § 3R 90HE 4000 e 7 2000 S 71 Ugd Wa | fawiia €9 areht o ufd Ibs F -

Greater than that by the second

A
T P ol ¥ ifdF ¥
Less than that by the second
B
TR B ol A AR
Equal in both cases
C
e G R
The information is incomplete to draw any conclusion.
D

Fo ft Fofa & R <t i weRt B9 R

Correct Ans : C

Q.No: 276 g . . A .
sa0s569 Mobilities of electrons and holes in a sample of intrinsic germanium at room temperature are

S54m?V-lg!and 0.18 m? V! s respectively. Ifthe electron and hole densities areequal to 3.6
%10 m? the germanium conductivity is.

FAL & AIAR R TH sfegleds ofWAA & AHe A, Sogce d gled @I
Fifaeiierar #5054 m2 Vst 3018 m v sl g1 e soeld a gled @ Hdcd
3.6 *x1019 m3 & WK g, af FHTH FT grelehdT &

414 sm!
A

4.14sm!
B 2.12sm!
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2.12sm’!

1.13sm’!
C

1.13sm’!

5 6sm’!
D

5.6sm’!

Correct Ans : A

2""\(')05:527707 A block of pure siliconat 300K has a length of 10 cm and an area of 1.0cm?®. A battery of emf.
2V is connected across it. The mobility of electrons is 0.14 m?V- s7! and their number density is

1.5 % 10 m. The electron current is-

e & fAfelplel HT 300K cidls 10 A T &iAwel 1.0 JAR §1 Th 2VS.TA.US.
Fr el sacs arer e SAr g1 gescl S afasfierdr 0.14 m?v-lsTl AT Helca
[ET 1.5 * 101 m §1 Tegd omr §-

6.72 x 107*A

6.72 x 107*A

6.72 x 10734

6.72 x 10754

6.72 x 107%A

6.72 x 107%A

6.72 x 107TA

6.72 x 10°TA

Correct Ans : D

Q.No: 278 Five conductor are meeting at a point x, as shown in figure. What is the value of current in fifth conductor?
2405584

14A
x 3A

5A

YSA

15A

Ui 1ee U fig x R o # e s e @ ¥ uied I WR 4RI &1 W o gie

3A away from x

xA3AR

B 1A away from x
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xTIAYR

4A away from x
C

xV4AR

1A toward x
D

X P TRE 1A

Correct Ans : B

(224'\3;528759 When a resistance of 2Q is connected across the terminals of a cell the current is 0.5 ampere,
when the resistance is increased to 5 Q, the currentis 0.25 ampere. The internal resistance of the
cell is-

S UF el & TiAad F 20 &7 YR S5T A7 & o 9RT 0.5 TRiRR & 919 9fa’ieT &1 5
O d% dar fear A, dr gnr 0.25 iR ) O &7 Saie gfady i

0.5 ohm
A

0.5 3

1.0 ohm
B

1.0 39

1.5 ohm
C

1.5 39

2.0 ohm
D

2.0 3

Correct Ans : B

Q.No: 280

2405509 LI @ nuclear fusion reactionmass defect is 0.3%, then energy released in fusion of 1 kgmass-

I vk s Terd fGRar & A BT 03% &, a1 R gede & deras A
e arel Far &-

27 % 10" J

27 % 1007

27 x 101 J

27 x 10 J

27 x 1012 7

27 x 1012

27 x 101 J

27 x 101 J

Correct Ans : D

Q.No: 281 The equivalent energy of 1g of substance is-
2405600
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T 1g dd B FA Sl ¢-
9x10137

9x1017

610127

6% 1011T

3x 10137

3x 10137

6= 1017

6% 1013J

Correct Ans : A

Q.No: 282 Analogue of mass in rotational motion is-
2405602

ool 1 & GerHH $ ST 8-
Moment of inertia
A
S Siref
Torque
B
a aimget
Radius of gyration
C
T P rar
Angular momentum
D

iy dam

Correct Ans : A

Q.No: 283 Which of the following has the highest moment of inertia when each of them has the same mass and the same radius?
2405603

Fraffea & 3 frae v sl T9d sifie g af Tde &1 SormE g e 99 82

A ring about any of its diameter

A
T 1 %1, IuF bt oft e & W
A disc about any of its diameter
B
@ 5% P, IuF e off o & W
A hollow sphere about any of its diameter
C
TP TGS N B, 39t ot o & e
A solid sphere about any of its diameter
D

TF 319 Ta PI, S bt ot oy & e

Correct Ans : C

Q.No: 284 1 kilowatt hour (kwh) is equal to-
2405629
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e falidre Hel & SRR &-

2.25 x 102 eV

A
2.25 x 102 eV
2.25 x 102 eV
B
2.25 x 102 eV’
2.25 x 10%° eV
C
2.25 x 10% eV
2.25 x 1077 eV
D

2.25 x 10%7 eV

Correct Ans : C

.No: 285
2405532 If the waves equation y = 0.08 sinzf (200t — x) then the velocity of the wave will be in

(m/sec.)

AT AT F FEAFOT y = 0.085in>7 (200t —x)§, A AT F AT g GAR) F

40042
A
40042
20042
B
20042
400
C
400
200
D
200

Correct Ans : D

Q.No: 286 In a stationary wave all the particles-

2405752

LI M & IR HUT-

On either side of a node vibrate in same phase
A

S ¥ 1@ B, @ o § U 5 §

In the region between two nodes value in same phase
B

ATSTITF A A T pol A ST P ©

In the region between two antinodes vibrate in same phase
C

RIS FHFHH, GIN A ST AT
D Of the medium vibrate in same phase
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e 7, T $el § $HUT B §

Correct Ans : B

Q.No: 287 Energy needed in breaking a drop of radius R into n drops of radii r is given by-
2405781

T R e 31 g5 B r o 3 n §&f § dg & R srawad el §- -

4nT (nr* — R?)

A
4nT (nr? — R%)
3 (= R)

B
5 P = R)
41T (R* — nr?)

c
41T (R? — nr?)
4nT(nr? + R?)

D

4nT(nr? + R?)

Correct Ans : A

Q.No: 288 . L. L. . .
2405782 Work donein splitting a drop of water of 1 mm radius into 10¢ droplets is- (surface tension of water

=72 = 107 I'm?)

o | AT B 7 9l T 95 & 10581 981 A dise & i B mr #-
(U=t T 56 deld =72 = 103 Se/HR)

9.58 x 1077
A
9.58  10% S
8.95 < 1057
B
8.95 x 10+ e
589 1057
C
5.89 x 10% ST
5.98x 1047
D
598 x 104 STeT

Correct Ans : B

Q.No: 289 A diminished virtual image/jpg can be formed only in
2407299
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T 3T Biel YRl ufafere Rk so8 7 Goval 7:

Plane mirror

A
FHAS U0
A concave mirror
B
g gyur
A convex mirror
C
I qor
Cancave- parabolic mirror
D

AT~ TRITATHR YT

Correct Ans : C

Q.No: 290 The field of view is maximum for-
2407302

e aren &7 I=aw Bl 7, 39 ) (Wies 8if =)

Plane mirror

A
e U
Concave mirror
B
aaa o
Convex mirror
(o
I gy
Cylindrical mirror
D

YTPR Yo

Correct Ans : C

Q.No: 291 Which is not a suitable difference between Biprism and Lloyd's mirror fringes.
2407303

=78 ¥ 1 faforew oiR drae & gdur fibs & g Iuged oick et &2

In biprism, the complete pattern of fringes is obtain. In Lloyd's mirror ordinarily, only a few fringes on one side of the central fringe are visible.

A
faforen & fibsil &1 quf ey TIe g 31 @igs % < & SaR W By b % T W% Had 5o b fewr 33 &
In biprism, the fringes are circular but in Lloyd's mirror fringes are oval in shape.
B
fafrem &, Bbet emer B § A alfas & afor & v R & SisTeR 81 7
In biprism, the central fringe is bright, while in Lloyd,s mirror it is dark.
C
Teregdaran #, Fsia e awestan gian ¢, S digs & quur # ST g B
The central fringe in biprism is less sharp than that in Llyod's mirror.
D

fafirsn & Fta bl dige & qdor ot gon & &1 A g 1

Correct Ans : B

Q.No: 292 A person wants a real image/jpg of his own 3 times enlarged. Where should he stand in front of a concave mirror of radius of curvature 30 cm.
2407305

T A HT SUB! W B aRafdd Tfafard 3 1 31 =g IuH! 30 Yt Ishal 34 a1l sfaqdl TN & HHA Fgl W1 g a1Mey?

A 30 cm
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30 I+

20 cm

20 It

10 cm

10 I
90 cm

90 It

Correct Ans : B

Q.No: 293 Radius of curvature of concave mirror is 40 cm and the size of image/jpg is twice as that of object, then the object distance is:
2407308

TH faqd U BT Ishdl B3 40 9ft ¥ SR U &7 SR, 9% F SR F & A1 7, o 3001 § 9% Pt g 3-

60 cm
A

60 It

20 cm
B

20 &t

40 cm
C

40 I+

30 cm
D

30 It

Correct Ans : D

(224’\:;’752;; A block of mass 2kg is attached to the spring of spring constant 50Nm~1. The block is pulled to a distance
of 5 cm from its equilibrium position at x = 0 on a horizontal frictionless surface from rest att = 0. The

displacement of the block at any time tis-

Uk 2 Tl GCOAE @ Solle Uk U TEGA ¥ Sior Sar B, fSeer Fua Egdie so
e 81 e aifds =dor T was & RREETer t=o0  dqfod Rafd x =0 @ 5
AT gl W soile GiaT ST §, ol fhell T8 ¢« W sl 1 favumye §-

x = 0.05 sin 5 tm

A
x = 0.05 sin 5 tm
X = 0.05 cos 5 tm
B
x = 0.05 cos 5tm
x = 0.5sin 5 tm
C
x = 0.5sin 5 tm
x =5sin 5tm
D

x =5sin 5tm

Correct Ans : A

Q.No: 295 A particle executes SHM of period 12 s. After two seconds, it passes through the centre of oscillation, the velocity is found to be 3.142 cm per second. the
2407540 amplitude of oscillation.

U BUT T H1d 12 V. §, T 3Had 7S IR 36T 8 & Jbs & a1 I Qe & bx F Tordl g1 S 3T 3.142 it ufd Ypvs uram 711 §, O e &7 1M 3-
A 6 cm
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6 qft

3 cm

3 it

24 cm

24 I

12 cm

12 3

Correct Ans : D

Q.No: 296 The rate of increase of thermo e.m.f with temperature at the neutral temperature of a thermocouple

2408214
YTt f3ggd a6 90 & de P &%, AUHM & 1Y, YHGHUA & IR dgdH TR
Is negative
A
HURES §
Is positive
B
I &
Is zero
C
TEd
Depends upon the choice of the two materials of the thermocouple.
D

yrfepud & & HRad & g W Rk xar 31

Correct Ans : C

Q.No: 297 The electrolyte used in Lechlanche cell is

2408215
TR e & ITERT B aren fagga Sueed € -
Copper sulphate solution
A
PR Febe o
Ammonium chloride solution.
B
ST HARES 9
Dilute sulphuric acid
C
T SRR
Zinc sulphate
D

i wetthe

Correct Ans : B

Q.No: 298 A railway compartment is lit up by thirteen lamps each taking 2.1 amp at 15 volts. The heat generated per second in each lamp will be
2408323

T YeHTIS! BT ST 13 A9y I R F vedes 2.1 THUR & URT 15 diee W A1 2, A< fpar Sl 81 Uedes A § ufd Ybus st S €t -

4.35 Cal
A

4.35 Cal
B 5.73 Cal

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 109/141



1/5/22, 3:26 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

5.73 Cal

7.5 Cal
C

7.5 Cal

2.5 Cal
D

2.5 Cal

Correct Ans : C

Q.No: 299 One kilowatt hour is equal to
2408330

T fpeiidie el & IR §

36%10° Jooles

A

36x10° s1=r

36x%10% Jooles
B

36x107 3=

10° Jooles
C

103 e

10° Jooles
D

10° 51e

Correct Ans : A

Q.No: 300 The resistor of resistance R is connected to 25V supply and heat produced in it is 25 J per sec. The value of R is
2408336

T UfRRIY R Y 25V B @S J SIST ST & 3R 3Hb S0 ST 25 J Ufd V6. SR PTAF &

2250
A

2250

10
B

10

25Q
Cc

250

0Q
D

0Q

Correct Ans : C

Q.No: 301 National Botanical Research Institute (NBRI) is located at-

2404197
T TR SFFHUN TR (NBRI) R &-
Kolkota
A
Frerar §
Shilong
B
et &
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c LUCKIIUwWwW
TS A
Darjeeling

D
qiffferT

Correct Ans : C

Q.No: 302 The largest herbarium of India is located at-

2404198
HRA &1 Jod §sT aefa Iuered fRid Bl
Dehradun
A
CLCa
Bhopal
B
e
Shillong
C
et
Kolkata
D
EIREan|

Correct Ans : D

Q.No: 303 Royal Botanic Gardens (Kew Garden) is situated at -
2404199

T g S (Fid S9H) fRa B

London

Paris

Berlin

Tokyo

Sl

Correct Ans : A

Q.No: 304 ‘Criteria of essentiality’ for essential mineral nutrition in plants was given by-
2404425

el 7 SHTaRas Gveh dal & oy A ARt 3 FEE 3 ved -
Arnon (1954)

A
3 (1954) 7
Nicholas (1961)

B
feaw (1961)
Hill (1937)

C
e (1937) 3

D Hatch & slack (1966)
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¥ W W (1966) 7

Correct Ans : A

Q.No: 305 Which of the following element is not a macronutrient-

2404426
o & @ B 91 o ged Ui e T 82
Calcium
A
Hcamm
Magnesium
B
Aviifrw
Sulphur
C
R
Boron
D
R

Correct Ans : D

Q.No: 306 Which element is structural component of methionine and thiamine-
2404427

g 7 ¥ $F 1 da DREFT v USfm &1 ReTree saud 82

Silicone
A
R
Zinc
B
i
Sulphur
C
R
Boron
D
R

Correct Ans : C

Q.No: 307 Which element is known as ‘Key to life’ for plants-
2404428

P ¥ 7@ &I et & T sftas 1 o Fea 72

Magnesium
A
Aviifrw
Phosphorus
B
HIEHRY
Zinc
C
i
Iron
D
e

Correct Ans : B
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24'\(‘;24370; Plant growth hormone 15t isolated by yabuta & Hayashi (1939) was.

Tl U4 B (1939) GRT gU fbar 1 dy gig g 8-

Gibberllin A
A
[EEREERY
IAA
B
Yy
IBA
C
LN
Ethylene
D
Tifer

Correct Ans : A

Q.No: 309 Potent Parthenocarpic agent is-

2404478
e $ifA¥E W Tele R-
Zeatin
A
fefe
ABA
B
LY
Ethylene
C
i

Gibberrellin

foRfe

Correct Ans : D

Q.No: 310 Tuberization in Potato can be induced by hormone-
2404479

o & St WA H aren g 8-
1AA

T

Cytokinin

RlECEQREE]

Abscisic acid

sl et

IBA

g d T

Correct Ans : C

Q.No: 311 Which of the following is not a natural hormone in plants?
2404480

g & HH-a1 Dl F urplae g e 82

TAA
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LAR

A

METY

2,4-D

2,4-D
GA2

Siw 2

ABA

LR

Correct Ans : B

Q.No: 312 Which of the following is used for ripening of fruits?
2404481

g freT SUENT Bl &1 T & g fasar Siar 82

ABA
A
LE
Ethaphon
B
TUTHH
IBA
C
AT
Cytokinin
D
EAPTER

Correct Ans : B

Q.No: 313 Richmond-Lang effect (1957) has been studied on plants-

2404482
ReErs-amIHTg (1957) &1 3eag faar mar-
Xanthium
A
SR R
Tobacco
B
E R
Chlorella
C
FANA W
Pinus
D
TETE R

Correct Ans : A

Q.No: 314 Which of the following is a biochemical test to check the viability of seeds -
2404483

oSt B Sita e we 3g B § § F 91 wieor S9 3umae wder 32

Potassium permanganate method

iRy wATe fafy

B Electrical condancer

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 114/141



1/5/22, 3:26 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

g = fafy

Indigo carmine method
C

e fafy

Tetrazolium test (TTC)
D

eeiferan wleror

Correct Ans : D

Q.No: 315 A plant hormone, which controls cell division and cell differentiation is—
2404484

PRI AU Td B! e Fafid $=a arar uey gmF ¢-

IAA
A
SR
Kinetins
B
TR
ABA
C
Lo
Gibberllin
D
[EENEE]

Correct Ans : B

Q.No: 316 Which plant hormone acts as antitranspirant?

2404485
o & ¥ S 91 ey g vfiary-Iesie 82
ABA
A
g
IAA
B
3T
IBA
C
sy
Cytokinin
D
TP

Correct Ans : A

Q.No: 317 The hormone present in Liquid endosperm of Cocos nucifera is -

2404486
I e R YOI T IR T 8-
IAA

A
amfey
Gibberllin

B
rRfer

c Cytokinin
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TRABRAA

ABA

LSIl

Correct Ans : C

Q.No: 318 The mineral constituents of plant cell wall is—

2404487
Ty HIRIeHT firclt 31 B gew 3-
Iron
A
die
Cobalt
B
PlaTe
Manganese
C
s
Calcium
D
Hiewm

Correct Ans : D

Q.No: 319 Father of Plant Physiology is-

2404488
ey FIRfE F T F F I §?
P. Maheswari
A
o, AR
Robert Hill
B
Tacfed
Stephen Hales
C
WrTow
M. Calvin
D
. B

Correct Ans : C

Q.No: 320 Botanical name of teak is -

2404575
A 1 Il W 8-
Argemone Mexicana
A
TSR AeRft
Tectona grandis
B
TR Tifsw
Tamerindus indicus
C
Tifsw sfeew
Albizia lebbeck
D

R dds
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Correct Ans : B

Q.No: 321 Number of grasslands (according to Dr.D.N. Tiwari) in Madhya Pradesh are

2404576
TR & fpa TR (ST, ST, o & oguR) Ud w82
3
A
3
5
B
5
8
c
8
12
D
12

Correct Ans : C

Q.No: 322 Key solution to energy crisis is—

2404577
Foll ebe T R FHIYM B-
discovery of petrol
A
Wi 9 @
discovery of coal
B
P I @l
alternative energy source
C
Iofe ol @
power cut
D
faroreht e

Correct Ans : C

Q.No: 323 The process of establishment of primary plants at barren land is known as

2404642
el R a4ff 2 TR el & i8R ) ufba B e &
ecad
A
5
aggregation
B
heid
ecesis
C
R
migration
D
Haqq

Correct Ans : C

Q.No: 324 Fishes die due to the deficiency of which of the following in polluted water?
2404643
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Vet wa & i # fpue! writ I mefl o 32

glucose
A

ecar]

oxygen
B

HiefiorH

minerals
C

e

Carbon dioxide
D

Pa SRSFES

Correct Ans : B

Q.No: 325 Which of the following pair causes acid rain?
2404644

o & BH-91 SireT ol avf &1 HRUT R 2
CO and CO»
A
CO 3R CO2
CO and O
B
CO 3ROz
S0; and NO>
c
SO, 3T NO;
CFCs and Oz
D

Eﬁ?ﬂﬁﬁTOg

Correct Ans : C

Q.No: 326 Carbon monoxide poisoning in humans leads to the formation of
2404645

et ¥ BrEASES fued $ By ST 8-

oxyheamoglobin

A
SffRfigrAreaT
legheamoglobin
B
SURE CIE ]
Carboxyheamoglobin
C
PrafRIEEReET
Heamocyanin
D

AR

Correct Ans : C

Q.No: 327 Which of the following air pollutants comes under particulate matter?
2404646

g & Q B T a1 UGy BT dd & ieRfd S §?
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A Olefins

Saft=g

Photochemical smog

USRI IS Gy
CFCs

Huwst

flyash

CERRUC)

Correct Ans : D

Q.No: 328 The range of frequencies of sound heard by the human ear range from

2404647
TFd S GRI G S arelt @ Bt sgfadt @t @ g-
1 Hz - 2 Hz
A
1Hz-2HzF &9
2 Hz - 20 Hz
B
2Hz-20Hz $d9
20 Hz - 100 Hz
C
20 Hz - 100 Hz & &9
20 Hz - 20000 Hz
D

20 Hz - 20000 Hz & &9

Correct Ans : D

Q.No: 329 According to WHO'’s guidelines, the threshold level of noise above which the noise becomes harmful to human health is

2404648
Seguged & oz APl & SR TR 31 Hm &1 TR e SR AR A9 Wy & Y g eRS 8 o1 8:
25 Db
A
25 St
55 Db
B
55 Siet
90 Db
c
90 Sist
110 Db
D
110 st

Correct Ans : B

Q.No: 330 Which of the following radioactive isotopes is a harmful pollutants?

2404649
g & 3 P w1 Mgyl e ue sieRS Ugud 82
Strontium-90

A
ag-90

B Potassium-40
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reRRrm-40
Carbon-14
C
FE-14
Thorium-232
D

yifgy-232

Correct Ans : B

Q.No: 331 Chernobyl disaster (1986) is related with

2404650
Tiferet gHedT (1986) 1 HaY -
electronic pollution
A
ESE R
radioactive pollution
B
e ufded wguw &
water pollution
C
TAGHT &
sound pollution
D

SRR

Correct Ans : B

Q.No: 332 Percentage of carbondioxide in atmosphere is-

2404779
TRATST | HIETSEHRIES BT U< 8-
0.0003%
A
0.0003%
0.003%
B
0.003%
0.03%
c
0.03%
0.3%
D
0.3%

Correct Ans : C

Q.No: 333 The book 'silent spring’ describing effects of pesticides on environment was written by
2404780

TR TR HIARIG! & FGRS YHIGT BT quf B aTelt Jd "R fhad gri fat wit ot

Rachel Carson

A
WA HRET
Charles Darwin
B
EIGES o]
C
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A.G. Tansley

TSR T
E.P. Odum

.. siew

Correct Ans : A
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Q.No: 334 International Day for the preservation of Ozone layer is celebrated every year on

2404781

SR il wRa WRaw o ude ay 7w ol 8-

16t August

A
16 3T BT
16t september
B
16 =R &
16" October
C
16 AR PI
16" November
D

16 TaRR B!

Correct Ans : B

Q.No: 335 'Ban Sagar Project’ is related to the river—

2404782

Ganga
A

T

Narmada
B

Tifer

Betaba
C

Saar

Sone
D

Rk

Correct Ans : D

Q.No: 336 Which of the following resources is non renewable resource?

2404783

& F B 1 T oFdiipd ST 32

Wind energy
A

T e

Solar energy
B

I St

Natural gas
C

wgfoe i
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D Water

oIt

Correct Ans : C

Q.No: 337 The Air (prevention and control of Pollution) act was enacted in the year.
2404784

g (T, AR SR Fion) st @ e o

1981
A

1981

1984
B

1984

1987
C

1987

1989
D

1989

Correct Ans : A

Q.No: 338 Which of the following is biotic component of ecosystem?

2404832
& 3 o1 o RSt &1 few g 32
Soil
A
qaI
Water
B
It
Light
C
YR
Chemoautotrophs
D
TRt

Correct Ans : D

Q.No: 339 The unit of measurement of energy is-
2404833

Feil & HIT B} 3PS B-

Kilometer

frandiex

Kilojoules

fepairee

Newton

e

Kilowatt

foreiiate
Correct Ans : B
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Q.No: 340 In human population, the natality rate is equivalent to the

2404834

AT TR § TR THBE Bl § ?

fertility

A& &

mortality rate

TR

birth rate

S %

population density

SEEI g

Correct Ans : C

Q.No: 341 Which of the following disease is caused by viruses?

2407161

o & & o T A o 82

Soft root of carrot

TR &t TARH &

Little leaf of brinjal

T Y B Tt

Leaf curl of Papaya

adid 1 quigra

Late blight of Potato

ST, BT TS Ferm T

Correct Ans : C

Q.No: 342 “Amphibians of plant world” are called-

2407162

el B T BT IUTR” Fed 8-

Fungi

AP B

Gymnosperm

T #

Bryophyta

SAGIECH I

Algae

Qard

Correct Ans : C

Q.No: 343 Photochemical smog is also known as-

2407229
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UGBTI ARIP 4o BT Pl STl 3-

Bhopal Gas Tragedy

aiiorer A Y

Chernobyl disaster

Tfter gdet

London smog

e Yy

Fukushima disaster

TR gHeT

Correct Ans : C

Q.No: 344 Water blooms are due to-

2407230

S FEpe Bl HRP 8-

Mycoplasma

TSP

Bacteria

SitaTg

Cyanobacteria

AT

Green algae

T Qe

Correct Ans : C

Q.No: 345 Photorespiration takes place in cell organelle-

2407383

BT 5T PRI 3776 & SN & ?
ER

$aR

Peroxisome

RATRIET

Vacuole

Rfcat
Golgi body

Ticsliwra

Correct Ans : B

Q.No: 346 Which of the following plant hormone is used to speed up malting in brewing industry?

2407506
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9 % I 59 UIey g &1 IR IGNT F WieeT Bt T S b o’ STENT 3 S § 2

ABA

ABA
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B Ehtylene

i
IAA
c
IAA
GA;
D
GA;

Correct Ans : D

Q.No: 347 Where is pseudostratified columnar epithelium commonly found in
2407851

SR TIEE HIamR IUHH W T I Fgl Url &Il §

Mouth
A
T
Brain
B
Af&rss
Sweat Gland
C
W
Trachea
D
YTt

Correct Ans : D

Q.No: 348 Which of the following tissues is developed from all the three germinal layers
2407852

FrofEd & 4 1 9 SHab = o WRal J R g &

Mucous Connective tissue

A
AT WSl S
Epithelial tissue
B
FUDl Hdh
Muscular tissue
C
Iy Fae
Collagen
D
Hetor

Correct Ans : B

Q.No: 349 Cytoplasm of myofibril is called-
2407853

TR & HIRIGT G BT gux1 o1 4 f&am ma g2

Ectoplasm
A

Ectosarc
B
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c Sarcopiasm

Rcais i)

Endoplasm

ST

Correct Ans : C

Q.No: 350 BCG vaccine is used for which disease

2407871
el Jofi 1 IuET fow I & fore gar §
Pneumonia
A
i
Tuberculosis
B
qfRes
Lupus
C
el
Scleroderma
D

wRrsHl

Correct Ans : B

Q.No: 351 The layer which is shredded in uterus during menstruation?
2407926

R i & SRA TR B P T W e S 82

Ampulla
A
Myometrium
B
Cervix
C
=R et
Endometrium
D

e

Correct Ans : D

Q.No: 352 The follicular phase in menstrual cycle is also known as
2407927

Ry i I § HiH IO BT Y T 9 9 8
menstrual phase
A
AR o =0T
luteal phase
B
feae W
proliferative phase
C
TSI =ROT
D ovulation

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

126/141



1/5/22, 3:26 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

i

Correct Ans : C

Q.No: 353 Primary follicle is made up of a primary oocyte surrounded by a layer of cell.
2407928

e FU frd HIR®T B T W F R T UrufAe SiS1Y ¥ 4 B 3

Granulosa cells

A
e BT
Sertoli cells
B
et BIRPIY
Secondary oocytes
C
HTeAfE ST
Agranulocytes
D

LRGSR FE]

Correct Ans : A

Q.No: 354 If an unfertilized frog egg is pricked with a microneedle what will happen.
2408143

1B ¢ AR U PRI i &) ged gE A uIaT Sl 27

Transform into a tadpole at a faster rate

A
A R A e & gt o §
Will stop fertilization
B
8= 81 9 & S
Will remain undivided
C
siferfor g
Start dividing
D

fIuIS URH g

Correct Ans : D

Q.No: 355 Repetitive regeneration is found in which organism.

2408148
GRIg oA frg St & arar o @
Tadpole
A
e d Ry A
Aureus
B
sifaa &
Hydra
C
TR H

Human beings

g i

Correct Ans : C
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Q.No: 356 Lab equipment used for maintaining cell cultures at optimum conditions which gives same conditions as inside the human body.
2408278

Frofied # | SF-1 TERTRITCT IUHRUT HIRIBT e P 1Y 3@ & forg Wi famar s 82

COD Incubator

A
Heist Sl ()
BOD Incubator
B
ol S (FTRER)
pH-meter
C
ig-sex
Water bath
D
dlex a1y

Correct Ans : A

Q.No: 357 What is cell line in Animal tissue culture?

2408279
Sig BT Fae H I e 7T 82
Embryo culture
A
o1 Hae
Micropropagation
B
g vae
Multiple growth of cells
C
PR 1 95 I
Sub culturing of primary culture
D

Ui Gad &1 3 Yol

Correct Ans : D

Q.No: 358 is regarded as the father of animal tissue culture.
2408280

U] S Yt & TS & U F Y T ofrer B

Ross Harrison

A

W B

Haberlandt
B

s

Ringer
C

for

Skoog
D

3l

Correct Ans : A

Q.No: 359 Culture which is prepared by inoculating directly from the tissue of an organism to culture media?
2408281

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

128/141



1/5/22, 3:26 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx
98 Ao S ek WA B U g & FHad I R TI90 gRT TR P 9wl B

Primary cell culture

A
TS ST dadT
Cell suspension culture
B
I TR Hae
Callus culture
C
Haw gafT
Protoplast Culture
D

IRe Hae

Correct Ans : A

Q.No: 360 An organism generated through genetic engineering is called
2408282

TR Sl & Head & Iasl Sfid &) 31 Hgd &

Gene pool
A
o Py
Genetically modified
B
SIP wafdd
Mutation
C
JaRad
Gene flow
D
S vare

Correct Ans : B

Q.No: 361 Culture which is prepared by direct inoculating from the tissue of an organism to culture media?
2408283

T8 Hae ol fret ofa & oo & A daef7 Mfear & Tuw gr1 FaR fear o 21

Primary cell culture

A
TrIAE BT Fad
Secondary cell culture
B
fadoe SieT dad
Micropropagation
C
g vae
Multilayer culturing
D

TR Fae

Correct Ans : A

Q.No: 362 Process in which a single cell is able to reproduce the whole organism in animal cell culture.
2408284

Sig FHIRIT Tad= F 39 UfHAT B A1 ST R U BRI ¥ i 3 STF B F TeH 87

Transformation

TR
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B Gene knocking

SF g®

Translation

SrgdreT

Animal cloning

gy FAfT

Correct Ans : D

Q.No: 363 Which of the following activity is not possible in the case of DNA polymerase I?

2408288
SieTe diefiee 1 & R Fofifed & § o9 @ 1l e T e
3°-5" exonuclease
A
3-5' veIg e
5°-3" endonuclease
B
5'-3' QUSIegfderal
5°-3° DNA replication
C
53" SIUAU Efadure
3°-5° DNA synthesis
D

3'-3 'SITAT HLEYOT

Correct Ans : D

Q.No: 364 Enzyme that act as reverse transcriptase is

2408289

USigH (Rpvae) St Rad cigibuey & U § & Bl 82

DNA dependent DNA polymerase
A

Siee Rk She diefRe

RNA dependent polymerase
B

SR PR defivet

RNA dependent DNA polymerase
C

IRTTE fR Shee defie

DNA dependent RNA polymerase
D

g Rk SR didfieer

Correct Ans : C

Q.No: 365 Which of the following statements is correct regarding S1 nuclease?

2408290
S1 il & Yey B Fofifed & § oH-1 $uF el 82
It acts on double layered DNA

A
7 AR RN A R SR el §

B It acts on single stranded DNA

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

130/141



1/5/22, 3:26 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx

7E TH0 HY STE W BT el §
It acts on both types of strands
C
g 1 PR & Wgd R P IRl §
It is segment of DNA
D

Ig SITY HT TF TS §

Correct Ans : B

Q.No: 366 If only one bond is broken in the sugar-phosphate backbone, it is called as

2408291
IfE PR-BTpe g & bad Wb Sy ge WAl S, AGY___ pElemle
unbinding
A
oY g
nick
B
[REd
breakage
C
e
degrade
D
qaq

Correct Ans : B

Q.No: 367 The sticky ends are held together by which type of bonds?

2408292
R RRY R TeR $ i gRI MU A S wa €, SAdeToae._
Hydrogen bond
A
TG Y
Polar bond
B
R Y
Covalent bond
C
TeudIed dY
Van-der-waal bond
D

- 1Y

Correct Ans : A

Q.No: 368 Which is the correct statement regarding okazaki fragments?

2408293
SpToTa! SRl & Tae § el HUF B A 82
Okazaki fragments are fragments of DNA formed on the leading strand
A
SHPISH! GUS LT & WUS § S TE dd W T &
Okazaki fragments are fragments of DNA formed on the helical strand
B
SHTeTH! @S TaaR a0 | T STTT F &S §
Cc Okazaki fragments are short fragments of DNA formed on the lagging strand

https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx 131/141



1/5/22, 3:26 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/ObjectionAdminpanel/Final_Model_Answer.aspx
iiepToTTeh! WU AR il TR &4 ST & B TOS &

Okazaki fragments are large fragments of DNA

SNBH GO ST & T TUS §

Correct Ans : C

Q.No: 369 If linkers are combined with other features such as a selectable marker, it is called as

2408294
e i @1 3= faRwarsif OF i T 9o 9 TR & Iy el T 7, A 9 gl Sl 81
cassette
A
Fe
induced linker
B
ERGARER
adaptive linker
C
Tefea e
flexible linker
D

= s

Correct Ans : A

Q.No: 370 The substitution of a purine base with a pyrimidine base called
2408296

TR S I T I B IR & w0 F S o 8
Deletion
A
BCHI
Transition
B
SRR
Depletion
Cc
R
Transversion
D

SR

Correct Ans : D

Q.No: 371 Translocation is the process of

2408297

RYFRY 98 Ui 7, Sl urd Sl § |

Shifting part of chromosomes to the outside wall of nucleus
A

TORG F UIT HT S P T AR TR RIFRRT

Shifting of chromosome to another chromosome
B

TP UG BTG G & RIFieRT

Shifting a part of chromosome to another homologous chromosome
C

TURGA & T HIT BT GEX THId ORE § RIFER00

Shifting a part of chromosome to another non-homologous chromosome
D

TR & T HFT BT GO TR-TAEY UG F QIR0
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Correct Ans : D

Q.No: 372 Taxonomic information is organized in logical classification is called

2408357
A qifexo & wffewo Gad THER S wafRid w1 FHEART &
Systematics

A
R gES A R-fager
Taximetric

B
iy
Phylogeny

C
feort
Cladogram

D
EsSibi]

Correct Ans : A

Q.No: 373 Who among is called father of taxonomy?

2408358
IRt &1 W 9 HT SiTell 82
Stearn
A
w©
Linnaeus
B
e
Haeckel
C
-
Walters
D
ey

Correct Ans : B

Q.No: 374 Arrange in the correct order.
2408359

1) Class

2) Kingdom

3) Phylum

4) Order

5) Genus

6) Family

7) Species

gt FH § afkd HX
1) BT

2) ST

3) wifa

4) S1ghH

5) 9%

6) URAR

7) weta

A 6,231,574
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6,2,3,1,5 7,4

7,1,3,4,5,6,1

B
7,1,3,4,56,1
1,23,4,56,7
C
1,2,3,4,56,7
2,3,1,4,6,5,7
D

2,3,1,4,6,5,7

Correct Ans : D

Q.No: 375 Which among these is a homoplasy traits?

2408360
T 9 P SR BT a8 ¥?
Flipper of a dolphin
A
Sifetp &1 fraR
Wings of birds and bats
B
ufért SR THESt ¥ U
Forelimbs of humans
C
T F SRIUIG
Leg of a dog and flipper of a dolphin
D

T BT R SR SRB 37 TR

Correct Ans : B

Q.No: 376 Phylum which is known for its asymmetrical body shape is

2408364
BRTH S U T TR % SM1PR & R 9 o€ €, 98 8
Annelida
A
HfereT
Arthropoda
B
mifarst
Mollusca
C
ATt
Porifera
D
TR

Correct Ans : D

Q.No: 377 The organism which has flame-cell in its excretory system?

2408366
I T BT T FALT R Seid o § Sara-HIRIeT gt 82
Roundworm

A
e

B Corals
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gl

Ctenophora

HENBRI

Flatworm

a0 pf

Correct Ans : D
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Q.No: 378 Organism that has segmental nephridia for excretion and osmoregulation?

2408368

Ie IR efeiRegaRE & o o sha & @ Afsfear 2

Aschelminthes

Ty

Arthropoda

mifareT

Annelida

LIRS

Platyhelminthes

wifegfary

Correct Ans : C

Q.No: 379 Phylum that has a water vascular system?

2408369

9% 49 for S ¥aeH aF gaT 87

Hemichordata

TS

Mollusca

TeReBT

Echinodermata

SHIEAISHeT

Plantae

wie

Correct Ans : C

Q.No: 380
2408370

Which of the following is characterized by the presence of notochord?

39 IS HT TH Jarst forgH Aldiels &t IufRfa &1 fawar 1

Chordata

Hisa

Loricifera

AR

Mollusca

TRt

Frhinndarmata
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UG Ha e

D

TP

Correct Ans : A

Q.No: 381 Which among the following theory explains the origin of universe?

2408372
Frafiied § § o1 91 Rl Seis @1 S 3 et Hdl o2
Black hole theory
A
wee g
Big-Bang theory
B
famr-a i
Explosion theory
C
faepre Rigia
Gamma theory
D

e Rt

Correct Ans : B

Q.No: 382 Millers used compounds to synthesis simple amino acids.
2408373

ot 3 wreRor i TRis & Tewur ¥ fow At BT ITART fbar

Methane, hydrogen, oxygen, nitrogen

A
Hydrogen, methane, ammonia, water
B
TTESIoH, MY, s, aret
Ammonia, methane, carbon dioxide, oxygen
C
i, WH, FeeRsaEs, siadier
Hydrogen, ammonia, oxygen, helium
D

qIRSIoH, smfaT, sitaier, dafsan

Correct Ans : B

Q.No: 383 According to spontaneous generation, life originated

2408374
afeftarq gl & R S sl Iaf__ g ®
From microorganisms
A
g&q ofal ¥
From similar organisms
B
FAM Sftl @
From air
C
R
Spontaneously
D

SN

Correct Ans : D
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Q.No: 384 What did Stanley Miller synthesize in his evolution experiment?

2408376
el R 7 S e T & b 1 Sweiwo e
Bacteria
A
oftargy
Fungus
B
Pddb
Cell
C
PR
Amino acid
D
LERINES

Correct Ans : D

Q.No: 385 In primitive earth the atmosphere was reducing as there was no free oxygen available but later it was converted into oxidizing nature due to the emergence of
2408377

1w gedt & TR B B @7 U1 FifS o SieRiior Suasy T8t R At arg # F Iwd & PRU Y HiiwRor upfa & ulkafda wx foar
Endosperm
A
qusie
Rhodophyta
B
A prger
Eukaryotic algae
o
gHiaR® Jara
Cyanobacteria
D

AR

Correct Ans : D

Q.No: 386 Process where organism is not closely related, independently evolved similar traits as a result of having to adapt to similar environments is called as
2408379

9g Ufthar wigt Sha fide & JEfid Tef §, T9H ara1aR0r & 3MEHd giF & URUTERGRY Wo w0 ¥ fAsRid q@m aaor HEan 3

Divergent evolution

A
JUERY fpr
Convergent evolution
B
e o
Parallel evolution
C
FAMIR fapra
Saltation
D
SELGI

Correct Ans : B

Q.No: 387 Evidences buried deep inside the soil the fossils can occur where
2408380
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Sfaren gt 0 SR TR A U TG F; IR IPA TR

Animals are destroyed due to natural disasters

A
Y WPl el d 7Y & o §
Animals are buried and preserved by natural process
B
ST Y Ui U gRT SHAR SR Rd i s §
Animals are killed by hunters
C
AR B R gRTART ST §
Deforestation causes of animals
D

U I B HeT b HRONIR WA §

Correct Ans : B

Q.No: 388 Ape which is closely related to the man?

2408383
B G IR 7 9§ Fiepedr @ gaiftd 82
Monkey
A
Eead
Acaca mulatta
B
{pIDT el
Leontopithecus rosalia
C
ey Jwferar
Chimpanzee
D

feiteht

Correct Ans : D

Q.No: 389 What is another name of human evolution?

2408384
THa fae™ &1 guRT T 1 82
Androgenesis
A
TSR
Anthropogenesis
B
HHAGST
Metagenesis
C
TeoHRY
Fossils
D
Sarem

Correct Ans : B

Q.No: 390 Branch of science in which we study the evolutionary history of man is known as
2408386

o &t 98 IR S 7S & fasrare) sfagr & siwrga § TEfte 7
A Anthropology
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BlEE]
Ethology
B
Apar
Ecology
C
RIS famm
Humanology
D

EICCACEIC]

Correct Ans : A

Q.No: 391 Poultry birds which are economically important and exclusively grown for meat are called

2408389
Fage gelt S e TU I Aeayul auT IRy ¥ § 7 & o I 9 g, Pedld gl
layers
A
_d
cockerel
B
Pl
rooster
o
i
broilers
D
SR

Correct Ans : D

Q.No: 392 Bacterial cell uptake recombinant plasmid by
2408725

Eiciugaibical

Recombination

ERT : Ui WS &l J80 Hll &

Pttt

Absorption

STy

Transformation

Rad

Mutation

IaRad

Correct Ans : C

Q.No: 393 Which technique helps in the separation of DNA fragments of different sizes?
2408726

P I ahie IR BRI F ST S H ST B § A B 82

PCR
A

dRfteR

ELISA
B

o
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Cc Gel electrophoresis

O IgYAPURIETH

Centrifugation

TS

Correct Ans : C

Q.No: 394 The cell line that has acquired the ability to proliferate indefinitely in-vitro is called
2408727

HIRrepT YT o 37-fadt o i w1 9 dg7 @I &mar 81 SY 7 FEd B

Established cell lines

A
T e AR
Tissue culture
B
S Hepfd
Stem cell culture
C
9 SR Y9
Organ culture
D

i PR

Correct Ans : A

Q.No: 395 Which among the following is not the source of energy in active muscle cell?
2408728

Frofifed # 3 o1 wfv 0 Sife § o &1 9 T8 72

ATP
A
widt
Lactic acid
B
GIECES]
Glucose
C
I
Creatine phosphate
D

fopufe widhe

Correct Ans : B

Q.No: 396 What does the mammalian cell culture transformation signifies

2408729
WAURY PRI Gae F i a1 uRad gifar 27
Phenotypic modification of cells
A
DifRrepr3 B1 BlerRiis Je
Uptake of genetic material
B
SrgdRies IRl &1 3ora
Cell respiration
C
PR 44T
D DNA degradation
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e firrae

Correct Ans : A

Q.No: 397 Lactate accumulation in cell culture media leads to

2408730
i1 Gaef difEar & daee &1 Gug g 1 g B
increase in pH
A
g A g
inhibiting respiration
B
AT B AT
reduction in the pH of culture
(o
Haef7 & fog & ot
cells get enough oxygen supply
D

PRIl Y wale siefeH @ amgfd frad &

Correct Ans : C

Q.No: 398 Which of the following is the phenomenon, where the living differentiated cells, that by now have lost the capacity to divide can regain the capacity of division

2410314 under certain conditions?

a7 9 o I ge 8, el Sifad i He, S o aw [uia w3 3 emar @ g9 §, $© ! $ ded [AHTSH B &Hal B GH: U HR Tl 87

Dedifferentiation

A

B Differentiation

c Redifferentiated
D Divisioniated

Correct Ans : A

Q.No: 399 What is auxins ?
2410315 3y 7 €2

Fats
A q41
B Proteins
C Carbohydrates

D Growth hormone
fg smig

Correct Ans : D

Q.No: 400 After fertilization in which form an ovules develops?

2410316 ¥ F w1g iy (S0 T ST 32

Seed

A &
Fruit

B Bd

c Embryo
o

D Cotyledon
diooa

Correct Ans : A
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